Set Id : 31487 19 7-12-2016 — Batch1 — Groupd For: Rajya Sabha Secrelariat, Parliament of India

Section 1 - PART A

No. of Questions: 6

1) There are three words given here, The first two words are related in a certain manner. Select the proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first and second words are

related.

Heart : Pump :: Kidneys : ?

| =gt aT i gree faw i ) e &1 vres uw RfEg G & wafaw 21 Ro oo a Feedl § 39 68 462 w7 99w, A A9 aew
FET & wery TEAT a1, ST {4 TEer d g arew gay v gl

R I C R

A) Filter / Tt F%T
B) Dissolve / S5 39T
C) Produce / FaITfEd FeAT

D) Assimilate / 7=1aT

2) Among the given four options, three are related in a same way. Select the option that is odd one out. / o 9 R |
A U a7 aray § e §) ag Fwer g S aEd B ghn

A) B2A1D4
B) HBA1D4
C) B2E5AT
D) B2E4G6
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Set Id : 31487_19 7-12-2016 — Baich1 ~ Group4

For: Rajya Sabha Secretariat, Parliament of India

Faollowing are the eligibility criteria for applying for the post of
‘Software Engineer in a Multinational company. The candidate
should: o

(i) be a graduate in engineering with atleast 75% aggregate
!marks.

(i) have a passport issued on his name.

(ii) have fluency in English and any one out of French, Spanish or
German.

.(iv) should be ready to work anywhere in India or abroad.

(v) should have scored more than 65% marks in the selection

interview,

In the case of a candidate who satisfies all the condilions:

|

!(A) If NOT (i) above, but has scored more than 70% in Class XII,
then the case may be referred to the Chief Executive Officer
(CEQ).

l(B). If NOT (v) above, bul has a work experience of alleast 2
!years, then the case may be referred to Managing Director.

Based on the above information and criteria given in each of the

é'following questions, you have to take decision.

T AEITEE FAT H "iEagy S F aw ¥ B aeea
Fd F o o aee fatEtEs #) sefi=ar

() 1 T 3 9 75% T A K Ay S i e g
=R e

(i) 7T 7T UF TrrAre AT AT g =)

(iii) =7 2=fY 3 57 # & Y ofy v b, SrfRg g da H
ATHIZ BT AR
i(iv)ﬁ‘miﬁﬁﬁ%ﬁmﬁ%ﬂrﬁmmﬁ%ﬁr{wm !
iaﬁ%ﬁm '

(v) T FerRerT Eeey i 65% i I e v ey g
=R

AT U TEEATT. q9Tt ot T FAT 8

(A Py Tdver (1) 3, f st we # 70% A
ST R & Y, ST e ST A (CEO) i H |
ST .

i(B)ﬁH‘PTEETﬁT-F(V) o, AT T HFH 2 AT AT HT AT
?: AT, ITHHT T H=TF FT ST FT0Y

AT T AT R AT R

S SRR S A R T e w3 R A
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Set Id : 31487 19 7-12-2016 — Batch1 — Group4 For: Rajya Sabha Secretarial, Parliament of India

3) These cases are given o you as on 31st March, 20186.

Candidate's Information : Naina Gandhi is a civil engineer with 78% marks in graduation and 79% marks in the interview.
She holds a valid passpert and is ready to work anywhere in India as well as abroad. She is 32 year old lady working in Pune
and Kniows only English and Marathi i fllency./

T oeft wTAer AroET " 31, 2016 F avivE @y Fu g g

FrfteaTe 1 STy, AT T AT ¥ 78% 3 AL 22T F 70% T F A4 UF [AfAw TN 1 3T W UF T A &
4T 98 aea & ara-ary g & w357 fF Fw w2 F o du g1 98 1 § 9 1w gretr 32 9ty wigwr 8 ol ag areear F 9y
Faer St ST A ST 31 3

A) selected / FFT FAT FATRT

B) rejected / SEHTFT FIAT AIRT

C) referred to the Managing director / e =Ters: & WTH ST SITAT AR
D) referrred to the CEQ / CEO ¥ TTH HSIT ST ST(RT

4) Which term of the given series would be the first one to be a four-digit number: 192, 288, 432, 648, ........ ? /€Y E e &
T b TEAT g wir |7 gt 192, 288, 432, 648, ........ ?

A) gt ] 9=fF

B) 10t / 10T

C) 8/ 84t

D) 6t / 6T

5) In a certain code language,

"time is precious” is written as "er ui af"
“time management is important” is written as “af jk op ui”

“rmanagement technique is used” is written as “cv af bn op”
What is the code for “technique” in the given code language? /

e Frfar e i
“time is precious” #T “er ui af’ & &7 # ferar srar §
“time management is important” %7 “af jk op ui* % ®7 ¥ fora@T sTaT &
“management technique is used” T ‘cv af bn op” ¥ &7 # foraT sraT 2
& 77 F=-ameT # “technique” F T 5= =T ET?

A) bn

B) cv

C)er

D) Either “cv" or "bn"

Page3of54




Set |d: 31487 19 7-12-2016 — Batch1 — Group4 For: Rajya Sabha Secretarial, Parliament of India

6) In how many different sets can the given set be classified if classification is done on the basis of number of odd digits at
odd places in term: (327189, 278116, 492877, 100982, 387629)? / Fra= fafersr syt # R angy 5 afiza Faw 5 @
2 Atz mafi RwufmEfem og § By samt ar B st 7 5w & ayare 97 G AT 3 (327189, 278116, 492877, 100982,
387629)?

A) 5
B) 2
C) 4
D) 3

7) In a certain code, FEKC is written as 50, then how is HGHY written in the same code? / 7= Fféra 5= # FEKC 7 50 ¥ &7
¥ ForaT ST 2, a7 35 T § HGHY &7 34 famar smo?

A) 75
B) 96
C) 35
D) 164

8) A figure is given on the left with a pattern. Observe and find which of the three images on the right looks similar to the left
half of this pattern? / =T¢ & v st 3 &y v = €1 o &) A 2 & ammen B ard e fY f BT g T s e et
ant s B F e s wedt 87

S g ~
. = | !
Fa® o L o
J E
A) 3

B) Both 1 and 2/ 1 317 2 3T
C)2

|

AN

D) 1

9) 30% of 65% of 120% of 16000 is equal to: / 16000 FT 120% FT 65% 7T 30% T 7= 872

A) 2796
B) 5352
C) 3744
D) 4190
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Sel |d : 31487 19 7-12-2016 — Balch'l — Group4 For: Rajya Sabha Secrelariat, Parliamenl of India

10) Find the next term in the series: 2, 8, 26, 80, 242, [ FEET ¥ AT HEqT AT FL: 2, 8, 26, 80, 242,
A) 730

By 733

C) 728 Yo

D) 257

unique consonants in term): (MOISTURE, SUNDAY, BLOWER)? / w7 et & & =i a7 fseT (42 o fBfére s« $t =
FT ST 7 T g) TR UGS H7 AT TH FGI S R A HE F & Fd 8 (MOISTURE, SUNDAY, BLOWER)

A) STYLE

B) FOLDER
C) SWEETS
D) CREATED

12) Rohit, Rohan and Rani are the three friends standing in a queue to pay their fees in the administrative office. Rohit
stands 9th from the beginning of the queue. Rani is 14th from the end. Rohan and Rani have 4 students between them and
Rohan and Rohit have 5 students between them. If Rani's position is 20th from the beginning, then the total number of
students in the queue is / TR, TET 3T THT TATHHF FTATT 8 AT 1T FT GIATT F07 6 (90 UF FATCH G2 o 14 a6 gl
R Fare 6 qeana F 9 4 srg wr@er §1 OHT w7 14 o §1 T o Tt T i 4 g § o T s Ofgw i 5 g
AT AT T TR §TEe § 20 a7 € T, FarT 7 g f §9 9edT 3,

A) 33

B) 30

C) 34

D) 35

13) Keshav's brother is Madhav's brother in law. Madhav's sister's mother in law is Keshav's ____ / 391 5T 9TS, ATerd 7 ST
2| AreE €T g T e, Foa A

A) sister / a7 &
B) daughter / 3¢ &

C) mother-in-law / 15 &
D) mother / AT &
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Set Id : 31487 _19 7-12-2016 — Batch1 — Group4 For: Rajya Sabha Secretarial, Parliament of India

14) A figure is given on the left with a pattern, In which of the four images on the right we CANNOT find this pattern as a part
of that image? / @1 A7 vF ez FHarg s Ry & 02 21 3 e fr = B & 7 Fd o8 o9 R 5 B9 % =0 8 ag e 7 B

A) 1
B) 2
C) 4
D) 3

15) There are three words given here. The first two words are relaled in a certain manner. Selecl the proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

Rectangle : 16 :: Hexagon : /

7t 1 e Fu e ) ager 21 vz v PR @i & il 1 R s et § 7 gw 3R os w1 Fu FF 1 Ay o §

ATTA 2 16 32 T :

A) 56
B) 42
C) 22
D) 36

16) Here four codes are given. Out of these, three are alike in a certain manner but the reslt one is different. Choose the one
which is different from the rest three. / 2gT =% #1= @ mw &) 27 & #17 var ffem a9 & v 59 2, 1w oy v i e 21098
ey gfAT =7 o # T o 2

A) WX3
B) TV1
C) PT3
D) JO4
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Sel Id : 31487 19 7-12-2016 — Batch1 — Group4 For: Rajya Sabha Secretarial, Parliament of India
17) If in @ certain code, "PICTURE" is coded as "QHDUTSD", then how is "SPECIAL" coded? / af% e R e 4

“PICTURE” #T “QHDUTSD" & &9 ¥ & 5 %37 9TaT §, 97 "SPECIAL” 7 58 ¢ ag ¥ sruan?

Ay TQDDMHZ
B) TQDDZHM o
C) TQDZDHM
D) TQDDHZM

18) In the given sequence, one of the terms is different from others. Select that term. (B34E, C45F, D56H, E67H, F78l) | Bo
T SR T UE g O T 81 39 € F7 549 30 (B34E, C4ASF, D56H, E67H, F78I)

A) CA5F
B) F78l

C) D56H
D) B34E

19) There are three words given here. The first two words are related in a certain manner. Select the proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first and second words are

related.
India : Asia :: Ecuador : /

Tt i eres f&w &) et &1 wrew va Wit aiE & gataw §) R aw = Reen § & 39 3R s #5975 AT 19 05
[T FEHT AT F Fefera g1 o a€ir & TgeT ST guv ek qated gl

T e o sFeT
A) South America / =f&ror sraf=T

B) Africa / 2rshierT
C) North America / 39T srafiaT

D) Europe / 0T
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20) An image is given in the left and a set of three numbered images on the right. The figure on left is cut along the dotted
lines to form some small figures. Out of three Images on right, observe and find the image that will look similar lo one of the
small figures formed after cutting the figure on left. / F1E S e =1 fEom 2y 2 A 272 & A e e w2 B
31 7 SR wrphrat A i f, avd A d At A R Yl F A S S &) e i a e st B ard e A
e st & &, = ey i o1 & S ad S 4 7 g A w3 A A At ¥ i v A 3

= [T1AL

A) 1
B) Both 1 and 2/ 247 1 3% 2
C) 2
D)3

FrafafEs v XYZ FarfRa afzensi & = 77 a7

Following are the eligibility criteria for becoming a member of a XYZ

Married Woman's club: :‘q’?ﬁ & o et AT B
| |
i(|) The applicant should be married. e

{(ii) The applicant should be able to pay one time mermbership fee of ;(ii} A=A 10,000 T 7 U AT HEFAT 9 AT

|

|

iRs.10.000. T B W T AR

%(ifi) The applicant should be an Indian citizen by birth. (iii) S ST A WA AT 2T AT

:(iv) The applicant should hold valid idenlification proof (i.e. any one (iv) ST 3 T A TR ST FiT AR (At A |

jout of the four viz Aadhar card, Electoral Voters |D, Driving License ¥ i & U AT ST o, Bt WA umET

| :
o PAN card). T, ST AR AT PAN F7))

. o S o P i . b =
In the case of an applicant who satisfies all the eligibility criteria: IWW e T T T T AT 5. |

(a) EXCEPT (iiiy, but is an Indian Citizen by descent, then he is (a) R (i) 3, A3 Ao o arrbr AP 2 AT, |

|
‘(b) EXCEPT (iv), but has a Valid Ratien card, then he is eligible
'under Section I1.

'_{b)Fﬁaw(iv)%:,ﬁrﬁﬁiawmﬂ%a‘r,aﬁwn% |

In each of the questions below, information of an applicant is given.

GIERECRIER e R Rl b ek o i A A R A

A7 U AT U A AF6F WITET F AR AT B0 AT £ I
AT ITEAL FIS T2 ATFET F 39705 AT 6 SAET ,
RN E NI | e e N R e T e A '

He/she may be eligible under one or more of the crileria. You have

ito take one of the following four decisions based on the information
!provided and the conditions given above.
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Sel Id . 31487 19 7-12-2016 — Batch1 — Group4 For: Ralya Sabha Secretarial, Parliament of India

21) Sana is a married lady and willing to pay Rs. 10,000 in cash. She Is a born Indian and holds Aadhar Card as a legal ID
proof. She is

| FT S STTETSEET WIgET & S e F 10,000 TG HST FCA & (G0 TFTL 1 A T & U WRATT & AT IHF G HIAT TR IHIOT
FETH AT & 98

A) The information is inadequate to take the decision / &&aT =i+ & o0 ST ATATH &
B) not eligible / 7= A& &

C) eligible under Section |l / &1 || F &d I3 &

D) eligible / 7T &

22) A cube of side length 8 units is painted with yellow colour on all its faces and then cut into small cubes each of side
length 2 units. How many small cubes will be painted with yellow colour on exactly one of their faces? / 8 TfFe waTS ¥ T F
e uT F efY qut 7 i 3T F 0 gy § R w9 2 gfte aveft e F 5t ¥ S a3 O e g ae ST fEe 0w s e ar
& T BT |

A) 48

B) 24

C) 36

D) 16

23) There are three words given here. The first two words are related in a certain manner. Select the proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

Clump : Trees = Cligue : 7/

TRl 9T AT o5 f2u w8 geer a7 ose v e AW & wefie £) Ry e et § & 39 99 992 7 999 F, 5 g9 95
AT T Hae TEar &, ST {6 Tger S gt a8 g4y v gl

R el RS ey ey

A) Eggs / 3E '

B) Softwares / AT
C) Schemers [ TEr=TT{T
D) Angels / Zagd
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Set |d: 31487 19 7-12-2016 — Batch1 — Group4 For: Rajya Sabha Secretarial, Parliament of India

24) In each of the option, a set is given. Select the set that is different from the others. / v&% =T &, 7% = F=m mm 81 39
HZ T AT T AT AT o 2

AY (X, XX)
B) (VIII, XVI)
C) (XII, XXIV)

D) (X1, XXII1)

25) Which of these pair of figures CANNOT join together to form a parallelogram? / T HHTATT. A @14 F 7 =70 7 &
ATFTRT 3 STEY 1 UFETT SET AR AT AFAT §7
A) Two triangles / =1 F#1or

B) Two trapeziums / T FFHTA7 S

C) Two circles / 3T 39

D) Two parallelograms / &1 FHTATET FqHsT

26) Population of a village increases at the rate of 5% per year. What will be the population after 2 years, if its population is

10,000 at present? / e it am@EET ufF 7 5% F =7 73z 21 7% 7797 7 At sErEr 10,000 2, 47 &= AavE oAy A
[EGEARAUING

A) 9050
B) 8250
C) 10025
D) 11025

27) The paper sheet given below is cut along the dotted line. How many corers will the resultant paper sheet on right have?
| v 2 g s otz i e v F A v 21 and @ aRed) g iz 8 B e e

A) 6
B) 8
03 g
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Set Id : 31487 19 7-12-2016 — Batch1 — Group4 For: Rajya Sabha Secretarial, Parliament of India

ST # R 3T o R g wamesy WS A fRNU anded F &

|Following are the eligibility criteria for applying for the Green .
[for areraT wdE Feferfa £ ares

\Health Card for free treatment in India. The applicant should:

(i) be a citizen of India only. i) S AT T AT g AT

| |

(ii) have a BPL (Below poverty line) ration card. ;(ii) BPL (et 4 e T ¥ 1% T TS TR BT =R
;(iii} have a savings bank account in India on his/her name. (i) 2T AT T T U wr d Era g AR

fln the case of an applicant who satisfies all the criteria;

X U Frash T HIASGE! 1 LT FLAT &

é(A) If NOT (iii) above, but has a joint account with any other (A) Rramr S (iil) 3, AT el oft arer orferre ¥ areer
ifamiiy member, the case may get the Yellow health card that |- T S G & AT, T AT & w9 e earee e fire
enables 50% discount on the bill, T & ST FareT T 50% e e s 81

; |
(B) If NOT (ii) above, but has an APL (Above Poverty Line) |(-B) Rramr 3Erer (ii) 3, 3T APL (6T 6t e o 3 3
ration card, the applicant may get the Violet health card that I?T&fl’rr e S A e A A w1 e T

‘enables only 30% discount on the bill. o e 30% T W =
Based on the above information and criteria given in each of SR ST i A R e ey & R 5%

the following questions, you have to take decision. |3Tr%1'lT T AT vt ST S

28) Applicant's Information: Jojo Mathew is a Canadian person who has been staying/living in India since one year for an
official purpose, has filled the form for the health card. He holds a savings bank joint account with his wife Edwina in
Canadian nationalised bank. He should be :

|

| SIS Y SATTRTE: SST T U FATEAT o41wh & ST UF AAHTE 3207 F fory fiwer UF 979 § wa § ® wysaT el 77 @

T, U TTES TS T EI 9T §1 IO OTH FATSAT TR 4% # q0HT Tet UEfEAT F 97 U a=y 8 S @ g} 39

A) rejected / FFTEHT FLAT AT
B) allotted green health card / B3T TTEET FTE AIe FAT ATBT
C) allotted violet health card / ST TaTEST F1E Al FTLAT AT

D) allotted yellow health card / FI=T T=TEST FTE =12 FLAT AT(2T

Pagel1of54




Set Id - 31487 _18 7-12-2016 — Batch1 — Group4 For: Rajya Sabha Secretariat, Parliament of India
Following are the eligibility criteria for applying for the post of T AR HAT H AT SSAAT & T F o smae

Software Engineer in a Multinational company. The candidate Fv F o ey e FetfEe & softeam
-should:

(i) T T T T 75% T 0 A SR § sy 2

() be a graduate in engineering with atleast 75% aggregate
=R ’

marks.
(if) have a passport issued on his name. (if) 3 PR o O AT S A e e
(iii) have fluency in English and any one out of French, Spanish or \(iif) T ST o = F A Rt oft v S, SfEer AT o

German. [FTHFTE ﬁﬁ‘[ q|f€_.[{| [
(iv) should be ready to work anywhere in India or abroad. :(iv) AT H FA] AT =T R 7wy e w o A 2
(v) should have scored more than 65% marks in the selection H1f2|

interview.
|

(V) T T ST H 65% w5 A A wrH B S
[T
(A) If NOT (i) above, but has scored more than 70% in Class XII, i

- (A) FraTr 3wTr (i) %, w5 arred] sar § 70% o afim
ithen the case may be referred to the Chief Executive Officer ) ¢ () 2

'In the case of a candidate who salisfies all the condilions:

(CEO). A T3T & AT, JTHET 2 FETA Atear (CEO) T S

! R i
(B) If NOT (v) above, but has a work experience of atleast 2 (B) Frame 3971 (v) %, AT B 8 9 2 90 A aqeE
years, then the case may be referred to Managing Director. & AT, TTHAT WA FATE T AT AT

EBased on the above information and criteria given in each of the 97T ST &iv 1= B w0 waier wea | 20 0 wpyast |
%follawiﬂg questions, you have lo take decision. ;%F HTETT T¥ AT T ST 2 |

29) These cases are given to you as on 31st March, 2016.

Candidate's Information : Akhil Pathan, is an Electrical Engineer with 79% marks and has studied German in delail during his
graduation. He writes editorial for an English newspaper as a hobby. He visited Malaysia last week and has no problem in
relocation to any place in India or abroad. He has scored 92% marks in the interview.

/35 F Y I AT =T 34, 2016 F v Fir B o #)

Frfiean £ SAwrT @i 1m, 79% FEt F vy v srlErEe TR 2 S s I F 2 R & i e B d)
EERIE T e e B e 6 i e o e £ N A £ i = e i s o e 2 e et R | e B e B e 1
Forur & sareiAor & RS weer aE 31 36T S i 02% A% wiw A #l 3

A) referred to the Managing director / S=# S=rrere: & J77 =11 ST FTE0
B) referred to the CEQ / CEO ¥ 9T =T IAT AMET

C) rejected | sivdlsga FAT ATRT

D) selected / ==17 F777T ?ﬁ?l'f I
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Set Id : 31487 19 7-12-2016 — Batch1 — Group4 For; Rajya Sabha Secrelariat, Parliament of India
30) Which term of the given series would be the first one fo have three digits: 16, 23, 32, 43, ........7 / &1 & g@&1 § a7 shT

et gEAT F i At 2nf: 16, 23, 32,43, .......7

A) GB/GFT
B) 10th/10efF
C) 774
D) 8u/gt

31) Find the rate of simple interest per annum if the amount doubles in 10 years. / U= ST 10 7T % RET &7 SITAT &, a1 Tieay
HTLTCOT TS 3T 71 FL

A) 10%

B) 8%

C) 8%

D) 12%

32) In a certain code, PASTTRAC is coded as TSAPCART. What will be the code of the word ABSOCKET? / us e gz &
PASTTRAC #T TSAPCART & &7 ¥ % 9% %37 S71aT 81 9758 ABSOCKET %7 e F4T g7

A) OSBATEKC

B) OSABTECK

C) SOATECKB

D) OBATECKS

33) Three of the four following expressions belong to the same group or class in a certain manner. Find the odd one out. /
Frerferee = vasem & & & v R a8% & v & aug ar an & d@6fea &1 B &1 3ma w10

A) CAKE : EKAC

B) FILE : EILF

C) LOCK : KOCL

D) MEAT : TEAM

34) Three out of the given four codes are similar.Find the odd one. / & 7 = #1et # & &9 us 9 &1 e i & ugan w40
A) 3601@

B) 2501@

C) 1611@

D) 4901@
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Set Id - 31487 _19 7-12-2016 — Batch1 — Group4 For: Rajya Sabha Secretariat, Parliament of India

35) Among the given four options, three are related in a same way. Selecl the option thal is odd one oul. / e 5T BTt
At o A 7 T § waAtaa §) ag e g s aee e

A) 9989
B) 4444
C) 5555
D) 7777

36) In a certain code language, FDA is written as LLD, then how will JCD be written in that code language? / 7= Ff& F=-
AT 7 FDA 1 LLD ¥ =9 % foray 9mar &, a7 39 Te-a7a7 § JCD 1 F4 Frar sroa?

A) RTQ
B) TIP
C) RIQ
D) PTI

37) Below is given the expanded view of a dice. Which colour would NOT be adjacent to pink? / 1= 73 1% &7 @+ gvy '
R R R A T e B G T B i o e A A LIS |

Brown I 2 e J

I Red

A) Brown / 7T
B) Blue / =T

C) White / 7=
D) Black / &A1

38) In each of the option, a set is given. Select the set that is different from the others. / e Bt & v 1z Ry v 21 39
T AT FAT A AT ZAI] H AAT g

A) (51, 153)
B) (34, 102)
C) (43, 129)
D) (54, 172)
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38) A bag contains 3 red, 4 green and 2 white balls. If one ball at a time is drawn out of the bag, then what is the probability
that it is a red ball? / e & & 3 &Ter, 4 g8 2T 2 Tt itg §19f3 ve e § v 5 Fr &9 F argc A srar €, 97 g6 artdswar
47 g % g v A w82

A) 1/3

B) 1/2

C) /6

D) 1/9

For admission in College for MCA course, the following conditions 1 #frsr 5 MCA v arfirr  foe, Fer o e
apply. The applicant should: HIEIEED }

1{i) be less than 30 year of age as on 11-11-2016. '(i) ¥ & 11-11-2016 ¥ 578 F7 30 4160 & F7 g1

(i) be a graduate in Bachelor of Computer Applications (BCA) with ?ﬂfé‘m
latleast 86% marks.

i(ii)ﬁ?rwirmaa% T & GT AT AF THET

(iii) have scored atleast 85% marks in the Common Entrance Test  [wefiErer (BCA) & Is[ue giT STEm

(CET). (iii) & AT T2E 2% (CET) ® FH ¥ 797 85% @% 9TH
(iv) have scored atleast 85% marks in the interview. T gt = iR

In the case of a candidate who satisfies all the conditions: (iv) T Se7eg & 1 & T 65% 3 918 a1 g7 =i

(a) If NOT (ii), but has a werk experience of alleasl 2 years and ;T o IefieaTe asft ma‘fsﬁrga'rm'r -2

‘graduation score more than 70%, then be considered for admission (a) fram (i) &, aET FH A F7 2 99 7T F14 a9

in 2nd shift. ST T T 70% 7 18w & a1, g e # v
(b) If NOT (iii), but has scored more than 60% in Common Entrance |f&rm fa=m T smar 2|

Test and more than 90% marks in class XII, then be considered for |(b) framr (iii) ¥, 3 Fie w3 02 § 60% & @l 4%
-admission in night (shift) college. ' TR T H 90% ¥ ¥ erfereR TR T € A, O

lin each of the questions below information of a candidate is given. |(fore) Fierer & =1farer 3 o = fr ST 2 |
You have to take one of the following four decisions based on the  #1r faw o wairs wr § us gufteare 7 s € 7 2) I:

information provided and the conditions given above. HTTHT STEET FOE T SATAHIET F ST 9T 3 AT T

E‘AII the cases are given to you as on 11-11-2016. You have to fﬁp;nﬁ'?r HTT el i U AT Z T

iindicate your decision by marking answers to each questions. ATt eft ATer 11-11-2016 # i &7 7w o g

| SEF T % AL A GILT ATTHT AT AT gl AT
2Am
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40) Candidate's information : Gaurav Phule is a graduate in computer applications (BCA) with 68% marks. He has scored
86% marks in Common Entrance Tesl and 68% marks in the inlerview. He was born on 12-7-1980. He should be:

| FefiEary i ST, T A S S T e (BCA) ® 68% ST F AT 1 AT §) TN A W o H 86% HE
AT gz7= H 68% @ 9T FAT 21 A7 12-7-1990 A7 f=7 22 Um 3IH

considered for admission in the 2nd shift / g7 foree # a1fa= F oo B=m ey s o
B)  admitted / =rfEmT =AT =R T

C) not admitted / FTFEAT FET ZAT FATET
D)

A)

considered for admission in the night ( shift ) college / 71 (foree) Fiersr 7 a1fEe & B =T By s =iz

41) A dice is opened up to represent its faces in a single view together. What number would be there opposite to 6 an the

dice? / T TTT T 2T GYT T ATA TET HT SE A B A U AT (STS) GAT 9 B T 97 6 F B w7 g g

g GI
N

A) 2
B) 5
C) 1
D) 4

42) M.N,O,P and Q are the members of a family. P weighs 78 kg . M weighs 48 kg. O weighs 11 kg less than P and 12 kg
more than N. Q is the lightest person in the family. What is the average of the weights of N, O and P? / M,N,O P == Q 7%
THATT 3 wEEr 81 P AT ger 78 BT 81 M wT Aase 48 B 21 O W as P A A1 B aw & @i N 12 B wmar 1 Q afar
SEH FH AT AT S g1 N, O 3 Py Sfae =i e 87

A) 66.66 kg / 66.66 T
B) 64.56 kg / 64.56 fFm
C) 71.67 kg / 71.87 B
D) 60,11 kg / 60,11 BT
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?:Following are the conditions for selecting a Cartoon Animator. The o i e 3 s & R o Frerfrfee &) sofear |

icandidate must: - .‘
il |

;(i) have completed an Animation course. (i) Tt S T a7 FFT =R '

I Ry S e—

(i) be a graduate in any discipline with 65% marks. (i) 85% a7  Ary foeft off 7 I T e

(iii) have a post qualification work experience of atleast 2 years in (i) grrferfnererey 3 amer faveftsft wfeesfifea doeft & o &

;any multimedia company. I?Fl:r 2 | HT FTAT §IT 1ieq i

(iv) 30 |Ter 7 FH I &7 AT ATRTI

(iv) be less than 30 years of age. I

AT U SEHTEATE T STAT T I AT B i

(A) o= saTes (i) &, 9 eadl a1 & 70% & 9t |

| 2 = 5

(A) If NOT (i) above, but has scored more than 70% in Class X, the [T 1441 & AT, HTHET HETEH ‘”_“”_W'

case may be referred to the General Manager. - (B) ferrr Ir (iid) ¥, ST WW:Q'_-HW fefr g am,
' HTHET T FTATerT AfaFrir (CEQ) FT ST S|

In the case of a candidate who satisfies all the conditions:

((B) IF NOT (iii) above, but has a post-graduation degree, the case
?may be referred o Chief Executive Officer (CEO). (C) Torerar S (iv) o, <y fEmeft 7 wfvesdifear et #
| A T 4 T T FAAS § AT, AT TG FAwrn
(C) If NOT (iv) above, but has a work experience of atleast 4 years sy 5117}

in any multimedia company, the case may be referred to the

Managing Director. W TR SITASRTAT ST A1 20 0 geis 3oy 7 2w au qrEEt
' AT T ST 700 ST g

Based on the above information and criteria given in each of the

Ifollowing questions, you have to take decision. |

43) These cases are given to you as on 10th November, 2016.
Candidate's Informalion : Sunaina Talwar, 23 year old fresher, has secured 80% marks in graduation and 60% marks in
post-graduation. She has completed a certificate course in animation technology. She should be:

1 3 7Y qTAe ATy AEET 10, 2016 F ardiE #7 Ru au §

IFHTEATT FT SATHFIEY: AT qeaTE, 23 AT Afger 7 U § 80% #F T Tree-Is[uard ¥ 60% siF griae U &) 367
AT SR ¥ f H wfE e Fr e g e

A) referred to the CEQ / CEQ F IT# ST ST 180

B) referred to the General Manager / FgETa & TT8 ST ST ATET
C) Selected / w37 AT FTi2T

D) referred to the Managing Director / W&er H=T: % TTE HT SHT A120
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44) Weights of the two brothers Rohan and Ronit are in the ratio 6:9 and their combined weight is 150 kg. After following a
diet plan, Rohan reduces by 6 kg and the new ratic of their weights is 3:4. So, Ronit has reduced his weight by / 7157 37
O O 1 o 0 1 A T L e o O A L -0 e e 1 L o s T PR = e M A e

BT F FAT £ A o T AT W A 30 4 #1 AT SR T e wee FEhy ww fee

A) 20 kg / 20 B
B) 18 kg / 18 Fam
C) 26 kg / 26 R
D) 10 kg / 10 B

45) A dice is taken on which numbers from 6 to 11 are written on its six faces. The HCF of numbers writteri on all pairs of
opposite faces is always 1. Based on this information, answer the questions that follow.Which of these numbers can be
written on opposite faces? / wa wrat Rrat s 5 =7 78 w7 6 7 A% 11 a5 £ den w6t 21 Bt gt F ot et ae
TR sATet ¥ e g (HCF) Z5T 1 8T 81 297 S F wrgre 97 v B ww weat F 3 F) o qut v wmi e
HT wvzm et s et 87

A) 8and 10/ 8 =T 10
B)12and6/1247 6
C)12and 9/12 %7 9
D)6and7 /67 7

46) A is B's sister, C is B's brather. W is J's father and J is A's brother. L is B's mother. How many sons do W and L have (
minimum )? /A, B#T 387 81 C, B A I W, JFT AT diw J, AFT Wi g1 L, B Fr a7 &1 W &7 L ¥ (&7 & 97 ) 2 82

A) 4
B) 1
C) 2
D)3

47) There are some women and men in a meeting. The square of the number of men is less than the square of the number
of women by 40. If there were four more m'eﬂ, the number of women would have been same as that of the men. The lolal
number of the men and women in the meeting are: / U Jz% | F HiZAT A7 [ §) qzoi £ @y F7 v wiEemar £t der
e 37 40 T 21 7% At =1v o o 2 Ay, e 6 s et F e ¥ qerEe g A i gt o widar f g
T £

A) 8

B) 10

C) 17

D) 22
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48) Find the code similar to the one given below

G U

| 5 o T F F W R /I AL

(E 0

AK:P ‘e
B)I:S

C)M:N

D)C:X

49) A,B,C,D,E and F are the six members of the family. There are two married couples in the family. Each of them like
different ice-cream flavours viz Vanilla, Mango, Butterscotch, Strawberry, Blackcurrant and Chocolate. A's wife likes Vanilla.
E's daughter-in-law likes Mango. F's daughter likes Strawberry and his son likes Chocolate. If the youngest boy in the family
is B, then the youngest girl doesn't seem to be D. The eldest person in the family likes Butterscotch. If all of them are
'arranged according (ascending order) lo their ages, then who will be the last female in the list 7 /A, B, C, D, E T Fus
TRET & @ g55 B TiETe | 37 fFarfEa e €1 3 g0 USF T A AT ASHH [ F 18 THE £ Araer: A, 19, qeoeni,
s=tardY, e e S =il A Y T S e THE §1 E fr ag A T v 21 F £ 30 el w6e & i i ar st e )
T AT § FER T T AT AT B AT, G 9 39 A7 A3h D TE 8T gt gl TRarT # 99 § g9 92 Ain B GeeedhiT 76 2
T I T T TR I R & i (S w) R s Ay, o s witer B e

A) C

B) The one who likes Strawberry / 97 ST F2{a{T T68 FTdT §
C) D

D) The one who likes Vanilla / a1 5T 3f#€T 788 F:wdT &

50) Vinay, Anshul, Nitin and Gauri are the four children of Mr. Kapoor. Nitin is older than two brothers only. Who is the first
child of Mr. Kapoor if Gauri is the only daughter of Mr.Kapoor? / fa==, sigrer, A & w1 fieet oz F =< oy &1 e+ Faw
a1 WTEAT 7 a7 81 o< 7T #7 WEAT gy # § AR T e Fx i gy 34 g)

A) Vinay / fB==
B) Nitin / fAfa=r
C) Gauri / 7Y
D) Anshul / #eer
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51) What comes in place of question mark (?) in the series given below? / = & mm e & wa e (?) F =473 77 747 arar

A) -273
B) -267
C) -270
D) -264

52) M is the father of K who is a doctar. L is the daughter of T who is a housewife. N is the father of L's only brother who is a
Lawyer. K's mother who is a Nurse is the wife of a Lawyer. There are two twin sisters X & Y whose father is M and their
profession is Teaching and Tailoring respectively, L, is the Principal of a school, who is unmarried. There is only 1 lawyer in
the family. How is the Tailor related to the Principal? / M, K &7 fiar & St v =ty 21 L, T f¥ & 8 st wa gfenfr 21 N, L s9ata
T 1 Far 2 1 v ahe 21 Kt sty v A 2, vw g Ay welt 21 K A Y 50 srEat a8 B frer M 2 sl 3 i men
T A RS 81 L v e % RS & S R 31 wler 7 dee 1 s 31 %off, Wi & e a2

A) Aunt / F=1
B) Nephew / wafisr
C) Niece / a1t

D) Sister / ag

53) In what way can this set be classified into two different sets: (17, 21, 289, 27, 729, 31, 441, 961)? / e a31% 7 78 A9qg7T
BT API-SFT HHFA ¥ aifiwa B s awar g (17, 21, 289, 27, 729, 31, 441, 961)?

A) (17, 21,27, 31) and (289, 441, 729, 961) / (17, 21, 27, 31) #I7 (289, 441, 729, 961)
B) (17, 21,961, 31) and (289, 441, 729, 27) / (17, 21, 961, 31) =7 (289, 441, 729, 27)
C) (17,441, 27, 31) and (289, 21, 729, 961) / (17, 441, 27, 31) 57 (289, 21, 729, 961)
D) (729,21, 27, 31) and (289, 441, 17, 961) / (729, 21, 27, 31) =7 (289, 441, 17, 961)

54) Which term of the given series would be the first one to have one digit: 98, 93, 88, 83, 78, ...........2 / &1 72 =@ § w4
ST et @y A o grfT: 98, 93, 88, 83, 78, ?

A) 21st/ 21T
B) 19t / 194
C) 18th / 18T
D) 20t/ 207}
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Following are the conditions for selecling a Cartoon Animator. The ln_qr e ufaie ¥ s & fore o e 2) s |
candidate must: T

(I) have completed an Animation course.

I (i) TR FE I AT T e :
I(ii) be a graduate in any discipline with 65% marks. ' '
' (ii) 65% =T F wre reft o) Ry  Ispoe gerwiRm |

(iiiy have a post qualification work experience of atleast 2 years in

|
any multimedia company. (iil) gFferferere & ave ffl off wieafifzar doeft & & .
FH 2 HT T FEIT g1 AR ?
(iv) be less than 30 years of age.
(iv) 30 TTe & F1 IY HT AT AR
In the case of a candidate who satisfies all the conditions: :am'{ e FETEET weT Gt T O e i

(A) If NOT (ii) above, but has scored more than 70% in Class X, the !(A) FererTer S (i) %, ST Zwreft e & 70% & aifer

case may be referred to the General Manager. T {5 %-'HT' SETRPRIT ST Tk M TG [

(B) If NOT (iii) above, but has a post-graduation degree, the case (B) FRrsTTer S (i) %, <11 _WIW"WQW fedt &,
may be referred to Chief Executive Officer (CEO). TTHET &7 FTATT AfETry (CEO) it $i s

(C) foram 393 (iv) 7, stfae freft off sfeefifZar sy &
T H EH 4 T HT DIATGAS € T, ATHAT Sl H=Te7h

!{_C) If NOT (iv) above, but has a work experience of atleast 4 years
in any multimedia company, the case may be referred to the

iManaging Director. iwml

| A oy : )
‘Based on the above information and criteria given in each of the ' T sfre A R s e 3 fR My '
following questions, you have to take decision. o SATETE T AT F07r =77 gl

55) These cases are given to you as on 10th November, 2016.
Candidate's Information : Mohit Deol, 24 year old fresher, has secured 72% marks in graduation and has completed a
diploma in animation technology. His maximum qualification is graduation. He should be:

1 3 wpeft TR ST AT 10, 2016 # qTiE Fy & #

IETEATL HT SATAFTL: Hifed 330, 24 auia Tateger 7 Iued § 72% % griee @27 g T 399 un e S & e
FeerraT o B &1 s i gl e &1 5

A) referred to the General Manager / FETIEFE T8 ST AT AT(20
B) referred to the Managing Director / S@¢ H=Ta: & T ST SITAT ART
C) Rejected / =47 &1 FLAT FTRT

D) Selected / =4 AT ATRT
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56) A figure is given on the left with a pattern. Observe and find out which of the three images on the right looks similar to the

right half of this pattern? / =72 =T T fed & ara v = &1 7 21 enaa = S v garev & 2 o fi fiF == & F 157 29
B -5 . T LA M s L M e L -

| [ 4 P

A) 1

B) 2
C)3
D) Both 1 and 2/ 1 &7 2 F47

0,1,9, 36, 100, 225, ?

A) 441
B) 400
C) 421
D) 484

58) In a certain code language, BOOK IS NICE is wrilten as 425; BOOK AND PAPER is written as 267 and PAPER AND
PENCIL is written as 768, then find code for BOOK. / 7 f&fera g=-a1r # BOOK IS NICE %t 425 % %7 # ot =mam 2; BOOK
AND PAPER #if 267 & =7 # ot 577 £ #fiv PAPER AND PENCIL %1 768 % = & frar st & 41, BOOK 3 32 51 &7
A) 7

B) 6

C)2

D) 4

59) A car is insured (o the extent of 1/5th of its original value. If the premium on it at the rate of 2.5 % amounts lo Rs. 1000,
the original value of the car is / 77 17 #T SmT 3703 e 707 5 416 3 o At siefy 21 af2 gy ofiffms 2.5% #1277 %1000 21

STET &, 1 F17 F7T 0T T4 7
A) Rs. 1,30,500
B) Rs. 4,50,000
C) Rs. 2,00,000
D) Rs. 1,00,000
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B0) In what way can this set be classified into two different sets(considering vowels and consonants): (B, H, T, E, O, A, M, U,
P)? / B 78 & <o A w7 o7 T g2t § anfiea fEem s T § (Fe o ssm T 9 fa= fa gu): (B, H, T, E, O, A, M, U,
P)?

A) (E,0,A,U)and (B,H, T, M, P)/(E, O, A,U)&dT(B,H T, MP)
B) (E,T,A,U)and (B, H,O,M,P)/(E, T, A,U)3 (B, H O, M,P)
C) (E,0,A,Byand (U,H,T,M,P)/(E, O,A,B) & (U H T, M,P)
D) (H,0,A,U)and (B,E, T,M,P)/(H, O, A, U)#% (B,ET,MP)
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No. of Queslions: B(

61) Union Minister of HRD, Government of India inaugurated the world's largest digital natien-building initiative in November

2016, what is the name of the initiative? / F=&17 5= HRD, a17a w7317 7 Fa=7 2016 # g7 F wad a3 35w ae-feir §i7
e AT IFTEA AT, TR AT AT 872

A) Innovative Digital Solutions 2017 / ZaTateer RfSwea gregurar 2017
B) India's Technology Talent 2017 / £fEar's egeishl 2=z 2017

C) Digital Nation Building 2017 / S Fem @fezT 2017

D) Smart India Hackathon 2017 / Taté 3Eam 2@yl 2017

62) Which of the following terms in sports belongs to Golf? / &= o Ferferfa sr=at #f & = 77 7% & g=fT 22

A) Trackrace / 7935
B) Birdie / 75T
C) Mallet / &&=

D) Cocoa | Fraiar

63) Which European power founded their first faclory in Masaulipatam in Andhra Pradesh, in 16057 / 3 37 orf¥h 7 1605
T, AT TR F HHIATTZAT 5 AT TEAT AT wATe AT T e

A) The British / fafzer

B) The French / mii=fT

C) The Portuguese / AT
D) The Dutch / ==

64) Burma was completely separated from India through / @&t &1 s &1 ey wrerm & qoia: s w7 R ma ar

A) Canstitution of India, 1950 / w77 #fFeT, 1950

B) Government of India Act, 1919 / stree 9T wfafam, 1919
C) Government of India Act, 1935 / g1z 7=+ atifizw, 1935
D) Constitutional amendment / SETRT F9TE

PageZ40fb4




Sel Id : 31487_19 7-12-2016 — Batch1 — Group4

For. Ralya Sabha Secretariat, Parliament of India

65) The enzyme pepsin present inside the stomach helps in digestion of / 72 % 5% #iwg Tsmew Ufta" s o= ¥ 958 a7

22

A) Minerals / @fds qar4

B) Carbohydrates / FTaTgTEgem
C) Fats / g#7
D) Proteins / STE=a

66) Who is empowered to remove difficulties that may arouse while implementing temporary or transitional provisions? /
SETAT AT HFHVIHTA T TTALTAT 7 AT Fed ST TTHA S T HISATSTT T 5T T FT STTRTT A0 & ey 27

A) State Legislature / Trsg fRramfg=T
B) Federal Court / ®€tq =gt

C) Parliament / §wg
D) President / Trgwfe

67) What is animal husbandry? / 94T 4T 872

A)  Practice of randomly breeding and raising farm animals by humans / ST gTET 153w 7 & W TSIt &7 I 747
Q1o et

B) Practice of selectively breeding and raising cows by humans / T g1 == e TT4T T ST T4T U FEAT

C)  Practice of selectively breeding and raising wild animals by humans / T54 §TET T4 FF ST T T 59 4T TTAH
AT

D)

Practice of selectively breeding and raising farm animals by humans / 7= &T21 =3 T FTH TLLAT T SAT qAT I
FAT

—ra — — — ——

68) Exports means Goods and services that are sold abroad, and Imports means Goods and services purchased from

abroad. Net exports are negative when \ fRafe &7 @4 ST 2 #1er AT Faralt #1 fr2eit & F=m7 ol 2w 77 7 27 & 7 &
qare #1 e & gl gz FafT ao T950ms geT &, 59

A)  exports are exceeded by imports \ R=Ta @ FT X FT AT E
B) netinvestment is positive \ STg fEraer aTTreTs 2T €
C) imports are exceeded by exports \ ST Td [HaTd it ¥ #7 397 2

D) exports exceed private transfers to foreigners \ et f=frgt F fFro Fsit samraor fr e s 2ar &
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69) When was the National Human Rights Commission (NHRC) set up by law in India? / T3 ¥ T187 T TI6HTT 20977
(TS ATCAT) T 5T T4 ZTLT Fd 7 4T 477

A) 1999
B) 1989
C) 1993
D) 1990

70) Preparation of milk powder from milk is an example of : / Z8 & 22 TTF27 1 317 77 R 7 T2 87

A) Morphological change / AT T
B) Physical change / witfa# afiad

C) Biological change / Sfa= afiadw

D) Chemical change / Tramafa= nfiada

71) What is the total area of the Andaman & Nicobar Island groups? / @21 & fA=raT g7 wg w1 e & B 29

A) 6,249 sq. km / 6,249 =3 Faft
B) 7,449 sq. km / 7,449 73 By
C) 9,249 sq. km / 9,249 =37 fFaft
D) 8,249 sq. km / 8,249 =7 fFaft

72) A devotional saint who was a cobbler by profession is / STFT= =7 ST 497 & e T=T 47, AT &

A) Raidas / =17

B) Surdas / Ta1H

C) Tulsidas / Ftam
D) Mira Bai / #i7r am2

73) The small scale industry with highest importance in India is \ 917 # T=3T A2 qEer F7+ 79 32007 7

A) Handloom \ g4=F7=T

B) Jute \ 5=

C) Gems and jewellery \ ¥a #t¥ smsqor
D) Textile \ ="
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74) National Handloom Day is celebrated on / TTgTF ggem Raw &m & wwmar staT &2

A) 30th January / 30 SEEE
B) 2nd October / 2 s#Za< .
C) 7th August / 7 =r&

D) 5th September / 5 AT

75) In the biggest consolidation deal in the telecom sector in September 2016, Reliance Communications Ltd merged its
mobile phone services business with / faT 2016 & gxE=Te & ¥ wa¥ 75 qHaT 918 § Noae Feqasae frives 7 s gy
A) Telenor India / Z=i=TT 22T

B) Tata DoCoMo / ZTeT SraTeT

C) Aircel / Tavae

D) MTS India / MTS 2=t

76) In November 2016, which Indian has been elected by the UN General Assembly to the UN International Law Commission
(ILC)? / A& 2016 # i w1/eft rvefiar, wer Ty e=igiT &8 s (ILC) % org #77wh Tg HgresIT gy M= gsn/E &2

A) Gopal Subramaniam / TTel GATTTH
B) Mahesh Jethmalani / A2 S&HTHT
C) Aniruddha Rajput / #fieg T

D) Pinky Anand / fi=t aireig

77) A concave mirror of focal length 20 cm is to be used as a shaving mirror. Which of the following is the suitable object
distance from the mirror? / 20 Ffeefres wrae gl F1er UF sraae a9 F1 UF WW%H%W%W% e § T
a1 & & T e g 27 |

A) 30 cm / 30 FferdteT

B) 10 cm / 10 #feafiex

C) 20 cm / 20 Fferftez

D) 40 cm / 40 &fefizx
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78) Which Ministry of Gowt. of India plans to sel up a lhree-tier national network of Viral Research and Diagnostic

Laboratories to handle around 30-35 viruses of public health importance? | T3/ FIF17 FT &1 AT HATAT HATAA( A FAT057 Tged

3 PO 30-35 ATTH T AT & (O BT AEET A S e £ A A T ek e e F P fre

Te

A) Chemicals and Fertilizers / THTIT 4T 394F

B) Health and Family Welfare / ==y 7= gHATE Fq707
C) Department of Pharmaceuticals / simrfar Eramr
D) Science and Technology / &=+ v a1

789) Who has launched their first full-scale Cyber Security Engagement Center (CSEC) in India in October 20167 / AT
2016 T wrva 7 B wdl w2t S wrgay FagiET et dver (CSEC) 9 17

A) Dell India / 3 2

B) Yahoo India / 7rg =f=aT

C) Microsoft India / ATz 24T

D) Google India / e =f=Z=T

80) Which of the following accounts for the high growth rate of population in India? \ % 3 3 #7 a7 wva § sz 47 59
e 27 & #1272

A)  The birth rate has grown while death rate has declined \ =7 Z7 7% & F=fF g 37 7 FdT arf &
B) Growing birth rate \ gaT 579 27
C)  The much slower decline in birth rate than the decline in death rate \ 4= v ¥ fivraz & grar # 5w 27 § fjed} Frere

D)  Declining death rate \ 7zt 971 &7

81) The Meerut Mutiny marked the beginning of which revolt in India? / s % %72 =vm=a @A Ewg 1 oo a1t s 872

A) The Kol Revoll / 1@ %8

B) The Santal Revolt / 7417 Az

C) The Chuar Revolt / ==m7 f&zTg

D) The Revolt of 1857 / 1857 71 [A%1E
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82) In which state of India is the Mawsmai Caves situated? / HTETHTE THIT 9TLG F 0 osF § ffgw 87

A) Assam [ Z=HT

B) Meghalaya / #ramea

C) Mizoram / firsimon

D) Himachal Pradesh / fEaTser w&er

83) In November 2016, who has tied up with Archaeological Survey of India (ASI) for 360 degree virtual tour of 280-odd

ronuments across the country? / Fa=¥ 2016 & e &er 7 # 280 ¥ Flia Tt & 360 = a=zmr o % o smeefig e
FAGT (ASI) F | FATC 3T 27

A) Google / TTer
B) Facebook / Fag®
C) Instagram / Ee=am/

D) Yahoo / 71§

84) Under which category has the Indian Bison been listed in the IUCN Red List published in 20167 / 2016 & y=rfgra IUCN
T AT | AT arEHa a7 {2t e qeias T g2

A) Vulnerable / =i 7

B) Near Threatened / &&¥ % 91q

C) Critically Endangered / X et &

D) Endangered / FTA9TH

85) Which of the following teams won the Duleep Trophy tournament for 20167 / s # & e &7 & 2016 # g=(i7 it galae
ST 8?2 ' '

A) India Blue / EfeaT 57

B) India Red / £fgam 7=

C) India Green / &fzar Hiw

D) India Yellow / EfZaT weer
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86) Jason McCracken, the Chief Executive Officer (CEOD) of International Hockey Federation (FIH) belongs to which of the
following countries? / Sae Fa=, SacierT 2T g (FIH) 3 geg e afgsr (CEO) Mt zut & & B d=fam 22

A) Australia / FezfaraT

B) England / 7z

C) New Zealand / /==
D) Netherland / a7z

87) Which of the following European Football clubs is based in United Kingdom? / & & &l &7 Z2r7 Teaie 709 Ia152 2
Ffarew ¥ foam §7

A) FC Barcelona / w #t AR T

B) Real Madrid / e 5fZ=

C) Manchester United / #=z7 JAT222
D) Atletico Madrid / memferr &3z

88) One of the most important developments in the struggle for freedom was the formation of Indian National Army. Who was

the first to think of forming such an army? / @rsTTE Fa Wis F1 727 F@a=aT w6l § 7w gyt st § & v gn o 7 797 %
ST F 17§ = T e 7T AT?

A) Rash Behari Bose / 71 fagrft &

B) Khudiram Bose / T a5

C) Basant Kumar Biswas / @7 FHTT f@#ma
D) Prafulla Chaki / S =Tt

89) Which script was used in Pakislan region, thal is written mostly from right to left? / T &= § ey @07 # wrer

A) Devanagari / TATTTIT
B) Gurmukhi / TewET
C) Kharoshthi / =718t

D) Brahmi / #TR{T
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90) "Where cases involving substantially the same questions of law pending before Supreme Court or in one or more High
Courts then the former caﬁ withdraw such cases and dispose the same suo motu". Correlate the content to the relevant
article:'STET T Ao AU AT o (6 S ATATITS § A o O g WA O e A Wi S eee @, af a8 Qe e HIHHAT
AT T ¢ A AT & ITHT IS FT TH E| T FAT FT GG G0 (R e ¥ aqrE

A) 141

B) 140

C) 142

D) 139A / 1391

91) At which of the following places was the first Winter Olympics held in 19247 / 1924 ¥ 7% ©41A1 # ¥ &1 @9¢ Tgar

A) Montreal, Canada / Wifrzae, FATST

B) Sochi, USSR / 5=, USSR

C) Vancouver, Canada / %%, FATST

D) Chamonix, France / SwTfa=, Wi

92) Based on the cotyledons, which one of the following is odd? / #isr=r & sraTe 7T Fewias & & w7 a7 fau g2
A) Gram [/ UTH

B) Tomato / zHTZX

C) Pea [ Wex

D) Wheat / g

93) Who among the following have received the prestigious Ramon Magsaysay award for the year 20167 / e & &
e =f 2016 ¥ o sfafde W= FEE qeeaT O gan 87

A) Sanijiv Chaturvedi and Anshu Gupta / T Sasr siiT sig] T

B) Deep Joshi and Prakash Amte / &7 sieft sfie wamer amee

C) Bezwada Wilson and T. M. Krishna / ZstaTeT fawas s T. M. Fwom
D) Harish Hande and Nileema Mishra / g€ g7 #fre iferar feram
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94) What is DNS pertaining to Internet? / 277 & #=fas DNS Fa7 27

~ A) Decimal Naming Structure / =& T8 Za97 |
B) Digital Network System / fRfSrzer Fzam ey "
C) Domain Name System / 8+ 79 =g
D) Data Network System / =27 F2a% =g

95) Which of the following Is the world's first vaccine developed by Indian Immunoclogicals Limited (IIL) to fight against Taenia
solium Tapeworms in pigs? / Ffer # & =i 71 0 7T ¥ Zrefaam Arferae oramd & fems w5 for 2 segmei e
Bz (L) 37 Foe FBva 77 wger i 872

A) Haemophilus influenzae type b (Hib) / EaTTersr Z1usT 2727 b (Hib)

B) Tapervax / Zuva+T

C) ZIKAVAC | ZIKAVAC

D) CYSVAX/CYSVAX :
96) The essential element which is present in proteins, but absent in fats or carbohydrates is / @=TrEvI® de 571 T4 1§ HT39% ‘
FIAT &, ATH TAT AT FATEIE3 5 Te THAT A14T 5, I8 Fe 0 7 5 /7 27?

A) Phosphorous / iRy

B) Sulphur / 7757

C) Carbon / F1aw

D) Nitrogen / ATEZT5

97) On which of the following rivers is the Tehri dam project constructed? / Frer o 7 By 72T v fagdy ave TH=ms@T F1 Fair
B &2

A) Yamuna / THAT

B) Ganga / 7T

C) Chambal / =

D) Bhagirathi / arifiesft
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98) Which of the following is the highest peak of the Satpura mountain range? / Fsferfem & & St g Tew @t £ wed

A) Chembra Peak / =T frax |
B) Meesapulimala / e feraTaT .
C) Banasura Hill / F=&r 78a

D) Dhupgarh / gz

99) How many times is Bihu celebrated in Assam during a calendar year? / F==T % % a0 2o ¥ fag FrawT s 7=mar Smar
g?
A) Two /&7
B) Four /=TT
C) One /=
D) Three / 17

100) Which of the following is a tributary of river Mahanadi? / fReritae & & S a7 Agar F7 3T 272
A) Arkavathy / et

B) Kabini / &fa+T

C) Ghataprabha / =997

D) Seonath / framme

101) Indian Railways won the World Railway Shooting Championship Cup held at which of the following location in the
world? / STE T Tor 7 giAaT & (e wamat # & wgt s B e gfdr sftmmfi w1 s

A) Wellington, New Zealand / Sfeies, =efie=

B) Vancouver, Canada / §§4<, #ATsT

C) Saint Mandrier, France / 3z 9{39¢, wia

D) Melbourne, Australia / =T+, sieeforT

Page330(54




Selld: 31487 18 7-12-2016 — Batch1 — Group4 For: Rajya Sabha Secrelarial, Parliament of India

102) Mansur and Manohar were the most famous painters in which Mughal Emperot's courl? / & 5 #9157 F 379710 #

A) Aurangzeb / HTaE
B) Jahangir / s
C) Humanyun / 915

D) Babur / g7

103) Which was the last composition of Goswami Tulsitdas? / =TT e 1 A0 v==7 Fie fF 2

A) Parvati Mangal / TT&dT wrer

B) Ramcharitmanas / Tra= T auTaw
C) Gitavali / frama=t

D) Vinaya Palrika / = a3

104) During Maratha rule, "Chauth” was a/an / T7T51 YT % S0, "1™

A)  Land Tax imposed by Shivaji on neighboring states / T2t =141 7= forarstt gre1 A 3T iy 7 97
B) Toll Tax imposed by Shivaji / foraTsft gTer AT wom 7o %% a7
C) Religious tax imposed by Shivaji / framsft g @ wem avfdT 77 o7

D) Irrigation tax imposed by Shivaji / foramsft Z171 @ w41 fFH=E 77 91

105) What is the time difference between IST and GMT? / IST 417 GMT % == =T ¥97T a7 AT 27

A) 4.30 hrs / 4:30 =%
B) 6 hrs / 6 5=
C) 5 hrs / 5 52
D) 5:30 hrs / 5:30 52

106) The GNP (Gross National Product) defiator is the ratio of \ GNP (1% 71t 3e7r=) sraehifas Ferm aaT 22

" A) nominal GNP to real GNP \ #Tam GNP & arefas GNP

B) real GNP to nominal GDP \ Fr&fas GNP # #1997 GDP

C) nominal GNP to nominal GDP \ ATHHT GNP # A1HHT GDP
D) real GNP lo real GDP \ ar=fa® GNP & Fraf@a GDP
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107) Under the Indian Constitution, the responsibility of the enforcement of Fundamental Rights lies with \ sTeer dfaeam &
giriia Atfors ATEHT & Taaw o7 I (hed Hied &

A) The Attorney General \ 21+ 9t
B) The Solicitor General \ ifFrfaeT s

C) The High Court and the Supreme Court \ 3F TaTad AT 3P ~AT4TE
D) The Parliament \ 78

108) Which of the following scientist coined the word "cybernetics"? / 3% # ¥ & &=mfae 7 “HTeseATesa" a5
A) Elmer A. Sperry / TeT T, T{T

B) Emil von Behring / Tffw a1 sgiT

C) Norbert Wiener / FTaE 17T

D) Jacques-Yves Cousteau / Soq-F99 FT3e AT

109) The primary lawyer of the Supreme Court of India is \ SITE ¥ Tgad =TT F T Thier w1 B &
A) Chief Justice of India \ s & e =ty

B) Secretary, Ministry of Law \ ==, F1gs 93197

C) Solicitor General of India \ wTa & iferFe sa

D) Attorney General of India \ #ITCT & AZTHT ST

110) Which of the following is NOT one of the five physical symbols worn by Sikhs who have been initiated into the Khalsa? /
T & § %77 97 "veray 7 e Reat g gga s arer gt ardife Gl § § v a8y 22

A) Kirpan / Famr

B) Kesh / Fe1’

C) Kajal / #re1e1

D) Kangha / =T
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111) Congress provincial ministers resigned in 1939, as / 1939 ¥ i & W74 FEAT 5 F7 AT =47 477

A)  Defence and External affairs was reserved for centre / #11% w47 @iz R=ef wraeT #1 F % o srvfera By v gt
B)  Moderate Nationalists support was not accorded / FiTa e TTEATEAT FT HTAT FGH T51 47

C)  Viceroy declared that India was at war with Germany without consulting Indians / F73 JT=rT 7 717 "o 1 47 f
T o ATEATAT & 7ot R BT s AT 1§ ur '

D)  Viceroy's behaviour was eonstitutionally valid / FTT ATraem &1 =g FaurfiT =7 7 a9 47

112) Who acts as the Chairman of the National Integration Council? \ 7187 U=aT TFa & HETe F =9 5 FIF 71 Far1 272

A) The Prime Minister \ Sermw=t

B) The Chief Justice of India \ 7 ¥ T =TT
C) The Leader of opposition \ a1 f&wsr

D) The Union Home Minister \ 33T 7 531

113) The Council of Ministers remain in office as fong as they enjoy the confidence of the / EE N U R = s e T 4 o M A
GEELED I

A) President / Trgfa %7 Framr war £
B) Lok Sabha / T FT B war g
C) Prime Minister / warTs == & e =ar &

D) Parliament { wa= 71 By =ar 2

114) Which one of the following is known as the 'soul of the constitution and very heart of it'? / fer 3 # Br wfEam
¥ wrenT A T A" F ST H AT S| 87

A) The Preamble { T&TFAT

B) The Right against exploitation / ¢Tror 7 &g aifa=me

C) The Right to Conslitutional Remedies / TEeTiT IT=171 T AT9HT
D) The Fundamental Right to Freedom / =aa=ar &1 #if# &
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115) Narsi Mehta an exponent of Vaishnava postry, wrote devotional sengs in which language? / asvre Ffaar # U= TiATTEF,

A) Punjabi / =TT
B) Marathi / 7Y
C) Gujarati / ST

D) Bangla / Fiv&T

116) As per the economic theory, increase in demand of a good occurs due to \ sfa= fgia F amgare, ==g & a1 & gfE Fes
FTEOT BraT &7

A) an increase in the price of complementry goods \ T3 F&gail &1 HirFa # Ifax
B) a reduction in the price of substitute goods \ #TTTs FEH $T a7 FHT
C) adecrease in income \ s § FHT

D) an increase in income \ T ¥ gf&

117) What is Article 31A of the Indian constitution? / wTeiT Gfeam™ 71 o == 31T FTE?

A)  Saving of laws providing for acquisition of estates, etc. / FeTeT ¥TfE FT AT ITTH FUW F FIAT 5 ATATE 5 TTL
B)  Compulsory acquisition of property / @R @7 stfa=rs srferre

C) Validation of certain Acts and Regulations / %= srferfa=a siv fafF=at o1 Ffdwmrwor

D)  Saving of laws giving effect to certain directive principles / F= Fréas Rgiar HT WA= F00 5 FTLAT F ATATE 5 AT

118) Which of the following has more resistivity - “A thick wire or a thin wire of the same material? / fF&rferiees # @ fd
arfr TRresrar & - " /AT Q7T a7 UF af /vl T T aae ) a1et?

A) It depends up on the length of wires / 78 <t it #as T2 AT Fea71
B) Thick wiré / 91& a1¢

C) Thin wire / ga<fi a1¢

D) Both have same resistivity / ST § U &f Tfa<remar &

119) Which of the following is the part of Concurrent List? \ et @t 1 9777 75 & & %7 @7 87

A) Public health and sanitation \ #T% T&Te=T ST Fer=aar

B) Capitation taxes \ gfa=af?F v

C) Treasure trove \ GsIT

D) Population control and family planning \ ST Fe=wr i i [
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120) Which Indian state was the first to establish the Panchayati Raj System? / Za# & F17 77 WA 7157 T=aT 7757 e
T BT F9H 8 "8 949 977

A) West Bengal / T2 5=
B) Kerala / %77

C) Rajasthan { 3Ts#419

D) Bihar / Bz
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Section 3 - PART C

121) Identify the error in the following sentence. The error, if any, will be in one part of the senlence, the number of that part
is your answer. If there is no error, mark your answer as (D). (A) There are very/ (B) few fish on depths / (C) below 3000

meters. / (D) No Error.

A) D
B) B
C) A
D) C

122) Fill in the blanks with correct option:
Please send me the parcel courier.

A) by
B) for
C) to
D) in

—— I — — N e e T T s o T S R

123) Choose the correct form of the verb given in brackets:
If | hadn't been in such a hurry, | (stay) to see your performance.

A) should have stayed
B) had stayed

C) would have stayed
D) stayed

124) Choose the Noun in the given sentence:
There is no hospital in the immediate vicinity.

A) there
B) no
C)in

D) vicinity

e

No. of Questions: 6C
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125) Choose the correct option to complete the senlence:

She won't listen to my advice so she'll have to learn the _ way.

A) easy
B) simple
C) hard

D) difficult

128) ldentify the antonym of the underlined word:

The long movie on Roman History was ledious.

A) unexciting
B) enthralling
C) ramshackle

D) monolonous

127) Choose the correct meaning of the phrase/idiom underlined in the sentence:

Many people are very clever in achieving their goal by hook or by crook.

A) honest labour
B) a curved tool for holding
C) by any means

D) hard work

128) |dentify the correct synonym: Obtain
A) Spin

B) Roll

C) Get

D) Spread

129) Identify the antonym of the underlined word:
The knife has become sharp due to conslant use.

A) uneven
B) blunt

C) crooked |
D) rusted
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130) Choose the correct option to complete the sentence:
Cars must not be parked the gate.

A) in addition to
B) in front of

C) by means of
D) in regard to

131) Chase the word that is spelt correctly and fill the blanks:
The shopkeeper told her that the fridge had a five year

A) garranty
B) guarantea
C) guarantte

D) guarantee

132) Fill in the blanks with the correct option:

The beat of drum rose at distance gradually and loudly.

A) a, the

B) the, the

C)an, a

D) the, a

133) Identify the correct synonym: Curtail
A) Reduce

B) Refurbish

C) Attach

D) Stitch

134) Chose the word that is spelt correctly and fill the blanks:

The floods unexpectedly,causing huge loss to property.

A) occured
B) ocurred
C) occored

D) occurred
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135) Read the sentence carefully and selecl the underlined part that is incorrect:

Achieving heights of twelve feet, the African elephant is the taller of the wo elephant species that exists.

A) exists
B) taller
C) achieving

D) Is

136) Fill in the blanks with the correct verb:
He the table until it gleamed.

A) polishing

B) have been polishing
C) polished

D) polish

137) Choose the correct meaning of the phrase / idiom underlined in the sentence:
Mother decided it was time to have a long heart- to- heart talk.

A) health
B) secret
C) frank

D) sentimental

138) Fill in the blanks with the correct verb:
We in strange times indeed.

A) live
B) has lived
C) lives

D) living
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139) Identify the error in the following sentence. The error, if any, will be in one part of the sentence, the number of that part

is your answer. If thera is no error, mark your answer as (D). (A) This report / (B) are full / (C) of flaws. / (D) No Error.

A A
B) D h
C)B
D) C

140) Identify the correct synonym: Pursue
A) Train

B) Benefit

C) Chase

D) Cancel

141) Choose the correct form of the verb in brackets:
He (forget) the incident by next week.

A) forgets
B) will have forgotten
C) will be forgetting

D) has forgotten

142) |dentify the complex sentence:

A) The president nodded to the crowd as he passed in the motorcade.
B) His head nodded in agreement.

C) He sat nodding in front of the fire.

D) She noddéd approval.

143) Read the sentence carefully and select the underlined part that is incorrect:
At 6 o'clock in the morning, Jake went to the river, to catch fish by his net.

A) by his
B) in the
C) went

D) at
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144) Chose the werd thatl is spelt correctly and fill the blanks:

The raw mangoes were in the hot summer sun, for making pickle.

A) dessiccaled
B) desiccaled
C) desicaled

D) dessicaled

145) Fill in the blanks wilth correcl option: Skill comes ____ experience.
A) to

B) in

C) with

D) for

146) Fill in the blanks with correct option:

He sold his car to tide his period of unempolyment.

A) before
B) over
C) on

D) after

147) Fill in the blanks with the correct option:
A fruitis good you.

A) for

B) with

C)in

D) by

148) Fill in the blanks with the most suitable option:
She the whole day.

A) shall read

B) was reading

C) have read

D) has reading
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149) Fill in the blanks with the correct form of verb:

The streets full of Christmas shoppers.

A) were
B) was
C)is

D) is being

150) Complete the sentence with a relative pronoun:
Uneasy lies the head wears the crown.

A) that
B) which
C) those

D) who

151) Fill in the blanks with the correct option: I'm so
A) glad with '

B) glad for

C) glad by

D) glad in

152) Choose the correct option to complete the sentence:

Her show of grief was not genuine; she was weeping

A) artificial

B) crocodile
C) hypocritical
D) real

153) Fill in the blanks with the correct verb:

Each child one pair of all-purpose shoes.

A) was
B) has

C) have
D) is
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154) Fill in the blanks with the correcl verb:
They their defeat with good grace.

A) accepled
B) was accepting
C) accepls

D) accepting

155) Fill in the blanks with the correct option:

Parenls never their own mistakes.

A) justified
B) justifing
C) justify
D) justifyies

156) Identify the meaning of the underlined phrase/idiom:

I know it's important not to get bogged down ,so | decided nol to study everything .

A slightly involved
B) indirectly involved
C) slowly involved

D) tolally involved

157) Change the simple sentence into a complex sentence: He admitted his guilt.

A) He was guilty and is accepted.
B) He admitted that he was guilty.
C) He was guilty is accepled.

D) He admitted and he was guilly.

158) Change the given sentence inlo a simple sentence:

Whatever he does, his parents will support him.

A) He will not lose his parents'support, whatever he does.
B) His parents will always support him, whatever he does.
C) He will be supported by his parents, ne matter what he does.

D) All his actions will be supported by his parents.
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159) Fill in the blanks with the correct option:

There was once town in the heart of Karnataka.

A) an

B) the ’
C) No article required.

D) a

160) Fill in the blanks with the correct option: In spite of the rain, the match place.

A) was taking
B) has taken
C) had taken
D) took

161) Fill in the blanks with correct option:

The money lender charges interest 12 % per annum.
A) on

B) at

C) in

D) for

162) Fill in the blanks with the correct option:
Nature is best teacher of life, experienced person always agrees o fact that nature is the best.
A) a, an, the

B) &, a, a

C) the, the, an

D) the, an, the

163) Choose the correct form of the verb in brackets:
She (go) for a walk everyday.

A) went

B) would go

C) goes

D) go
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164) Fill in the blanks with the correct option:

student must come for the assembly.

A) every
B) neither
C) each
D) either

165) Change the compound sentence into a complex sentence:
The boy slole the watch and he was caught.

A) The boy stealing the watch was caught.
B) Though the boy was caught, he was stealing the walch.
C) The boy who slole the watch was caught.

D) Stealing the watch the boy was caught.

168) ldentify the correct synonym: Ediblel
A) Poisonous

B) Succulent

C) Juicy

D) Eatable

167) Identify the antonym of the underlined word:
| had to persuade her to exercise everyday.

A) urge
B) scold
C) induce

D) dissuade

168) Fill in the blanks with the correct option:

The designers the dress meticulously.

A) stiching

B) has stiched
C) stiched

D) stichs
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169) Identify the correct synonym of the underlined word:

She clamors o go home as soon as she gets to school.

A) Likes
B) Rejects
C) Demands

D) Refuses

170) Fill in the blanks with the correct option:
| don't want tea.

A) much
B) many
C) any

D) some

171) Choose the correct option to complete the sentence:
According to a popular proverb "Birds of a flock together."

A) variety
B) type
C) place
D) feather

172) ldentify the correct synonym: Ebullient '
A) Melancholic

B) Piercing
C) Meticulous’

D) Jovial

173) Identify the antonym of the underlined word:
The females badgers stay close to their offsprings.

A) litter
B) parent
C) brood
D) lair
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174) Choose the correct pronoun to complete the senlence:

A) she
B) he
C) they
D) them

175) Fill in the blanks with the correct option:

| have completed my Phd. in English and hope to be University professor.

A) an
B) the
C)a

D) no article

176) Chose the word thal is spelt correctly and fill the blanks:
He wrapped the child in a

A) mentle
B) mental
C) manlel

D) mantle

177) Choose the Noun in the given senlence: They gol through a sack of potaloes.
A) got

B) they

C) sack

D) through

178) Choose the correct meaning of the phrase / idiom underlined in the sentence:
He was cut off in the prime of life.

A) in the best period of life
B) in old age

C) in childhood

D) iost his job
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179) ldentify the antonym of the underlined word:
We would like to buy the house before leaving the city.

A) purchase
B) sell
C) change

D) decorale

180) Idenlify the antonym of the underlined word:
The amiable old man was always willing to let children play in his garden.

A) disagreeable
B) generous

C) friendly

D) ailing
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Section 1 - PART A

No. of Questions: 6C

1) There are six friends with different professions viz Doctor, Architect, Engineer, Sailor, Teacher and Pilot. The sailor weighs
69 kg. The doctor weighs 7 kg less than the pilot. The pilot weighs 14 kgs more than the engiﬁeer. The engineer weighed 76
kg 2 years ago and he is gaining weigh! at the rate of 3 kg per year. The arcitect is 8 kg heavier than the pilot. Teacher
weighs 21 kg less than the doctor. Four years hence, the weight of the engineer will be: / fférsr rér arer =g drea § A194r:
=T, IIEGEHT, Seiiaae, Ffee, e & uraee) arfess o1 a9 69 Ferme g1 =i 7 a9 Trawe i gear § 7 Fem 59 2)
QTITE &7 For S as it qerer & 14 Freimr wfem 21 SR w1 asy 2 9 wger 76 Seimm ot s gwwr it o 3 femm £t
T I A AEAT ST ET B ATEHI, graerE & 8 P ol 21 v v wwra etgee £ qeran # 21 Bty w9 8 gw A sead
TS ST &7 F99 21,

A) 94 kg / 94 s
B) 96 kg / 96 =iy
C) 92 kg / 92 fFermma
D) 98 kg / 98 f=iamy

2) What should come in the blank space so that the series formed is in proper manner: 51, 63, 57, 69, 63, 692/ =
AT | FAT AT ARG, A11% @ wgl 917 o 51, 63, 57, 69, 63, , 697

A) 69
B) 75
C) 72
D) 78
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3) An image is made from multiple geometric figures (marked with numbers). In the image, some regions are formed. In each
of these regions, as many dots are to be placed as the number of geometric figures that has this as a part of it. In lotal, how
many dots will be placed in the image? / TF F F1 % ST ATt 7 ae7ay 747 2 (et i ffE) fm ¥, g At

T AT AT §1 56 S a7 2y fig e wv €, Gt st susfA 6w, st e B 81 e Bare, B
frr firg wnnfie e 2

1 >

A) 10
B) 14
C)8
D) 12

4) Below is given a figure, formed by four straight lines each of length 4 cm. If this figure is to be made through dots such that
distance between two consecutive dots is 1 cm, then how many dots will be required to do so? / 1= e arta 1 75 8, =1
e A3y wAft s et et & et g &1 Al < arnt A G & 0 aamn & B A s Fee F A A g @ity v
T F o e Eget €7 ey gei?

P oo

A) 18
B) 15
&y 17
D) 16

5) Some terms are missing in between the sequence. The missing terms in the order from left to right. 61, 110, 174, 255,
, 478, are | AT W g FETH ATIAY F| ATE 7 ATE A1 ATIAT WA F: 61, 110, 174,256, 476,

A) 345 and 610 respectively/ Fer: 345 T 610
B) 355 and 810 respectively/ F#41: 355 T 610
C) 355 and 620 respectively/ FR4T: 355 #IT 620
D) 345 and 620 respectively/ vr: 345 37 620
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6) If in a certain code language, "LIFE" is written as “6294" and “DEATH" is written as “74018". What group of letters can be

formed for the code "2106489"7 / A& T [ Fe-are1 # “LIFE” 7 “6204" % &9 # foray s 8 o “DEATH” &1 '74018" % w7
T ST 81 "2106489" F 0T SRt FT 9 g Wioa fRAT S 6wAT 57

A) ITALEHF '
B) ITALFHE

C) ITAELHF

D) ITALHEF

7) John had 49 parrots in the cage. All but 33 died. How many parrots remained alive? / I % wrar fisre & 49 &7 &1 3A8 &
33 Fra we ) B ar fifEa 32

A) 16

B) 49

C)0

D) 33
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Following are the eligibility criteria for recruiting a Trekking guide — HATAT 3 T3 &A1 FTIT &90T T8 1 94T 2 [F07 FHAAT
'by a company in Manali. The applicant should: ATTEE FEiiE # araEs T

(i) be a citizen of India.

(i) AT FT AT 2197 SR

(i) have knowledge of the terrain of the region. . i
.- (ily #3777 FT AT AT AR

(iify have work permit to work in India.

(iit) sTree ¥ e e & oo 3% gvihE g AR

(iv) have no criminal record.

(iv) #1E sttt Bt 921 gmT =nfam)

(v) have a valid first aid certificate.

(v) 7= Far wra B R amTer 9= A w2 TR
(vi) be less than 30 years of age.

(vi) 30 AT & F9 TP FT ZMAT AT

In the case of a candidate who salisfies all the conditions: T e et e ot AT T
(a) If NOT (i), but is a citizen of Bhutan or Nepal, then he will be (a) Fram (i) F, = Sz =7 v #r aonfoes g a1, 757 |
referred to the Executive Director of the company. T F T FEerE F 9w S

?(b) If NOT (iif), but has a Valid Passport issued by the country to  (b) =T (iii) ¥, w1 o ey 397 maferm Zor groT et
‘which he/she may belong, then he will be referred to the Chief 3T TT U e AT AT, 39 T o e e
Executive Officer of the company. TR 3 T T S

|

{(c) If NOT (vi), but has an experience as a Trekking Guide of 2 (c) Framr (vi) F, 1T v 2y e F =T 2 97 A7

years, then he will be referred to the Vice-President of the A B AL, T ATAY ¥ I F AT S A
}Gompany. ﬁ%ﬁﬂ UL TR E b 1 L et e AR 1 M i T A e B A
In each of the questions below information of a candidate is given. @g ATTEET ¥ ¥ W A7 WF 7 A8 T T2 WA 51 HbeA /=l
iHeishe may be eligible under one or more of the criteria. 2 |
You have to take one of the following four decisions based on the ATTHT T3 FTE T8 ST 7 TUTI OTAT F AT T
information provided and the conditions given above. Frertf =1 ST F 8 T A Eem :I

8) Candidate Information : Gurjeet Singh is a 26 year old man from Punjab. He has a valid first aid certificate and a passport.
He has no criminal record and has done a delailed research of the terrain of North Indian - Himalayan ranges. He should be:
/

safrzaT i s sta fE s i o 26wty s 13w e A vt Fri ywrr o S e #1 3wn wE
arriar frad Y 2 9w 3 3T O - R THa T -t A e o B R

A) referred to the Chief Executive Officer . / W7z 4T @i % T = srar Afan
B) referred to the Vice-President / FUTEar & w17 #1111 =12

C) Rejected / 5144 AZN F7AT ATRT

D) Selected / =47 AT AR
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9) Among the given group of 4 images, which set of images can be classified as a group? / Ru T 4 R S aqg & &
o g Rt i v wg = § i e s e 82

A) (2, 3, 4)
B) (1, 2, 4)
C) (1, 3, 4)
Dy, 2, 3)

i R A S S i £y e i R ———— —

10) A shopkeeper brought 8 chocolates for Rs.12 and sold 6 chocolates for Rs.8. Find his gain or loss percent. / T gFH&a1T
T 128 ¥ 8 "ieore W4T § <fT 8% 7 6 FiToie o= 40 &1 THET @79 IT g1 Tioere i1 w4

A) 10.2% profit / 10.2% =Ts
B) 12.6% profit / 12.6% =TH
C) 11.11% loss / 11.11% &1f%
D) 9.02% loss / 8.02% &1

11) Joy is the elder brother of Pinky. Priya is the younger sister of Pinky. Priya is Nakul's daughter. How is Priya's son related
to Joy? / st oy @1 @y wvé &1 Fray [ 7 S1ET sz &1 oy weper £ & &1 S v e sty F qry w fear 2

A) Nephew / sTeisiT
B) Niece / Ae{sft
C) Brother / w7
D) Uncle / =T
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12) There are three words given here. The first two words are related in a cerlain manner. Select the proper word among the

given four alternatives which bears the same relationship with the third word as in the manner first and second words are

related.

Kullu shawl : Himachal Fradesh :: Kani shawl : / .

B o B e 0 A B ot e B e T £ M e T B 1 9 e U A O T e e et T e 2 e e M R e
A £ 1 A 5 et e T e o e A R B e e e e

Frr] 1T - TRwTerer sr3er o el o

A) Punjab / 75T

B) Jammu and Kashmir / seg-FvH17
C) Uttarakhand / 39714

D) Delhi / fa==ft

13) There are three words given here. The first two words are related in a certain manner. Select the proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

Pressure : Pascal :: Sound : /

et e oreg v aw ) wee & asz v A At A Al f Ry ar an Reed A msRm as e st A e s ¥
AT THT ST F W g7 T A 7 TRAT ST A vEE HATA 2
AT TS 1 AT

A) Candela / #3717

B) Joule / 5T
C) Erg / vif

D) Decibel / 2=

14) What should come in the blank space so that lhe series formed is in proper manner: 29791, 24389, 19683, ;

121677 / P =i 5 4T AT AR A6 e wE ure @ 29791, 24389, 19683, , 1216772
A) 17576
B) 15625
C) 17926
D) 13824
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15) At most how many parts are possible when an equilateral iriangle is cut by 2 parallel lines parallel to the base and 1 line
perpendicular to the base? | TSt BETor i AT4TT % THHIGL, 2 FHIFTGL TETA AT ATETT F Fraad 1 T@T FIET e T2 e @77

HHE BT

A) 6
B) 4
C)3
D) 5

16) An image is made from multiple geometric figures (marked with numbers). In the image, some regions are formed. In
each of these regions, as many dots are to be placed as the number of geometric figures thatl has this as a part of it. In total,
how many dots will be placed in the image? / T 5= i1 % saTfadiz o=t & awmay = 2 (Fenar & &) & a9, 7 a9
FT AT AT &1 59 T4 9§, I of fg wariig wd #, Rrat sarfeig srwiagt € g, o goar Fear 81 5o M, B i
fare faig enfia w0 g2

1

A) 4
B) 6

c)7

D) 10

e b e e A e T T e B M WY W b e —— e it e - PPE———

17) Here, four words are given. Out of these, three are alike in a certain manner but the rest one is different. Choose the one
which is different from the rest three. / =gt =% 9r5= R v g1 =78 & i [fEm a8 § v S &, 7% v v1s5 97 21 98 e
AT ST 4 =T A S g

A) ABE
B) NOQ
C) Wz
D) PQT
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18) There are three words given here. The first two words are related in a certain manner. Select the proper word among the

gwen four alternatives whlch bears the same relationship with the third word as in the manner first and second words are

related.

Mount Everest : Height :: Mariana Trench : 7 .

| gt aF A orex B v F) gger a7 oes v Rfar et & FdfEm 81 R = Eaent # § 39 9957 9% W OAgT B, AT AHL e T
ey A e v Y, Sy B weer o ge o ey A 2

TR A FETE  WRYET A 2

A) Depth / T
B) Width / =T=zT¢
C) Rough / #5317
D) Shallow / 39T

19) The paper sheet given below is cut along the dotted line. How many corners will the resultant paper sheet on top have? /

T & 1 Ty ofte =y = T % |y wrer v 21 o o ey oo ofie F e i 2

o s |

- — el — — — — — — — ———_— — —

/\

A) 5
B) 4
)3
D) 6

20) Simon got one and a half times as many marks in Physics as in Geology. His total score in these two subjects is 160.
What is his score in Physics? / BT8R FT Rraefsit & qamae Wit 7 =z qa7 tem® o5 e =7 2@ [eat § 39F 9 % 160
g1 et & e % fraar 82

A) 108
B) 96
C) 64
D) 72
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21) In a certain code, “PROCESSOR" Is written as “RPTTFDPSP". How is “TREATMENT" written in the same code? / T
A% = % "PROCESSOR" #7 "RPTTFDPSP" & &7 # foray wiTar &1 3HT % § “TREATMENT" &7 &% forar siuam?

A) TOFUNBFST
B) TOFNUFBST
C) TOFNUBFST
D) TFONUBFST

22) Rani and Sonali run a 10 km race on a round course of 800 m. If their speeds are in the ratio 10 : 8, the number of times,

the winner passes the other, is / T 3z AATAT 800 Y. ¥ wF Mo T8 ¥ 10 fft £ v St & gk svfraf=t 109 *
T § & 47, s gl uvas wr G e we w87

A) never / FHT TEI
B) once / TF g1
C) thrice / = aTT
D) twice / a7 1<

23) There are five members in a family viz Neeta, Geeta, Rita, Tina and Sita. Neeta is half the age of Geeta and thrice the
age of Rita. Sita is younger than Tina by 3 years. Tina is 8 years younger than Neeta and Sita is 16 year old studying in class
X. Who is the youngest? / 7= TRaTE ¥ 9i= @& § e Jiar, Aar, T21, ST 0 dam Jiar #1239 ar F 39 &1 a@rar g {7
et 3 37 =7 faear &1 1A, EAr 7 qomr & 3 =ver Sy €1 9w, Frar & 8 wrer @ § i {1 39 16 5 § o ag 76y wer F
9% T &) 99 § 59 BT A 57

A) Sita / #aT
B) Tina / #aT
C) Rita / frer
D) Neeta / faT

24) In a certain code language, BETTER is written as CFUUFS. How will DUTIES be written in that code language? / UH
fAfera F=-amor § BETTER %7 CFUUFS % &7 & fora sar 21 36 Fe-amm # DUTIES &7 %% ferar soam?

A) EVUJFT

B) EUUJFT

C) EVUHFT
D) EVVJFT
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25) Among the given four options, three are related in a same way. Select the option that is odd one out. / BRI TR EEna
A s A A A T 8 o e i S s R g

A) Octopus / SitFZMTH

B) Frog / #7#

C) Whale / e

D) Fish / waefT

26) The 420 m long train running at 90 kmph crosses the stationary man in / 90 BT wfd szr $f wia & 2= g2, 420 . =it
A) 18 seconds / 18 #%vs

B) 20 seconds / 20 H&wE

C) 14.2 seconds / 14.2 #Fr=

D) 16.8 seconds / 16.8 #&Fr=

27) A set is given, (24, 36, 27). The sets given in options are similar to it considering the LCM of elements, EXCEPT one.

Find the set that is different. / 7% &z (24, 36, 27) =T T 21 Baes & B fea § & vs 57 grese arh a4t a@( F LCM 77
e ey o w2 Fae e s i

A) (25, 16, 32)
B) (9, 18, 216)
C) (54, 16, 9)
D) (36, 8, 27)
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srer w3 Prfer it & Brf i s w e B ot

Following are the conditions for selection of a Clerk in various

depart fthe G f Ind i i
departments of the Government of India. R . L
—F %(i)wﬂweo%arﬁqcma%ﬁ%ﬁ&rwwwas'@m l
The candidate must :
TRl

i) be a graduate in any discipline with atleast 60% marks. - . . e (. ‘
() . 4 P ’ (i) T&T 3 si3stt gee, e va ae § g gem sfew)

\(iii) =T 28 ¥ ¥ g TRW |
_ . = 1 \(iv) Freft oft wrfrargr & 3 v g =i
[(iv) must have a bank account in any of the nationalised banks., [ﬁ T T o 3w i
(A) IR H (i) FT @rEE, SRR F T agar a1 1
_ | v o7 T ST &, S AT A AR f AR A
lof 1 years, his/her case may be referred to Senior Employment | £ |
EOfficer. L S ﬁ —
I.:(B) Except (iii) above, but has scored atleast 80% in graduation, ';(B) ,T el q?r T ) #ﬁﬂ'{ﬂ‘ﬂﬁﬁmff%@r
' 180% i wTH T §, I ATAS T FAE TSI AT FT

BT ST AT 2
l

\SULITF ATASST 9T AT &1 TS SATARIT o SATETT I, ATTRT
iﬁvhrﬁmﬁi

(i) have the ability to read,write and speak Hindi and English.
i(iii) be less than 28 years of age.

In the case of a candidate who satisfies all the conditions :

I(A) Except (i) above, but has post qualification work experience

his/her case may be referred to Junior Employement Officer.

Based on the above criteria and the information given below,
\you have to take decision.

28) These cases are given to you as on 1st September, 2016. Jasmine Khan was born on 13-03-1992. She has secured
74% in graduation and has a one year work experience. She knows to read, write and speak English and Hindi very well.
She holds a nationalised bank's savings account. She must be:

=g w1 freae 2016 i Raft F e s R §: S @1 i Ste 13-03-1992 FT g 9T TH AT A IR 7 74%
w W 0 € e 3% U 9 o7 7 S §| 9% a5 o= o siyst] el faeay TgAT, FreEEr o e St € OEETd 9% § 366
9 GET g1 a7 I

A) selected / HfAT FEAT FIRT

B) referred to the Senior Employment Officer / aftg s siféerdt 3 wrer fsmm =nfgn
C) referred to the Junior Employment Officer / w8 T1e e «f8=hTeT & qTer SorT 918w
D) rejected / FEdFT FAT FIRT

29) Three out of the given four items are similar. Find the odd one. / &0 70 s7¢ ust & & &7 v S 81 foe 95 £f 9299 4
A) 105
B) 210
C) 342
D) 722
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30) There are six members in a family. Abhishek is elder than Sachin and Snehal. Vishal is elder than Pavneet only. Arti is

younger than Snehal. Sachin, Arti and Vishal are the siblings and none of them are married. If there is only one married
couple in the family and they have a kid, then the mother is: / s =77 % mg Ty 81 e, afm i e & 70 7 727 3|
e F=e 99T | 39 W 27 8| A, Hge § 39 H @l ol A, AAT A7 fFor aHTandt § H7 399 7 FE i FarEd a5t g
7t =R | Faer v aEteeT SreT g o 3% um agr & A1, 6 @

A) Either Arti or Snehal / T & ATZAT 7T HgA
B) Snehal / &g

C) Pavneet / TaTH

D) Arti / st

31) Find the missing term in the sequence: A, 24, D, 21, H, L, 13,/ w F ot g s E A, 24, D, 21, H, L 18,

A) 18
B) 17
C) 16
D) K

32) Three bells ring simultaneously at 1 p.m. They ring at regular intervals of 10 minutes, 20 minutes, 30 minutes

respectively, The time when all the three ring together next is / g 1 == A1 =feat we arg F=redt 81 & Fer: 10 e, 20 fee
A7 30 Az ¥ ForfRe siawt u aslt 81 37 AT T AT S S T FAAL R A UF AT A2

A) 1. p.m./ TTET 1T
B) 1.30 p.m. / 8T 1.30 ToF
C) 2 p.m. / 3TTEY 2 a5
D) 3. 30 p.m. / 3TE% 3. 30 &
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33) A dice is taken. Numbers from 1 to & are written on its faces. The faces with numbers 1 and 4 are adjacent to each other.
Number 6 is on the face oppaosite to the face with number 3. Number 2 is not on the face opposite to face with number 4.
-Based-on-this-information; answear the-guestions that follow. Which of these pairs of consecutive numbers are on adjacent
faces?/ W wieT Frgr Srar 1 1 # 6 o v gy 39 ek i e S §) "er 1 dﬂ?4¢tﬁaﬂrwe‘:ﬂ%¢ﬁﬁ?‘6%’l HET 3

T T FT 8 6= 6 F fawdia g1 @egy 2, 41 4 1 FeAF & [94g FOF H A6l a6l Eﬁam?rﬁzmmmw A & ot
F I SN GAH | FIA I FHG GEAT FiHTHE Fersh T 87

A)1and2/132

B) 6and 3/6 T3

C)4and5/4#75

D)3and2/33fT2

For adm1381on in Co]lege for MCA course, the followmg condmons us Fiers 3§ MCA Fd & a1fler ¥ oo, Frer o sy et

apply The applicant should: F) smaEe
(r) be less than 30 year of age as on 11-11-2016. (0) Cal g 11-11-2016 7 aréme =7 30 T & H9 gHT
|(ii} should be a graduate in Bachelor of Computer Applications R " - )
(BCA) with atleast 86% marks. -(ii) Eh:r ek Sé% s
e tEReT (BCA) # Ie 2T JTfR
(iiiy have scored atleast 85% marks in the Common Entrance Test .(iii) T T U 2% (CET) & &9 & %1 85% &% JTH
(CET). o gt =R
(iv) F7 S27og § 70 ¥ 59 65% 4= 918 a1 g =iz
(iv) have scored atleast 65% marks in the interview. T e el Ay o T e A
In the case of a candidate who satisfies all the conditions: ;(3) Foramer (i) &, AfFw 0 & % 2 | 7 7 aa g
ST Squere TR 70% o i g o1, gey foree o arfeer &
(a) If NOT (ii), but has a work experience of atleast 2 years and o P i ST 21

‘graduation score more than 70%, then be considered for admission
lin 2nd shift. (b) foram (iii) ¥, S Fivw viw 2w ¥ 60% & arfe =i
Tl FET H 90% HF & ATerT T 4T 8 1,

!(b) If NOT (iii), but has scored more than 60% in Common Entrance (fore) F¥erst & mrfemr 3 forg R Ry s &)
Test and more than 80% marks in class Xil, then be considered for

admission in night (shift) college. e & 0 syl vy 7 O e A7 Sy & T 2

ATTET JUAEE FLTE TS SFRTE F ITLTH AT 6 AT IY
In each of the guestions below information of a candidate is given. ﬁwﬁ’awmﬁ & T ST A

‘You have to take one of the following four decisions based on the

information provided and the conditions given above. T T AT 11-11-2016 i qriE ‘wﬁTﬁt{Trt{ 2l
TR ST 3 IR A G AT AT Aot it wen
i

Al the cases are given to you as on 11-11-2016. You have to
indzcate your decision by marklng answers to each quesiicns
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34) Candidate's Information : Somesh Vaidya is a graduate in Bachelor of Computer Applications (BCA) with 88% marks. He
missed the interview as he reached the venue after the reporting time had elapsed. He has scored 92% marks in the CET.

He was born on 2-4-1990. He should be:
| FefteerT AT ST A R =AY A TR AT (BCA) ¥ 88% #FT F AT TE USUE F| A8 FE0AL o 4 T TAT 1
77 I T Rt T F e ¥ ars g 36T CET # 92% 9 e B 81 9% 2-4-1990 FT Fa7 37 A7) 3

A)  not admitted / FTIE=T AET &7 ATR0

B)  admitted / FTFEET TAT ATRT

C) considered for admission in the 2nd shift / 3o fare & =1iaer & oo FE=m B s =@y

D) considered for admission in the night ( shift) college / 71 (forwe) e & arfas o fE= G smar =g

35) Among the given four options, three are related in a same way. Select the option that is odd one out. / &1 77 =712 el
H fim v E °a ° wA A §) gy Fwer 96 S A e an

A) November / FaH7
B) August /=7

C) June [ 97

D) April / @i

36) Among the given four options, three are related when the product of digits is taken. Select the option that is odd one out.

J TR o = et &, SRt T O e e o o e e A ¥ e tae ¥ 3 R e S A ¥ e g

A) 9832

B) 2223323
C) 42843
D) 4692
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|Following are the conditions for selection of a franchisee of S o et AL

| .
XYZ Company. (i) 77 & F7 60% 31 F TG FGFH AT AT
|The candidate must : |

\(ii) 10 FTE TTY AT S AT e HT AT ST AR '
(i) be a graduate with atleast 60% marks. {

(il) have assets of worth Rs. 10 Crore or more . ((iii) 35 =¥ # 59 IF FT FHT AR
|
(i) be less than 35 years of age.

((iv) ST T T g7 TR TSR gAT AR !
;(iv) must have a showroom of his own or rented. '

Eln the case of a candidate who satisfies all the conditions : f:!'rf il 9T T T FA AT THTEETE 3 AT
I(A) Except (i) above, but has a post graduation degree with 1

65% marks, hislher case may be referred to Chief Executive I(A) IR H ¥ (1) T SSF, IFHICATY 51978 66% AT F T
Officer (CEO). (TR T R, TEE AT i e FEE At (CEO)

[T ST ST AFaT =
(B) Except (iii) above, but work experience of at least 2 years (ST ST ST gl

lin business, his/her case may be referred to Managing

(B) 39U1=h ® # (iii) FT SIZFHE, ATIN F 7 § HF 2 99 F7 1
FAT T, THF ATAS FT WAY FAZF FTHST ST AT 2

Based on the above criteria and the information given below, E m W Gﬁ'{‘?ﬂ% ?ﬂ' T@W %F AT T T‘HTCF{'?I' ﬁ.ﬂh
you have to take decision. TR

Director.

A i O e S ORI 1o SR S SR oo L SHE. o NS SR e . - S e |
37) These cases are given to you as on 10-12-2016. Mohan kher was born on 10-03-1986. He has secured 78% marks in
graduation and has assets of net worth more than Rs. 30 Crores. He has his own showrcom on Club road, Delhi. He must be
J 7% HTE 10-12-2016 ¥ Rafr 3 srpere arrdr R 70 §: g A% F7 W 10-03-1986 FT AT 971 T FAE 7 78% 4 av
& T I9F T 30 FIE § AfeF qou T 64Ul g1 799 Us, [Sosl] § SHHT 97 G F 75T gl al IHHI:

A) rejected / wETRT FAT AR

B) referred to the Managing director / & 2o F 978 ST AR
C) selected / Tgfded AT =TET

D) referred to the CEQ / CEQ ¥ 9TH 94T ATRT

38) pr@q='(p+d)+p, then the value ofé@{ﬁ @ 4)!11f%p-@q= (p;q)+ﬁ*§.€r5@(6@4jwwﬁ:
A)3/8
B)4/3
C)5/6
D)2/5

39) A figure is given on the left with a pattern. In which of the four images on the right we CANNOT find this pattern as a part
of that image? / &€ &iiT we daf F wrg v ey € € &)1 &rs sire iy =< Foslt & & e g 39 ooy & e & =0 # 72 e 7gf e
TEAT?
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A) 2
B) 3
C) 1
D) 4

40) Directions: - Given below are two matrices, each containing two classes of letters. The columns and rows of Matrix | are
from 0 to 4 and that of Malrix Il from 5 to 9. A word is represented by only one set of numbers as given in anyone of the
options. The set of numbers given in the options are represented by two classes of alphabets as in the two matrices given
below. A letler can be represented first by its row and next by its column number. For example, W can be represented by 03,
11, 30, etc. L can be represented by 65, 87, 98, etc. Similarly, you have to identify the correct set for the word given in the
question. / TEer: F1=r 2r wrege B 1 &, 92w F e B AT A9 1 AR | R FE AT 0 H 4 7% § & arsgg | F5 7 9 a1 UF
o T AT F FAe UF G2 ¥ Feta By § 5w g f7 Awer § R maw 21 Rt # B St F e w A R ar
ST HFAT 81 T3 F oo, W FT 03, 11, 30, Temts & grey st fm st =3 &1 L #7665, 87, 98, T/t & g1y A=fe fmm =
AT 21 T AT Ry wr § B ersx F o wEY @ A wgEean 2em

Watrix |/ :1%‘}? | Matri Il 7 &=l

o 12134 i B 7 @ :
0| D R A | Wl M al & L E W 0
1| A (e R I D 6 L W 8 5] E
2| N | DIW]IR|A T\ M E]lO ] 8 |t
IIW]IAIMNJD]|R gl o | s | L E v
4fR /MDA W 9l E 0 YV L 3

ANSWER

A) 20, 20, 78, 11, 86, 23
B) 24, 32, 67, 44, 57, 23
C) 10, 41, 44, 67, 69, 40
D) 31, 04, 55, 03, 01, 95
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41) A cube of side length & units is taken, On all its faces, Red paint is done. Now, it is cut into identical small cubes of side
length 2 units by cutting it along its length, width and height. Based on this information, answer the questions that follow.
-On-a-diee-with-numbers-written from-1-te-6-en-its faces,4-is-written adjacent to- 1, 2, 3 and 6. What number is wrilten opposite
to number 47/ 6 JFz ST ST=TS AT U o fF7a7 ST &1 e el e i SO 0 & 7 ST &1 30 5 F6y v, +eré A
5T F GHTGT Fed gU 2 A G FATE a1 GHET BIE Gq1 H T ST ol 3 SAI F AEW T, 77 37 T 74T F I

F T T U SEE B 0T 1 6 % $Y oy gf wemr, g 4, @A 1, 2, 3 3% 6 F aiuwe et v §1 w7 gy " 4w
Terodye ferdt 5 87

A) 15
B) 8
C) 18
D) 12

42) In a certain code, LIYT is written as 54000, then how is KEJD written in the same code? / T& fAfara 5= & LIYT %1 54000
& w9 H erEr STar €, 7 6 Fe 6 KEJD & 4 forar son?

A) 1542

B) 5722

C) 2200

D) 3541

B —— = = = s e D T s -

43) A girl introduces a boy as the son of the brother of her father. How is the boy related to the girl? / T= TEFT U TEH AT

T o AT 3 ATE F 9T F w0 H AT ) I A= F 39 AH! & 779 F7 Rear g2

A) Uncle / 5m=m
B) Nephew / =i
C) Cousin / =9I /TS

D) Son / =T .

44) What would be the sum of first 7 terms of this sequence: 13, 91, 637, 4459, ........7/ T8 g@=T T GgefT 7 FEATEA T 1T 34T
I 13, 91, 637, 4459, ........7

A) 1774341

B) 1784341

C) 1984341

D) 1784441
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45) Which of the given option will NOT share the same property as the elements of the given setl: (Algebra, Calculus,
Geometry) / B 7 Fer & & 1w a7 SFeT 38T T0TEATE FT ST AR O ST =0 0 Je (@S, e, sATEiE) F aw

FAE?

A) Numerical Methods / srareg=h &8
B) Complex Numbers / #fEgg H=am0

C) Optics / ez

D) Quadratic Equations / &=t afi=or

46) A cube of side length 12 units is painted with Black colour on all its faces and then cut into small cubes sach of side

length 4 units. How many small cubes will be painted with Black colour on at least two of their faces? / 12 A= =aTs #t = %
e = T Y et e 9 &y v A7 {28 4 g et e F = § e T v R aw g S w9 A 2 e

FT T F B2
A) 20

B) 27

C) 12

D) 8

Following are the conditions for selection of a franchisee of

!XYZ Company.

The candidate must -

(i) be a graduate with atleast 60% marks.

!(ii) have assels of worth Rs. 10 Crore or more .

(iii) be less than 35 years of age.

(iv) must have a showroom of his own or rented.

In the case of a candidale who satisfies all the conditions :
(A) Except (i) above, but has a post graduation degree with
65% marks, his/her case may be referred fo Chief Executive
Officer (CEQ).

i(B) Except (iii) above, but work experience of at leasl 2 years
fin business, his/her case may be referred to Managing

Director.

Based on the above criteria and the information given below, |

iyou have to take decision.

IXYZ vt i St 3 e i R e o 31 weefia

(i) F9 F FH 60% AT F HTY HIAH BT AT

(if) 10 #Te w3 7 Zwdy arflren =y i #afy 2 AR

(iii) 35 A I T T FT FAT TR

((iv) @A = T AT R # eEE 2T =i

T et or i T F AT I F e i

(A) ST 3 3 () T v, sele 3 e 65% S 5

TR oy A, 3 W A e A A ft (CEO) |

T ST ST HEAT B

(B 39T T (iii) Y BIEEE, ST w0 99 2 79 FFE
VT B, I AT 1 T 9 w7 S A7 w9 gl

|

|3""~|TFFIIT-T3?T A A F T I F s a7 e FAoi
i?:'i'FfT%I
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47) These cases are given to you as on 10-12-2016. Dayanand Khot, was born on 10-01-1959. He has secured 59% marks

in graduation. He has assets of net worth more than Rs. 2 Crores only. He has a rented flat to stay in Jaipur. He must be
TG T 10-12-2016 - ¥ ST st fow T §: @amE 9iE F S0 10-01-1959 FT g3 41 39 |aw F 59% 3% 9
B &1 ww a2 F0E & it e 7 & aviy §) S # w ¥ o saw B a wie &) 9 smen

A) referred to the Managing director / Serers: fREere & a7 A7 A1iE0

B) rejected / @rEdIga AT WTRT
C) selected / Ffaa Fa7 =i

D) referred to Chief Executive Officer (CEQ) / Fra® FTavTea stiermer (CEQ) & 918 HsiAT AT8T

Following are the conditions for selection of translator in various
departments of the government in India. The candidate must:
(i) be a graduate in any discipline with atleast 65% marks.

(i) have fhe ability to read, write and speak Hindi and English
besides the regional language of the state to which he/she
ibelongs,

;l(iii) be less than 30 years of age.

!_-(iv) must have Indian Passport.

In the case of a candidate who satisfies all the conditions:

(A) EXCEPT (i) above, but has a post graduation degree, then
his/her case may be referred to State Employment Officer.

(B) EXCEPT (iii) above, but has experience of 3 years after post-
graduation, then the case may be referred o Personal assistant,
State Employment Officer.

Based on the above information and criteria given in each of the
following questions, you have to take decision. These cases are
|given to you as on 1st September, 2016.

R |

o forT orl &1 SHEET A
!
(i) T I FH 65% ST F wre AT o o 7 I5ue gy

ElFA
(if) s s ¥ S T ¥ srerrer B S ot g,

E

rEe SR e i awar g AT

(iii) 30 TF F FH &g BT AR
(iv) STTT TTYTE ZIAT STa99F 8l

X TF IFH AT FHY AT 0 T FT @

(A) Foramr T (i) %, =T o Tree-trsuer 6t 2t 2
AT, THF HTHA T =T ST AFHTE T Fei1 S|

(B) e 3w (iii) ¥, SifF Tree-Isuee & a1 3 '
|EFF ST & A1, AT 7 e weras, TeT e srfeT
T HT ST

TUCR ST ST A= & w10 g3 wy ® f&w o Araest
o SATETE T ST (97 SAT I 0 &t Jrer sirhr
forda 1, 2016 #7 a1t &7 fw 7 &)
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48) Avrel Jolie, who is 25 years old, belongs te Tamil Nadu and has secured 64% marks in her graduation and 71% marks in
her post-graduation. She knows to read, write and speak English, Tamil and Hindi. She has an Indian Passport. She must be

| @37 AT oY arg 25 9F 8, afiears i T8 vy § T 39 T IS H 64% 3 AT TeE-Uspuer 1 71% i griwer fhm
21 T ST, @t s B uaer, Praar s aem et 21 39% o ST e 83y

A)  referred lo State Employment Officer. / 775 =TT A9 & T 93T STAT FTRT

B) referred to Personal Assistant,State Employment Officer / =T T, T19r T Afa=rdT 3 e =77 5T ;e
C)  selected / AT 7T =TRT

D) rejected / TET FAT FAT ART

An Automobile company decided to recruit management lrainees o SETTATER TR 3wy Ry et 6 v s

for its Manufacturing Plant. The company laid down the following SorT ST T g 77 Bt e R et

criteria for selecting the candidates. 3= 3 P R wrres Raifa R

A. should be automobile engineering graduate with minimum 60%

marks. A. 53 I T 60% T ¥ AT STz SRt
IB. should have done atleast a diploma in automobile engineering. |;1°_1.“.’i ET AR

C. should be more than 21 year of age. B. sfi@mTaTeA ST § 5 & 7 0 [ B
‘D. should have scored atleast 70% in Common Entrance Test ZAT =R

‘;(CET}. C. 3T 21 79 # AT 21 ATl

In the case of a candidate who satisfies all the criteria: |D- AT 297 T (CET) & %9 & 9 70% T

J(i) EXCEPT (A) above, but has secured marks above 55% and BT AT
below 60% and also have a working experience of 2 years, then |m ek e TEETY W ATIEET R FEAT 8
his/her case may be referred to the Chief Executive Officer (CEO).

:(ii) EXCEPT (B) above, but has secured more than 90% in CET, % grterer e & e 3 2 = v wnieE off g AT,
then his/her case may be referred to the President. AT WA LT FTATAA AFAFTE (CEO) i 1T 71|

‘Based on the above information and the criteria given in each of the (i) AT 37 (B) &, #fFa CET @ 90% & #¥fer grii ﬂ

following questions, you have to take decision. These cases are FoRaT 2 T, SEET HOAAT A FT AT S0

‘given to you as on 1st October, 2016. I ATAHIL ST A T2 0 e sy # fEm
HTTEET & AT TT ATTHRT (0T AT ) 7 G o

i Al N
TR AT 1, 2016 # q790E &I By 90 F)

(i) Fram o (A) ¥, A0 55% i afder dv 60% i‘rwr
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49) Ali Khan is a graduate in mechanical engineering passed out in 2011, with 61% marks. He was born on 11-1-1989. He
has scored 77% in CET. He has secured 81% marks in diploma in mechanical engineering. He should be :

|- T 61 %2041 3 I=0f AFFFe ST o v 39 21 38 11-1-1080 F1 437 g 9m 389+ CET ® 77% WA
farar &1 3w A SefifRatar & e # 81% = griee o 81 39

e

A) rejected / TEI FAT SITAT ATRT

B) referred to the President / 1£&t 3 T SISTT STTHT FTTGT

C) referred to the Chief Executive Officer / W FTITTE AT 3 GTH ST ST AT
D) selected / AT SITAT ITRY

50) Which of the following words is different from others? / fFerferfae =i & & == |7 g@< & a9 872

A) Immerse [qesia
B) Emerge /Z9%
C) Dip /28 ST

D) Douse /f¥THT

51) M is the father of K who is a doctor. L is the daughter of T who is a housewife. N is the father of L's only brother who is a
Lawyer. K's mother who is a Nurse is the wife of a Lawyer. There are two twin sisters’ X & Y whose father is M and their
profession is Teaching and Tailoring respectively. L, is the Principal of a school, who is unmarried. There is only 1 lawyer in
the family. Find the FALSE statement if K gets married to a businessman. / M, K 57T fiaT 2 st us stwec 81 L TR 3y s ow
iRl &1 N, L 3 gefter o€ a7 T 2 5w o 21 K i wt S w9 &, w o i vt 81 X Y & et awt & R R M
© 9T I T e TETAT S g 1 L us e (e @ o srfeerRa 81 afere # Fae 1 gdhier &1 e Fue e e K
T ST § 4787 FdT 22

A) K will be the daughter of N / K, N 47 38 it

B) K will be the granddaughter of T/ K, T #T Tiet g+

C) K will be the sister of the tailor / K, &sif #i srge 2131

D) K will be the niece of the Principal / K, fifarmer 7 wefisit giir

52) What comes in place of question mark (?) in the following number series? / FeferfEe wwear sweem 7wy frar (2) F w7 1
FAT AT E? 3, 27, 9, 135, 15, 2, 21

A) 300

B) 325

C) 315

D) 320
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53) Three out of the given four items are similar. Find the odd one. / & 7 =77 rgzai & & 7 7% 39 81 97 9ma=% Ff w319
CiL

A) 2311414132 “
B) 923

C) 416416

D) 5141

54) Select the option that is odd one out among the given four options. / = 7 =17 Rl § 38 BT 71 797 57 51
Aerge 35 2)

A) 7025
B) 4225
C) 1225
D) 5625

55) There are three words given here. The first two words are related in a certain manner. Select the proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

Incorporeal ; Material :: Majestic : /

a1zt i oz B o B) wEer 2 o v i a8 3 Al # Roomr = R 8 & 39 3R gm0 A A AL e F
mTer IR g A AT A o afE i wge o ge aer et 2

N 1 TR e o A

A) Royalty / Tt
B) Noble / 7/==
C) Splendor / =7

D) Paltry / Fgett

56) In what way can this set be classified into two different sets: (8, 36, 27, 81, 125, 49)? / fmr 1% & za wagg +7 a1 fAforsy
w2t # affEra =i 9T 2 (8, 36, 27, 81, 125, 49)?

A) (8, 81, 49) and (36, 27, 125) / (8, 81, 49) ¥ (36, 27, 125)
B) (36, 27, 49) and (8, 81, 125) / (36, 27, 49) 37 (8, 81, 125)
C) (36, 81, 125) and (8, 27, 49) / (36, 81, 125) 37 (8, 27, 49)
D) (36, 81, 49) and (8, 27, 125) / (36, B1, 49) &7 (8, 27, 125)
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57) Among the given group of 4 images, which set of images can be classified as a group? / R 7w 4 == & &, Rt & B
HHFA T UF FHg § a5 (AT 57 q6a7 572

EEE

A) (2,3, 4)

B) (1, 3, 4)

C)(, 2 4)

D) (1, 2, 3)

58) A rectangle is drawn on a sheet of paper. A circle is drawn over this rectangle such that the diameter of circle is greater
than the breadth of rectangle but lesser than the length of rectangle. In how many parts would rectangle be divided into at
most? / TR 77 TUT 9T UF AT FATAT TAT 21 TH ATAT 9T I R0 UA G797 § o g9 F7 = A £ F2TE F gem § afew g,
afE arre Y #are O e § w81 arge Aftead frae s F Ra g

A) 6
B) 3
C)4
D) 5

59) A $ B means B is the sister of A, A @ B means B is the brother of A, A # B means B is the father of A, A * B means B is
the mother of A. Which of the following means N is the father of M? / AS B FT 214 B, AFT o577 &, A@ B FT a4 B A &7 9T% &,
A# BT B, AFT AT, A* B &1 74 B, A 1 7l & Fsrifera & & frma avd N, M =7 far 82

AM@T#RS$QON
B)P#M@O#N

C)PSM@T$O#N
DDM@ROQ#T$N
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60) In a certain code language, HKROG is written as JNWVR, then find the code for RDOCF. / & 2 Fie-+7ar § HKROG
FT JNWVR F =7 % forar s & 91, RDOCF  fon 2 =71 %1

A) TEYTD "
B) TGTJQ
C) THYGR
D) YTTRG

Page240f56




Set |d : 31487 20 07-12-2016 — Baich2 — Group4

For: Rajya Sabha Secrelarial, Parliament of India

Section 2 - PART B

‘e No. of Questions: 6C

61) Which among the following is an Indian academy of dance, drama and music? / fer & ¥ i @ us ge7, A1 T @i €F
I T AFIEHT g2

A) Sahitya Academy / GTTEeT TFHTEHT

B) National School of Drama / RTer T S ZTHT

C) Lalit Kala Academy / @fere e sy

D) Sangeet Natak Academy / Tifie 7es et

62) Protection of environment is incorporated as / TaTEor &t T2&T # & &7 & anfis g
A) international convention / siTeTgE HfeE
B) directive principle / fA=er g

C) human right / sTeaTie=FTE
D) fundamental right / #ifer stfame

63) Which of the following is the full form of SIDBI? / fReifEa & & F17 SIDBI F1 f &7 87

A)
B)

State Industries Development Board of India / ©&z ZeedisT Taaaie &% 3iF f=2ar
Small Industries Development Bank of India / #0Te Se&is Sa@THe a4 A 34T

C) Standard Industries Development Bank of India / ®2€ 219 Sa=TT#He g% &% 21247
D) Special Industrial Development Bank of India / T9srer $=feeas SaaTHe g% afh =47

64) Bread and Butter, printer and ink cartridge illustrate the type of inter related demand known as \ sfifasmmia (2% U= 3E),
e te & w1st Aras TOETT Hatdd wWiv P aehre £ et w1ar 2

A) Rival demand \ wfag=T 7T
B) Joint Demand \ =% JTT

C) Competitive demand \ ufaergtem= gi
D) Composite demand \ &f&4 g7
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65) 'No part of our Constitution is unamendable'. This judgment was declared by / 'g5T% T F7 Frs o FBeam afEFw=+ T 78f
& 75 Ty Feen g =i R T uT?

A) Allahabad High Court / Z=T181ETE 35 =144 "o
B) Punjab and Haryana High Court / 9=a 3ii S4TI9 7T

C) Delhi High Court / famft 33 =mam=a

D) Supreme Court of India / #T¥d %1 7= ATHTET

66) Zinc metal is extracted from its ore zincite by reduction with carbon monoxide. Itis an example of / 5 g1d Freq
THTAFIZE F | TLF BT 30 A05F iz | Fmar Jrar g1 78 s v 3387w 87

A) Acid-base neutralization reaction / @e-are fwsefiT =T 7 saETm 8
B) Single displacement reaction / TF Breamas afdfmaT w1 38mm 2

C) Combustion reaction / &g e #1 =877 &

D) Redox reaction / v=ia AT aTH=T 7 337870 &

67) Which one of the following states is granted special autonomous slatus by Article 370 of the Indian constitution? / T &

TfareT i 87T 370 F aga Mt ¥ 7 B s i A g=1 By nar 22

A) Manipur / 7o

B) Madhya Pradesh / & g2sr

C) Mizoram / f=ien

D) Jammu and Kashmir / s =T 9T

68) Mahatma Phule dedicated himself to the cause of the oppressed sections of society and women's upliftment. For this
 reason he founded the / STETFRT er & T2 1 TS 3 A4 791 5 (BeAT A% WA F Ieqr & Frr awfia e am 2 e, 3

A) Satyashodhak Samaj [ SrA<TTa THTS
B) Prathna Samaj / STHT 51

C) Vedic Samaj / T2 a1

D) Arya Samaj / =T FHTS
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69) What is INCORRECT with regard to Territory of the Union? / FT & F Fa aTieT Y=oT % Hag & SA8 & &7 T9d 87

A)__Union Territories specified in second schedule / g8 sigg=t # f3fA 1< %w arfive a3
B) Article 1(2) of the Indian Constitution / WTetT sferem F1 sig=a 1 (2)

C) State Territories specified in first schedule / Tg#T sIqa=T # TEA D Fg e waor

D) Territories acquired / stRATETeT waer

70) Which of the following fetched the Nobel Prize for Rabindranath Tagore? / e & ¥ fwer Tfieama 3¢ F7 Free TEEhTe
TeereTaT a7?

A) Gora / 77T

B) Gitanjali / fratsrfer

C) Shesher Kobita / §r4re Fifear
D) Chaturanga / g%

71) Which of the following states have jointly topped the 'Ease of Doing Business Reforms Ranking 2015-16'? / F&ifha & &
o st & wgen = & o a7 fsee Reret ¥Er 2015-16 # Sfe wame amm €2

A) Andhra Pradesh and Telangana / 37T Wesr &% Se=THT

B) Manipur and Rajasthan / wferqx sie Tr=redr

C) Andhra Pradesh and Tamil Nadu / siier =1 37 affeams

D) Jharkhand and Karnataka / <@ 4T F1eH

72) In November 2016, India and which country agreed to set up a Joint Working Group (JWG) on the vexed fishermen’s
issue? | FEET 2016 T, WK A e o ¥ fAerareTs Hgeriy ¥ 4T 0% U 94 w7 9 (JWG) wnfie w1 a7 agafa €17

A) Sri Lanka / et
B) Nepal / Fq7er
C) China / =T

D) Bangladesh / Fierraer
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73) Who bagged India's first ever Olympic silver medal in Badminton at Rio Olympics 20167 / &= faT d=iis 2016 7
T=THeT § GF 1 99999 @A 759 e a1

A) P. V. Sindhu / P. V. g

B) Jwala Gutta / ==T=T 2T

C) Saina Nehwal / @241 J&are

D) Ashwini Ponnappa / @ T graear

74) Which of the following is an example of physical change? / = whad #t Fs § & #1797 vF 33579 §2

A) Boiling of vegetables / #f3a=1 FT 3a=1A7
B) Boiling of rice / FTaw &1 3aaAT
C) Boiling of sugar syrup / ST4=T T JFFAT

D) Boiling of an egg / &% & Za@T

75) Who was the First Flag bearer of independent India’s first contingent at the Olympic Games in London 19487 / #=7 #
1948 ® ST =T | Fe WTTA & Tg & 1 TEAT 05 AT8H Fi9 477

A) Sam Jones / &7 ST

B) Khashaba Jadhav / FemaT sira=
C) Milkha Singh / =T &z

D) Talimeran Ao / ATRHTT TAT

76) Who among the following has been elected Chairman of the International Chamber of Commerce (ICC) on 15 June
20167 / frafarfem & @ B 15 57 2016 FT Teavae Fw=y A6 FH (ICC) F FaT8T % &7 F TA7 77 87

A) Rakesh Bharti Mittal / 71391 a7 ff=et
B) Sunil Bharti Mittal / g1 wreeft e
C) Jethabhai Patel / @rate T2m

D) Rajmohan Gandhi / TTsHTEA e

77) Alfred Nobel, the inventor of dynamite belonged to which country? / SPTRTHTZE T ATfaT=, 173 A B 20 7 47

A) United Kingdom / gaTz2= =
B) Norway / 7fa

C) Denmark / ZHHTH

D) Sweden / Tz
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78) Who has been named for 2016 "Lata Mangeshkar Award for Lifetime Achievement” instituted by the Maharashtra
government? / WETXTE HTHIT GTT €4TiUe "FaT Hirershe Tehersd aaaae Teene’ 2016 F o fF srfae frar w2

A) Sajid-Wajid / ariSre-amfe
B) Ismail Darbar / 3T S0ET
C) Anand Bakshi / aig awsft
D) Uttam Singh / 3%i% ffig

79) Who was appointed as the captain of the Indian women hockey team for the Rio Olympics? / Rt sirefae & forg weaig
iRt gt &9 % FaT & = 7 359 Mg B m@r ar?

A) Ritu Rani / fg =TT

B) P. Harika / . gft=r

C) Sushila Chanu / g¢itaT =1

D) Deepika Kumari / 9T TATL .

e e e e e e T v e — - - e paam e

80) It is a writ issued with a view to restrain a person from holding a public office to which he is not entitled. Which writ is
this? / 7rg e 3a =fSF &7 7 a7=or Sen & QhaT & ST e % T FTH H TET ST & et T8 ARSI 7 Er A i 6y e 27
A) Certiorari / SErqur-=ie

B) Habeas Corpus / &1 Teqsf o

C) Quo Warranto / sfa=rre gear
D) Mandamus / TTHTSST

s e - — — e e R T ==

81) Which of the following properties of light change during the phenomenon of reflection? / THTeT T HI7 &T T[0T TXTAHAT T
AT F AU a8qqT 872 .

A) Wavelength / aiwraed
B) Intensity / dfaar

C) Frequency / @193y
D) Velocity / 3
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82) The team Patna Pirates belongs to which sporls league? / Zt9 TzaT 91572 & &1 #17 7 =T g2 87

A) Hockey India League / BT SreaT T

B) Pro Kabbadi League / ¥T =21 & "¢
C) Indian Premier League/ = diffae «fiwr

D) Indian Super League / £ oz @7

83) Tansen, considered as one of the greatest musicians in India, was chief musician in the court of / §T7a ¥ a9 72
FAftARTet 3 1 T H AT AT AT AT (3 3 27§ e A 47

A) Jahangir / siERfT

B) Bahadur Shah / #8137 T8

C) Shahjahan / 9rTgsiet

D) Akbar / #FaT

84) What is economic botany? / @fd= smeTfarerm #1 £7

A)
B)

C)
D)

Commercial usefulness of plants / = eafa{ F =TITR#F FwTHET

Commercial exploitation of plants to improve world economy /T eferasar & HqaTT 7T 5 B meri) F1 s
ATH FSAT

Destruction of plants by people for their own use / fR=t == amer & P @t g FFoTtagy 57 Hamr
Commercial exploitation of plants by people / F==afdat =7 @RIl Z121 FT0TETF 19y I57T

85) Which of the following are the two types of Vaccines that protect people against Polio? / &% ¥ & = & qiferdT & f&ars

AT Y T A AT £ E T R

A)  Injectable Polio Vaccine and Inactivated Polio Vaceine / $sreae qrforaT F5fia v sanfFzaze difer Fwfia

B)  Encapsulated Poliovirus Vaccine and Edible Polio Vaccine | Tadramiee qferaramssa a0 &7 ufZam Jiferam i
C)  Ingestible Polio Vaccine and Convulse Polio Vaccine / Z5fEzera Tiferdt S=afi «fie deres wriem fefi

D) Inactivated Polio vaccine and Oral Polio vaccine / zafdzaes TiferaT Fefie i sieer Triar S

86) Who among the following won the Quidditch World Cup 20167 / ffrer % # frmer fi=fE=r e =7 2016 Sfiar?

A) New Zealand / =Isia=
B) Switzerland / Fazsrsi=
C) Australia / sitezform

D) Denmark / =THTH
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87) Where among the following does the confluence of rivers Mandakini and Alaknanda take place? / TarfEn1

AT ATFAR]D
ARt &1 de e v 9T graT 82

A) Rudra Prayag / ¥ 9317
B) Manasarovar / ATHaaT

C) Rajmahal Hills / Trsregst T Tgrizgr
D) Ladakh / @rgTe

88) Which Maratha ruler had made Raigarh as his capital? / & 9¥TaT 9T 7 TTAWE %7 AT TSYTAT SH79T 977

A) Chhattrapati Shahu / @wfd @7g

B) Chhatrapati Rajaram / @=vfd Tsmas
C) Sambhaji Mahara] / §8Ts HERTS

D) Chhatrapati Shivaji / g=far fararsft

89) In November 2018, PM Narendra Modi inaugurated the 1st International Agro-Biodiversity Congress 2016 in which of the

following places? / daT 2016 ¥, TaTTa=T 7tz AraT 7 e st & § Fgi vgem dauprT $i-s Effaar wh 2016 =7

A) Kolkata / FrersraT
B) Chennai | 39%

C) Mumbai / Hré

D) New Delhi / 7% faweft

90) Malik Muhammad Jayasi wrote the famous epic "Padmavat" in which language? / wfor wigere st 7 fr wror # wfég
HgTETeT "TarTEe” e 4172

A) Urdu / 5% -
B) Hindi / &<t
C) Brajbhasha ! @=rdmeT

D) Bhojpuri / STsTET
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91) The concept of the controversial Uniform Civil Code throughout the territory of India, emanates from / AT F TT50== 97

A)  The Preamble which provides for the unity and integrity of the Indian Union / STa=T &1 ST 19 59 6 A7 A7
- grdedr & A wET w2
B)  The Fundamental Rights which provides Right to Equality under Article 14 / 5T sif@ame 7 s=a8 14 ¥ 7ga 0@
F7 @t wam wvar
C)  The Directive Principles of State Policy laid down in Article 44 / #(s57 44 & FPatfia usr & {fF FEas Faia
D)  The concept of Socialism and Secularism as mentioned in our Constitution / 97T §fFeT 7 3eafEm A== 4T

92) Who was the Greek representative who was sent as an ambassador to Palaliputra during Mauryan dynasty? / 513 =91 &
AT TR & o v v F w0 # Se i oA w2 e

A) Megasthenes / TTTEsAA

B) Plato / w2t

C) Avistotle / vfiwzrzer

D) Socrates | ="

93) Which among the following is the largest inland salt lake of India? / 7% & # ®t7 Y v w1 F1 7997 F2T AT A7 7%
(e i efter) &2

A) Wular / ga%

B) Chilika / R

C) Pushkar / qeT

D) Sambhar / #iw?

94) Which is the brackish water lake in Odisha? / frwifam & i &7 32 i = aret £ w7 22

A) Chilika lake / Rz zfi=
B) Burudi lake / %=1 3119
C) Dimna lake / &7 =fier
D) Ansupa lake / =TT 3=
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95) Which of the following technigue is used to estimate the quantity and quality of groundwater present inside the rock? /
L M 1 T 0 o e B R e e Bl e L L R 1 0

A) Hydro Mapping / grasT &

B) Hydroponics / ZTgmiae -
C) Aqua refining / Tz fewmrefaT

D) Aquifer mapping / Tt T

96) In relation to sports fraternity, what does |PC stand for? / @« 29fT % &= # |PC #7747 74 §7

A) Indian Polo Council / Ef2aw qyer FiafEer

B) International Paralympic Committee / Sex4e X ieas Rl
C) Indian Paralympic Committee / ZfZg frerteg= Fia<r

D) International Paragliders Committee / Ee7m e SamaTE=sd FTHET

97) Which Kakatiya ruler shifted his capital to Anamakonda near Warangal and took the title "Tribhuvanamalla"? / &
FTFATT YTHT T ATAT TISAGTAT FT AT F T GRS LA Rt 9 i s Brgaeraee frar 917

A) Rudradeva / ¥589

B) Prataparudra / 9oT9%%
C) Mahadeva / 7gTed

D) Prola | / 92T |

98) What is the age of retirement of a High Court judge in India as of April 20167 / &% 2016 F SATETT T4 F 39 AT F
=raTdTer # FarfAg it a e g2

A) No age fimit / 7€ @ T 727 §
B) 65 years / 65 I
C) 62 years / 62 a0
D) 60 years / 60
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99) What is the rank of India in 2016-17 Global Compelitiveness Index, prepared by the World Economic Forum Global

A) 76
B) 115
C) 39
D) 58

100) The work done in moving a unit positive test-charge across two points in an electric circuit is a measure of / T 7T §
7 aizez & g1 IfA7 FR e THAT-ATS 1 qa Fe H T w0 B T A 22

A) current / FTE

B) potential difference / Ewmaias
C) power / o=

D) resistance / wfA7Te

101) In which of the following states of India is there an availability of resources of in situ monazite, established by AMD as of
September 20147 [ st  Fsrferfre far o 8 gor w47 77 WieTsTee GAraat £ 3eear 3, 5 fEa 2014 # AMD grr

A) Rajasthan / 715419

B) Bihar / g™

C) West Bengal / wf2r @71
D) Haryana / gfi=rmorr

102) From which of the following trees can quinine be economically extracted? / fRsiffRm W2t # Bl & e snbis =7 &
Rt s " 272

A) Coconut tree / AT F1 72
B) Cinchona tree / BT 02
C) Mango tree / 9 =T T2

D) Horse chestnut tree / &9 =&z T2
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103) Where was the first meeting of National Committee on Trade Facilitation (NCTF) held in October 20167 / asza< 2016 #
TS FOAE @i o2 Biafoeas (NCTF) Ff Tgeit e F7 srsr gt &= w3y a1?

A) New Delhi / 7% fa==it
B) Mumbai / g=rs.

C) Hyderabad / g&¥raT®
D) Indore / 25T

104) In respect of introduction and passing of bills, identify the INCORRECT statement. / &= &1 &ie 38 91ie Fed F are
TR & AT FAT F T GG F0

A) Bill pending in the parliament shall lapse by reason of the prorogation of the houses / #¥% ¥ sifad &=aF a7 %
HATEHT o T THTH BT AT §

B)  Bill may be introduced in either houses of the Legislature / &= Famear F BT ot aea & 9o gy smasar

C)  Bill pending in the legislative council shall not lapse which has not passed by the legislative assembly prior to its
dissolution / faam witws # wfee fagme, ST 36 W 19 T Tge TSaTe o1 gy Tiia 781 (%47 747 &, THIH 76 gl

D)  Billis deemed to be paésed if agreed to by both the houses / 3T &A1 g1 Feufd B st o¥ fE e i gem AT
ST &

105) From where was India's latest communication satellite launched in October 20167? / SFZaT 2016 H WIRA F T 8 FH=L
IUUE T Fl H Al By www a1?

A) Bangalore / &31ee

B) French Guiana / %= T[T

C) Sriharikota / {TgfereT
D) Thumba / g7
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106) Which of the following is NOT an island of the Lakshadweep islands? / faaferfem & & st a7 marg i 51 7yg #r g 72
82

A) Baratang / FTTAT
B) Amini / A

C) Agatti / srr=tt

D) Kiltan / B

107) The ancient inscriptions are generally classified according to their content and purpose. The Lumbini pillar inscription of
Ashok is whal type of inscription? / ST faTeTTeraT FiT AT TF IThT ATaee A7 S2eT 5 AHTT a5 AT TAT E) A9TE F
Aftal = o B g 51 R 272

A) Commemorative / #r7ofix
B) Both donative and dedicative / ZAT &1as7 #iv FH T
C) Dedicative / wafie

D) Donative / aTT=1

108) Who first discovered a direct sea route to India? / 1o 3 Frm z=ir wraer B s #dr st ot 6 drsy £ 72

A) Germans / ST
B) Dutch / ==
C) French / %=

D) Portuguese / T
109) What was the capital of the earliest Badami Chalukya dynasty? / Ao ararft =meer der £t 7rsrary 2 17

A) Kalinga / 7T
B) Vatapi / ATATHY
C) Mysore / #q7
D) Anga [ #7T

110) Who lifted the 1st BRICS U-17 Football Tournament 2016 held at Goa? / TraT # sirifar T&aT BRICS U-17 At e
2016 e Sfiar?

A) China / ==

B) Brazil / @rsfier

C) Russia / &4

D) South Africa / =f&mr afiET
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111) The citizens in India have been given the Right to Vote on the basis of their \ ‘913 & AT T 598 & Fr araw w91
FA T ITEHTC YET AT Ty g

A) Education \ frar
B) Health \ =mmeay
C) Property \ sofsy
D) Age\ &g

112) If the president dies, resigns or is removed, the vacancy created has to be filled within / 3f% Trgafa T g eT ot &, 3
D G e W B U B - I T o e B K -

A) 12 Months / 12 \Tg
B) 6 Months / 6 AiTg
C) 9 Months / 8 978
D) 3 Months / 3 9T

113) "The Scientific Method is a step-by-step method for performing experiments and other scientific research”, this theory
was developed by which of the following scientists? / "&sria= Tafer, =i s s Fsnfde sarqeami #1 frarfaT w07 =7 F3u-
wv-Fen f&fer g, 77 fgia Peteiea S # & e Fwea HeEr 17

A) Francis Bacon and Rene Descartes / SHTE a5 1T O SEhTH

B) Robert Koch and John Curtis / Ta¢ #ir @17 s sfesr

C) Melville R. Bissell and George Eastman / Fafae ame. it ¢ siisf S
D) Joseph Aspdin and William Lear / St wfeess i ey draw

114) Which of the following is the longest natural cave in India? / FRaferam & 17 wrea 1 Fa§ a7 T T9H 87

A) Krem Mawjymbuin cave/ 3 WS TH
B) Ellora cave / TETT & [

C) Krem Liat Prah cave/ ® ferge uTg T
D) Mawsmai cave / HTETT T
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115) In August 2016, who was sworn in as the new Chief Minister of Gujaral? / 3T# 2016 H T T&eTT & 70 == F =7
T orryy #7477

A) Keshubhaj Patel [ F5r4TE T .
B) Anandiben Patel / #ra=1a Tee

C) Dilip Parikh / = qrfim

D) Vijay Rupani / @srr =7t

116) Absence of Arbitrary Power, Equality before Law, and Individual Liberties are / =gy arfer &t srafeats, w17 & 7
THTAT, 317 2R Ta=aT

A) Concepts of Separative of Powers by Montesquieu /mTre=g 17T 9rferat & g Y gaemomt §
B)  Features of unwritten constitution / srferfam i@ £ Femant 2

C) Basic features of Rule of Law by Dicey / ==+t 5177 F1= [Fw 7 iRy Femant §

D) Basis of Discretionary Powers / s arfemf =y &

117) These two played a vital role in the integration of princely states in India. Who are they? \ = 3T 7 ‘a1ee T Famei
TR ® wget i frare o 7w 82

A) Sardar Patel and Pt. Jawaharlal Nehru \ T7=TT ee A7 4. FE1E7 AT A2F
B) Sardar Patel and V.P. Menon \ T¥aTT 925 A 1.1, #=7

C) Sardar Patel and Dr. Rajendra Prasad \ #7aTs 7 #i7 =7, T8 9978

D) Sardar Patel and K.M. Munshi \ #1721 72% &7 #. v, Hoff

- 118) Who among the following has taken charge as the first CEO of Board of Control for Cricket in India (BCCI) in June
20167 [ Frer # & fmre 57 2016 o G ke F2m a12 (BCCI) ¥ T8+ CEO ¥F &7 § WATE H4T1 27

A) Rahul Johri / g siTedt

B) Anurag Thakur / #F7TT 2157
C) Ajay Shirke / == for

D) Rajeev Shukla / 7rsftar gpFar
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119) The normal term of Lok Sabha is five years but it may be dissolved under certain conditions by \ #t% 9T T araT=7

A R A e e 0 L e 1 R - A

The President on the recommendation of the Vice President \ Suxrgafa &t Rrarfsr o wenfa grar
B) The President on the recommendation of the Cabinet Ministers \ Ffame @t € Rwrfer g Treafa gror

C) The President on the recommendation of the Speaker \ aT&Ier 1 Frerfer o wgafd gr
B))

A)

The President on the recommendation of the Prime minister \ Se#=T £t iy 9T wgafs grar

120) Breeding between unrelated animals which may be between individuals of the same breed (but having no common
ancestors) is / SIEETET STAEET 3 €= TS ST 5 UF &7 75 F ARl & o1 g qdl g (S a9 @t qrer T8, 98 &

A) Artificial insemination / sTEFferas srirfAere
B) Inbreeding / esftE

C) Outbreeding / Ar3esifeT

D) Crossbreeding / siasfifET
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Section 3 - PART C

121) Fill in the blanks with the correct option:

We have te hurry up, there is very time for the show to begin.

A) a little
B) few
C) a few
D) little

122) Choose the correct pronoun to complete the sentence:

Sheila was praised because did the job herself.

A) it
B) he
C) they
D) she

123) Chose the word that is spelt correctly and fill the blanks:

The little child was full of at the thought of going to the water kingdom.

A) ebulliance
B) ebullianse
C) ebullience

D) ebulience
124) Identify the correct synonym: Proficient

A) Adept

B) Rich

C) Inept.

D.) Unskilled

e

No. of Questions: 6(
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125) Choose the Pronoun in the given sentence: To whom should | write?
A) should

B) to
C) write
D) whom

126) Choose the correct option to complete the sentence:

Fans the hump when the team loses.

A) cut
B) net
C) put
D) get

127) Identify the antonym of the underlined word:
The cheerful girl was called to the Principél's office.

A) naughty

B) disobedient
C) happy

D) gloomy

128) Choose the correct form of the verb in brackets:
While getting off the bus she (slip).

A) is slipping
B) have slip
C) slipped

D) was slipping

129) Identify the antonym of the underlined word:
Unwise expenditure makes us bankrupt.

A) indifferent

B) lavish

C) ruined

D) solvent
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130) Fill in the blanks with the carrect option: | know
A) these

B) this

boy sitting beside me.

C) those
D) that

131) Identify the correct synonym: Lucid
A) Unclear

B) Clear
C) Dark
D) Cloudy

132) Read the sentence carefully and select the underlined part that is incorrect:

A decade in making, the documentary on penguins is both a response to widespread misinformation with their mating habits
and an investigation into their behaviour.

A) in making

B) investigation

C) with

D) both a response

133) Read the sentence carefully and select the underlined part that is incorrect:

The common housefly is capable of abrupt changes in direction that help it elude capture.

A) capable
B) help it
C) changes’

D) in

134) Choose the correct option to complete the sentence:

The speech was intended to answer the charges levelled him by his opponents.

A) within

B) against
C) beside
D) besides
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135) Fill in the blanks with correct aption;
You should value honour life.

A) to
B) above
C) since

D) by

136) Chose the word that is spelt correctly and fill the blanks:

The doctors told the parents that there has been a improvement in their child's health.

A) noticebal
B) noticable
C) notisable

D) noticeable

137) Fill in the blanks with the correct option:

God the truth.

A) sees
B) seeing
C) see

D) seen

138) Identify the error in the following sentence. The error, if any, will be in one part of the sentence, the number of that part
is your answer. If there is no error, mark your answer as (D). (A) Fifty people / (B) helped to put / (C) out an fire. / (D) No

Error.

A) A
B) D
C)B
D) C
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139) Fill in the blanks with correct option:
Rahul was born 4th December,

A)in
B) on
C)to

D) during

140) Identify the antonym of the underlined word:
Pollution has begun to endanger the wild life in the Sunderbans

A) imperil
B) secure
C) risk

D) jeopardise

141) |dentify the meaning of the underlined phrase/idiom:

Although much remains to be done in this direction, the gradual increase in the number of schools clearly shows that the
school master is abroad.

A) education is gradual
B) education is free
C) education is abroad

D) education is spreading

142) Fill in the blanks with correct aption:

Is a son liable his father's debis?
A) for

B) from

C) about

D) of
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143) Fill in the blanks with the correct option:
The trekkers walked back to tents wearily

A) his
B) her
C) their

D) my

144) Choose the correct option to complete the sentence:
Safety standards have gone the drain.

A) down

B) beneath
C)up

D) underneath

145) Fill in the blanks with the correct option:

A visionary always

A) visualizes
B) visualising
C) visualize

D) visualized

— e e ———

the reality of the future,

146) Fill in the blanks with the correct option:

This shop has a large

A) choice on
B) choice in
C) choice up

D) choice of
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147) Chose the word that is spelt correctly and fill the blanks:
The shows us the direction of the wind.

A) wane
B) vane
C) vein

D) vain

148) Fill in the blanks with the correct form of verb:

Breakfast cereals with vitamins.

A) is enriching
B) enrich
C) are enriched

D) has been enriched

149) Fill in the blanks with the correct verb:
Military spending

A) is
B) have been
C) were

D) has

150) Fill in the blanks with the correct option:

a huge drain on the country’s resources.

John always called himself symbol of love, love that stands for purity with ever lasting faith in love.

A) a, an, the
B) a,a an
C) the, the, a

D) a, an, an
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151) Complete the sentence with an indefinite pronoun:

The show is very popular; likes it.

A) everyone
B) none
C) anybody
D) Few

162) Fill in the blanks with the correcl option:

Mark dubious chained himself to boulder

A) the

B) a

C) No article required.
D) an

1563) Identify the Simple sentence from the following options:

A) My father was pleased when he saw my results.
B) They ran for shelter when it started raining.
C) Start early, or else you will be late.

D) We heard about the accident.

154) Fill in the blanks with the correct option:
He
A) was studying

B} will have studied _
C) will have been studying

D) has studied

at the university for three years when he gets his degree next month.
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155) Fill in the blanks with the correct option:

A) bid
B) bids
C) bade
D) biden

156) Fill in the blanks with the coerrect option:
He shouted the pupil angrily.

A) in
B) at
C) on
D) for

157) Fill in the blanks with the correct form of verb:
The island by a coral reef.

A) were encircling
B) encircles
C) encircle

D) is encircled

158) Identify the antonym of the underlined word:

Being advenlurous, he took the narrow track down the steep mountain side.

A) daring

B) cautious
C) unafraid
D) obstinate
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159) Identify the correct synonym of the underlined word:
She flew into a fury when | refused.

A) Fascination
B) Surprise
C) Rage

D) Scheme

160) Choose the correct meaning of the phrase /idiom underlined in the sentence:

Tina and Mohan have been on good terms since they have been involved in this work.

A) agreeable
B) disputable
C) friendly

D) on vacation

161) Identify the complex sentence:

A) I'll stay and help you.
B) | stayed three nights at my cousin's place.
C) She stayed at home while the children were young.

D) He never stays angry for long.

162) Identify the meaning of the underlined phrase/idiom:
He seemed to be out of spirits. '

A) unhappy

B) unsatisfied

C) unresolved

D) unconcerned

163) Identify the correct synonym: Nurture
A) lgnore

B) Foster

C) Insult

D) Neglect
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164) What type of noun |s the underlined word:
The candidate was chosen for his intelligence.

A) proper
B) collective
C) common

D) abstract

165) Chose the word that is speit correctly and fill the blanks:
He told her that he would attend her birthday party.

A) definitely
B) dafinately
C) definately
D) difinately

166) Change the simple sentence into a complex sentence:

He was punished for his disobedience.

A) He was disobedient and he was punished.
B) His disobedience punished him.
C) He was punished to his disobedience.

D) He was punished because he was disobedient.

167) Choose the correct form of the verb given in brackels:
We (sit) on the verandah when the postman came.

A) had been sitling
B) were sitting

C) have been silting
D) sat
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168) Fill in the blanks with the correct option:

Pandavas are example of obiedience, where as kavravas are representation of malefic.

A) a, a, an

B)a, an, a '
C) an, the, the

D) a, an, the

169) Fill in the blanks with the correct form of verb:

There all kinds of thoug_hts running through my mind.

A) was
B) is
C) were

D) would be

170) Fill in the blanks with the correct verb:
The next train due in ten minutes.

A) s

B) will have been

C) have

D) were

171) Identify the correct synonym; Imperious
A) Horrible

B) Garrulous
C) Domineering

D) Hasty

172) Choose the correct option to complete the sentence:
Thousands of small businesses

the dust every vear.

A) see
B) bite
C) hit

D) wipe
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173) Fill in the bianks with the correct verb:
| these reality TV shows.

A) was hating
B) hate
C) hates

D) am hating

174) Change the given sentence into a simple sentence:
He was overjoyed when he heard the news.

A) Hearing the news, he was overjoyed.
B) He felt overjoyed when he head the news.
C) After he heard the news, he was averjoyed.

D) He heard the news and he was overjoyed.

175) Read the sentence carefully and select the underlined part that is incorrect:

Priti was hardworking and a prolific lecturer until a mysterious iliness caused her to fall asleep, sometimes in the middle of a
lecture.

A) until

B) in the middle

C) to fall

D) hardworking

176) Identify the antonym of the underlined word:

The death toll due to the consumiption of spurious liquor rose to two hundred and sixteen.

A) counterfeit
B) authentic
C) fake

D) country
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177) Identify the antonym of the underlined word.
He kept the tone of the letler formal and businesslike.

A) official
B) casual :
C) ceremonious

D) serious

178) Fill in the blanks with correct option:
He began to work forgetful everything else.

A) of
B) in
C) to
D) off

179) ldentify the correct synonym: Eloquence

A) Fluency
B) Attention
C) Delusion
D) Conceit

180) Choose the correct meaning of the phrase / idiom underlined in the sentence:

Raju was on edge as he sat waiting for the announcement of his resulls.

A) sick
B) nervous
C) excited

D) confident
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Section 1 - PART A

No. of Questions: 6(

.
.

1) The average age of three boys is 15 years. If their ages are in the ratio 1:4:5, the age of the second youngest boy is / &=
a=et §t sl g 15 a9 &1 77 I 0 F7 ST 1:4:5 F, TV QL qEH FH I F T2 T 9 F4T 27

A) 22 years [ 22 T
B) 18 years / 18 7%
C) 16 years / 16 99
D) 20 years / 20 a9

2) In a certain code, QNKLW is written as FUFOU, then how is UGLNE written in the same code? / u# Rfa 5z & QNKLW
F1 FUFOU % &9 % foray sitar &, a7 34T %2 § UGLNE % F# fomar smu?

A) OLIOU
B) KJHHJ
C) JNGQC
D) LOIUU

3) Which of the given option will NOT share the same property as the eleme‘.n-ts of the given set : (JKM, QRT, WXZ, BCE)? /
R s e & & 7 A7 e 38T [oreadTE T 97T A% 077 57 70 a0 F2 (JKM, QRT, WXZ, BCE) ¥ a7 F%d 27

A) NOQ

B) GHJ

C) FGI

D) RSV

4) Among the given four options, three are related in a way. Select the option that is odd one out. / BT 71 =1¥ fFwedt #, fiF
v i afr & g=9fie £ 39 e &7 599 F¢ 57 399 faer

A) Square / FHFIT FEHT

B) Rhombus / faereahter

C) Rectangle / smaa

D) Ellipse / &fdg=
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5) If Q% of Q is 25, then Q is equal to / 7% Q FT Q% 25 2, 73 Q B+ & F77a7 372

A) 25

B) 125 ‘e
C) 100

D) 50

6) An image is made from multiple geometric figures (marked with numbers). In the image, some regions are formed. In sach
of these regions, as many dots are o be placed as the number of geomelric figures that has this as a part of it. Iri total, how
many dots will be placed in the image? / TF = FT F% FATHA T AFA=T 3 A=A7 747 & (= & i) B, g a0
FT AT AT B T A i, 3 8 g el w8, vt s arpfet 61 ehean, v gee fRear 31 gor ey, B
e g wanfie o g2

2

A) 7
B) 4
C) 6
D) 9

[ 8 P afert (SO) W%ﬁﬁmm ¥

éFoIlowing are the eligibility criteria for applying for the post of

‘Special Officer (SO) in a bank. The candidate should: fom e wE et & sefiw '
F . o, = ﬁ,—‘rﬁ‘ 1%11—_" W

(i) be a graduate in any discipline with atleast 70% aggregate {') o 7 A T0% F A H AT ‘*ﬁ il

| Er

imarks. e S & p

i(ii) have atleast 65% marks in Full time MBA degree. (i) q-t ToierTer MBA AT f25ft 3 77w & 71 65% 2% TR

(iii) have minimum 3-year Past-qualification experience in banking. o g e

(iv) should be less than 30 years of age. l('") A TSI 3 AT A 3 A 3 Wﬂrﬂﬁ

| HAET BT AR '.

|
Inceording to the detsils of the candidate, hefshe may be-sligible [V} 97T S0 & F gt wriedl |

W?ﬁmwwaﬁmﬂ?wﬂ?ﬂm

under one or more of the criteria given above.
’ HTTEET T AR T BT THAT/AFAT B !.
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Read the information given in the question and which all conditions [ # &1 & STy 7 @i waT s o e et a7 !

the candidate will satisfy. TETEETT T T |
|

7) These cases are giveh-to you as on 30th January, 2016. )

Candidate's information : Gauri is a graduate in Political Science with 75% marks and has scaréd 62% marks in full time
MBA course. She has been working in a bank as a cashier since last 4 years after post graduation. She was born on 14th
September, 1987.

| I TAET AT 30 SET, 2016 F AT ¥ aga 2w A #)

FEHTEETL T ST WY 75% 1 % G979 T & & Io0e § S quiariers MBA 18 § 62% 3% 98 a7 8 78 Tiee-
To[uere & 978 e 4 a1 § U % HRET F ©7 H 7 FT @ gl 98 14 [Hdew, 1987 7 4=y g2 4N

A) (i), (iity and (iv) only / 3w=rer (i), (iii) 3T (iv)
B) Not eligible / a1 78l &

C) (i), ity and (iii) / (i), (ii) @ (iii)

D) (i) and (ii) only / &= (i) aﬁ% (ii)

8) What number should come next in the series given below? / 715 f&m 0 e & et e ST AT F1En?
51, 74, 101, 132, 187, 208, ?

A) 247

B) 249

C) 251

D) 245

9) Which of the following words is different from others? / Fwferfam ereal & & #i |7 T T AT 872

A) Adroitness/E4rerar

B) Ability/srerat

C) Clumsiness/zTgsT

D) Prowess/qstad
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10) There are three words given here. The first two words are relaled in a certain manner. Select the proper word among the

given four alternatives which bears the same relationship with the third word as in the manner first and second words are

related.
Noble gas : Argon :: Halogen . /

72t Wi o7 B o ) wgd 27 a=r v Fm a e & wafue #) R o = FEen § 7 39 3R = 7 39 w1 A7 A vem T
LR 0 S T M el e o | R G R R B TR

qrae o et o BT

A) Neon / Rt
B) Bromine / #THia
C) Ozone / =T
D) Xenon / A1

11) There are three words given here. The first two words are related in a certain manner. Select the proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

Light : Darkness :: Medicine : /

wzt i arem R a2 wey A arsm v e 7 e A detie 1 R = Beedt § & aw st aes w0 w71 S A e E
ey ZAT W & HetAe o o T ¥ mge A g o= HETaa g

TERTYT ¢+ SHET o Al

A) Hospital / ST#TAT
B) Tablets / Z&#=
C) Disease [ 77T

D) Treatment / EATST
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Following are the conditions for selection of translator in various

| |
i o |

' st g o F Bt fram & eames 5 999
departments of the government in India. The candidate must: " !
|

& forw ot ) gefieEe

(i) be a graduate in any discipline with atleast 65% marks. - - e
(i) 7 & = 65% i1 % aveg T oft o Ispue g

(ii) have the ability to read, write and speak Hindi and English =t * |
gbesides the regional language of the state to which he/she !(ii) AT TSF & &A1 AT o SAeTaT el e sty uaH, i
belongs. o sl e it ewaT BT =R i
(iil) be less than 30 years of age. ((jif) 30 a1 T F ATF FAT TR '-
E(iv) must have Indian Passport. \(iv) ST TR ST ST 2

In the case of a candidate who satisfies all the conditions: S U IEHEATE WAV T T I3 FLAT & _
(A) EXCEPT (i) above, but has a post graduation degree, then :(A) A su (i) ¥, ST v gree-ieuay F BT g
his/her case may be referred to State Employment Officer. AT, T TTHS FT TST TISITTE AT T Hsi7 S|

},(B)ﬁwmﬁﬁ (iil) =, T TE-USUeT F a1 3 797
T S & Y, Wy Ay st wwra, T TS s

graduation, then the case may be referred to Personal assistant, | .
fﬁr FST 1T

(B) EXCEPT (iii) above, but has experience of 3 years after post-

|State Employment Officer. .f
‘ YT ST 9 A R e o 7 R o weeE
& SeTT T e fvofar ST g et arer s
R 1, 2016 £ arfr 7 fw v #)

Based on the above information and criteria given in each of the

ffOIlowing questions, you have to take decision. These cases are
Egiven to you as on 1st September, 2016.

% |

12) Romila Khanna, who is 36 years old, belongs to Kerala and secured 69% marks in her graduation. She knows to read,
write and speak Hindi, English and Malyalam. She has an Indian Passport. She has a work experience of 2 years after her
graduation. She should be :

| TrfEreT g Ry s 36 7 8, Feer T Te arelt § o IO oqve ISua # 69% 3F griew v g1 ag e, siush e A
T, o ST oAt ST &) I I AT T g1 3HE T FEHE YSULT F 97 2 I F AT gl 36

A)  rejected / TRl AT AT AT

B) referred to Personal Assistant,State Employment Officer / st sigras, Trs7 Trsmme arfframdy 3 orer =7 ST |fen
C) selected / FT ST =TRT

D) referred to State Employment Officer. / Tr=a TSI ITE=RTET F TT9 AT ST AR

13) Three out of the given four items are similar. Find the odd one. / f& s =Te szt & & &1 v 34 &1 frer araew 7 vgwme
FL

A) A

B) |

C) Z

D)D
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14) What replaces the question mark (?) in the following number series? / A e dweT Je=T § vy e (2) F7 #2479 Fi

FAT?
-8,-1,0, 1, 8,27, 64, ?

A) 144
B) 100
C) 81

D) 125

'Fotlowing are the eligibility criteria for applying for the post of
Special Officer (SO) in a bank. The candidate should:
i(i) be a graduate in any discipline with atleast 70% aggregale

marks.

é(ii) have alleast 65% marks in Full time MBA degree.

|

|

(i) have minimum 3-year Post-qualification experience in banking.

i‘(iv) should be less than 30 years of age.

According to the details of the candidate, he/she may be eligible

‘under one or mare of the criteria given above.

Read the information given in the question and find out which all

iconditions the candidate will salisfy.

e B P9 SRR (SO) 3 7 3 R AT A
e T W e &) st

(i) T 5 T 70% F 0 AT A off B & drpe |

|?F-ITi

(i) T T MBA 1 Ff 3 o 7 65% 56 e

|

D U 7 e e e M M O e e T B e T D
A AT AR

|

((iv) F &g 30 77 & F3 AT =R ;

|
FufieET F BFT F @ a8 IR U AT UF A AfaE
HTTEET & TGT TTH BT AHAT/FTFAT 21

;waﬁ?ﬂﬁaﬁ%ﬂﬁq&aﬁ?qﬂw%ﬁﬁvﬁﬁ ‘_
AT T T | ]
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15) These cases are given to you as on 30th January, 2016.
Candidate's information : Ketan Anand, who Is working as an accountant in a private bank since 2012, secured 82% marks in
-graduation.-He-completed full- time- MBA -degree course-in 2011 with 76% marks. He was born on 20th March, 1987,

| & wreer s 30 Seardy, 2016 $ ardia ¥ aga &y T F) .

IEHTEETE $1 STHaTE: T arg =7 2012 § U [l 8% § UF @ & €9 H HH TGI8, 99 JeueT 7 82% F grHe e 3
SUT 76% AT F "TT 2011 7 qorsrfors MBA Raft i qur fram ag 20 =7+, 1987 =7 27 garr 41

A) Ketan is not eligible / = o1 781 &

B) All / Tsft

C) (i) only / F@= (i)

D) (i) and (iiiy only / et (i) 9 (i)

16) If the income of company X in 2005 was Rs. 750 crore gaining 20%, then its expenditure was: / s9TT 2005 # F+T X fiT
AT 20% FRIAET & 979 &, 750 FLS 9T 91, ST 47 4T

A) Rs. 750 crore / . 750 FlE
B) Rs. 860 crore / &. 860 FIE
C) Rs. 625 crore / . 625 FUE
D) Rs. 950 crore / € 950 FU=

17) Among the given four options, three are related in a way. Select the option that is odd one out. / &7 o =T fEwedt &, ff=
e e a8 & weferT 1 5w fwer 7 =9 w4 o 399 e )

A) Square of 100 - Cube of 10 / 100 %1 & - 10 T &

B) Number of unique 4 digit numbers / g1 4 =iy T@ear $f g

C) One fifth of square of 60 / 60 ¥ a3F &T Tr=eT Fear

D) 10 times square of 30 / 30 % a3 =T 10 I[UIT

18) Which of the given option will NOT share the same property as the elements of the given set: (4, 8, 16, 32, 64)? / f&w r
#Z (4, 8, 16, 32, 64) F deat ¥ B0 7U qorEgaTT F AqgTe FuferEe 7 & w2 ar G 31l qureraTe w1 g 9w won?

A) 128
B) 512
C) 1014
D) 256
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19) Amang the given four options, three are related in a same way. Select the option that is odd one out. / B =% Bt
F A o A & AT A Heten §1 ag Ewer G AT a= e g

A) 123
B) 119
C) 105
D) 101

20) What number should replace the question mark (?) in the series given below? / F= & 77 gmaaT & wa == (?) F7 2017
FIAHT W=7 T AAT A1RU?

22,110, 440, 1320, 2640, ?

A) 2750
B) 2700
C) 2650
D) 2640

21) The price of 30 doors is equal to that of 12 tables. The price of 9 doors and 6 tables together is Rs.60000. The lotal price

of 35 doors and 8 tables is / 30 ZTATS T e 12 U F God F av7a7 | VAT O FTaTA1 07 6 7T 57 477 60000% 81 35 T7A7AT
AT AT FTHA TAE

A) Rs.137500/ 137500 %
B) Rs.162552 / 162552 &
C) Rs.932215/ 932215 %

D) Rs.292219 [ 262219 %

22) Among the given group of 4 images, which set of images can be classified as a group? / 3 w4 Fi 7 &, Forsti & fr
HHF FT UF AR § A AT ST A a2 '

EIENENEY

A) (1,3, 4)
B) (1,2, 3)
C)(1,2,4)
D) (2, 3, 4)
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23) In how many different sets can the given set be classified if classification is done on the basis of number of unique
consonants in term: (FLOWER, ELABORATE, PATHWAY, METRO, COASTAL, SNIPER)? / fae farfRrer apgat o R o

EET T Tl [T ST el £ T e S0y S e e 78 H S (At 6 5eqT % arare 77 {47 5747 8 (FLOWER,
ELABORATE, PATHWAY, METRO, COASTAL, SNIPER)?

A) 4
B) 6
C)2
D) 3

24) Father says to his youngest son, "l was as old as you are at present at the time of your birth." If the father's age is 70
years now, the age of his daughter 10 years ago, who is 2 years elder than the youngest son was: / foaT @9+ Tail @ie 92 7
FEAT €, "TERTE S H & THA FT IAT IY AT ST gEETRT a9 8 ST A AT £ 37 70 Wi § a7, 99y Sy a2 ¥ 2 6976 aEr gt
FET T IW 10 /I TEe ey 42 '

A) 25 years / 25 T
B) 30 years / 30 5o
C) 32 years [ 32 9T
D) 27 years [ 27 911

— T T B T

25) Below are given three different views of a dice on which numbers from 1 to 6 are written on its faces. Which number

should be there on opposite face of face having number 52 / 7= T T % 17 e a0 397 (37) R & S graws 19
- 6 aF st ot wE 21 5 e arer wer F Fvde wer 0 e Y gea g Aa?

A) 6
B) 3
C) 4
D) 1
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26) Given is opened view of a dice. Among the positions of which of the pairs of alphabets on opposite faces, difference in
the alphabetical series will be least? / F1=r TT& &7 v &=T 397 27T 4T 81 AL vt w7 7l £ B S f Rt # =mas

3

|e |

A) band m /b #Tm
B) pand h/p#ih
C) fand k/ f 37 k
D) fand h /{3 h

27) There are five members in a family viz Neeta, Geela, Rita, Tina and Sita. Neeta is half the age of Geeta and thrice the
age of Rita. Sita is younger than Tina by 3 years. Tina is 8 years younger than Neeta and Sita is 16 year old studying in class
X. Whose age is more than 50 year? / 7 = i oi=r s € arer: e, T, fey, fe 6 dtam Far s 7= A5 395
1ot & 4 Frar 39 w7 g &1 e, S5 A aeE 7 3w e 21 Fa, A e 8 7T Fie & @ e #7316 77 § 4 A
ZIAT AT H TE T 81 et s 50 @ 7 wfern g7

A) Neeta / F1aT
B) Tina / #mT
C) Geeta / far
D) Rita / =1
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28) There are three words given here. The first two words are related in a certain manner, Select the proper word among the
given four alternatives which bears the same relationship with the third ward as in the manner first and second words are
-related.

Taj Mahal : Agra :: Statue of Liberty : /

-
.

7ot &t arse R i &) et & e U Al a8 & mafe §) Bo av s Aeedt f dswsRm g mmEmm sl ST Ao g §
|19 FHT T F wafaa g o a8F § ager i gu e waigd )

TATSTHGH © A ;2 T S forad

A) New York / =T
B) Paris / T

C) Moscow / ATt
D) Ontario / #erfar

29) Three of the four following words belong to the same group or class in a certain manner. Find the odd one out. /

frerferfer =me o=t # & e wer e a8 7 v € o ar @ & wdfde #) o e w1

A) Lagoon / & =fier
B) Island / 21T
C) Pond / qTma

D) Sea /#q%

e ajiiee b e e g b oo i VT T — S S

30) Sana is shorter than Gopi. Govind is shorter than Nisha, Gopi is Shorter than Govind. Sana is taller than Rama. if all of
them stand in descending order of their heights, then who among them is at the fourth position from the beginning? / =T,
Trft £t qeAAT # T2 F ST 2| A, From £ g F w2 F drer &, T0ft, TfEe £t qoaT § @ § DT 81 w6, T S qoT § o 2
T AT ST FATE el w H A G AT, T T AT § S 2T 0 g2 '

A) Rama / TrHT
B) Govind / Tifds
C) Gopi / it

D) Sana / &41
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31) Viral scored 150 runs including 11 sixes and 5 boundaries. What percent of lotal score did he make by hilling sixes 7/ 11
o 1T 5 ATI=AY giga FeE 7 160 77 g907| S5 ANE & T2 IHE T T AT AT AT 977

A) 39%
B) 44%
C) 25%
D) 62%

32) There are three words given here. The first two words are related in a certain manner. Select the proper word ameng the

given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

Island : Water :: Lake : 7

| gt e e vrex B wm B e 3T ores v AR G & wEtie #1 By v s Bt § § 39 a8 orsw F wwA ), A7 A oem
AT E HeAe AT gy, FuT B wee #T g9y 45s f49y 7 2|

1T 7T o e ?
A) Pond /[ FTmar

B) Fresh-Water / 77T 7T
C) Salt | 7%

D) Land / g

33) In which of the four images the symbol ‘=" can be found as a part of that image? / 5% =17 = # 7 fm B o Freq =51
FH s % v AT F = F AT AT AFAT 52

~»let || P

A) 1
B) 2
C)4
D) 3
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34) What comes in place of question mark (7?) in the series given below? / 1= & T a=m ¥ wa R (?) F ©479 7€ F47 17

2

1,11, 42,219, 1542, ?

A) 16970
B) 16973
C) 16971
D) 16972

(6th) & 3T == & Hiwgar (16th) &1 Feam & =it € @1 7ra 53

A) 22
B) 26
C) 21
D) 20

— B et s 44 S, T S S S S S

38) If in a certain code language, "SET" is written as “41" and "FLAT" is written as “35", then what should be the code for the
word “PENCIL"? / 3f3 s fAf2ra fe-arar & “SET” &7 “41" &% &7 # forar stmar & i "FLAT” %7 “35” % w7 # forar strar &, o7 o=8
“PENCIL" % forw e 1 g7 =1fgn?

A) 53
B) 59
C) 54
D) 55

37) What comes in place of question mark (?) in the following number series? / fAsrferfae e e & wir e (7) % w0 9%
AT ATAT 872
15, 63, 255, ?, 4085

A) 1023
B) 1100
C) 853
D) 769
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38) The paper sheet given below is folded along the dolted line. How many corners will the resultant paper sheet on right

have? | 7= &1 7 Tz offz i &= T F ava wies BT w31 g1 3 A armET T ofie § A i g

-
-
-
A) 4
B) 3
C) 5
D) 6

Following are the eligibility criteria for applying for the post of

iFinance officer in a company. The applicant should:
g(i) be a commerce graduate with 60% marks.

(i) have knowledge of computers.

é(iii) be more than 21 but less than 34 years of age.

?(iv) have minimum 2 years of work experience in finance department.

In the case of a candidate who satisfies all the conditions:

%(a) If NOT (i), but has a full-time MBA degree with 65% marks, the

case may be referred to the Senior Manager.

(b) If NOT (iv), but has a minimum 2 years experience in treasury
|

Ioperations, the case may be referred to the Director.

In each of the questions below information of a candidate is given.

iYou have 1::; take one of the following four decisions based on the

-jinfqrmat-ion provided and the conditions given abave.

‘Al the cases are given to you as on 10-11-2016. You have to

indicate your decision by marking answers to each question.

1 e 3 R SRR 3 R v s e h R |
lmm'ﬁﬂﬁﬁﬁﬁlwaﬁr:

(i) 60% = = g v Arfirsg ISz g7 AF1iEn)

(il) #2727 5777 B AR

(iii) 21 Fr =rfar T 34 af & 59 sy 2 AR
(iv) T FrmeT 3 %60 3 o 2 57T 7 0 AT BT
T T IEEATT AT a7 I T 8 -_
(a) i (i) 3, AAfeT 65% ¥ 3 =T o TR MBA |
£ =2y & A%, 7w vy geeE F T S )

(b) Ry (iv) F, A3 23t armzem o &0 & 79 2 7791
T AAHA E AT, HTHAT HATE 5 T ST ST

= a wer vy # va 3nfiEar £ sAwrT A e
l?l AT TR FTE TS FIAFTN F TTINH YA T AT |
w7 A =TT T & U ST g e i
A e S 10-11-2016 A 1 R 2
TR WA 3 A G AT AT A A wwar

g

BRI
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39) Candidate's information : Kushal Lehri is 22 years old fresher graduate in commerce with 74% marks and has done basic
computers' course from XYZ institution. He should be :

J- FTHGETT T AT T T & 74 Y% ST T 0T 8 22 FHIT T s I50e g ot XYZ 5647 § J0F 54t F9 64T gl
T

A) referred to the director / §=Ters ¥ T8 FS1T STAT ITRT
B) rejected / sEiFa FTAT ATRT
C) selected / T4 AT ATRY

D) referred to the senior manager / X8 Ta&® & T ST ST AR

40) Nitin says that his mother is the only daughter of Anand's mother. How is Anand related to Nitin? / ffa= Fgar g = z&eht
o, W BT AT R gwedT 32T 81 A T e & far 82

A) Uncle / A1HT

B) Brother-in-law [ /17
C) Grandfather / =TeT
D) Father / fiaT

41) In a certain code language,

“time is precious” is written as “er ui af”
“time management is important” is written as “af jk op ui”
“management technique is used"” is written as “cv af bn op”

In the given code language, what does the code "“jk" stand for?

| v FATE Fe-amer §

“time is precious” FT “er ui af’ & &7 § FrgT AT g

“time management is important” =T “af jk op ui" % &7 # forar a1 §
“management technique is used” %I “cv af bn op” % &7 # ferar srar &
f&u U Fe-amr § F K T AT 9 &7

A) management
B) technique

C) important

D) time
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[Follawing are the conditions for selection of translator in various
(departrents of the government in India. The candidate must:
(i) be a graduate in any discipline with atleast 65% marks.

|
l(ii} have the ability to read, write and speak Hindi and English

besides the regional language of the state to which he/she
belongs.

(iii) be less than 30 vears of age.

(iv) must have Indian Passport.

In the case of a candidate who satisfies all the conditions:

[(A) EXCEPT (i) above, but has a post gradualion degree, then
!his!her case may be referred to State Employment Officer.

(B) EXCEPT (iii) above, but has experience of 3 years after post-
‘graduation, then the case may be referred to Personal assistant,
State Employment Officer.

Based on the above information and criteria given in each of the
following questions, you have to take decision. These cases are

(given lo you as on 1st September, 2016.

eferfEm aw avar 7 B Brarn & s & 519
7 forr o 2y 3efiza o

(i) 7 ¥ F9 65% &1 7 Trx Bt o Breer 7 o g
=R

(ii) T 7T ¥ £ AT F Ay fFE A st vw,
(i) 30 a9 F FH A 5AT AR '
(iv) AT TITITE BT AT 2

3

T v sEftEET et T A O A 2
| = T i = =
(A) Framr 3w (i) %, = o e f G 2

(B) Framer 37r=r (jii) %, =Fe TreE-isres F aE 3 A
FT ATAT B AT, ATHA S AR, T TS AT
A E e

3 T T AT T AT g v g A

iﬁﬂa-mzmeﬁmﬁwa?rﬁrrw%l

42) Miss Kiran from Pune, secured 80% marks in her graduation. She will be celebrating her 25th birthday on next Saturday.

She knows to read, write and speak Hindi, English and Marathi. She will be applying for Passport this year. She must be
0 3 ey B e A i 80% o grieer R g e i v A A 26 A7 Aewtaa aArin a7 {7, it o aedt
TEAT, P 3 ST ST 81 A 59 W qTATe & o ardEe 251 3

A)  selected / FAT ITET ATRET

B) referred to State Employment Officer, / T TTI7TTT SATEATLT i WA W1 SATAT AR

C) referred to Personal Assistant,State Employment Officer / f5ft sz, w57 Trsmme stfarmft 3 wver =iy s =rfen

D)  rejected / AET FAT AT AT(RT

43) A cube of side length 15 cm is taken. It is coloured with Yellow colour on all its faces. Now, it is cut into identical small

cubes of side length 3 units by cutting it along its length, width and height. Based on this information, answer the questions

that follow.

How many small cubes would be there that are coloured on none of its faces?
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15 EfedTer quT 59T T U U o7 AT 81 39 THT e H e 37 § T ST g1 9F 36 IR Fars, SIETS 6w SHE F
FHIATGT et g7 3 YAz T Jars arer §9ET GIE Fa1 3§ H1T TIA7 g1 56 AR F arare 97, A B 7y w4f F 397 2

e &re = 2 S s oft wes 3O A8 grr?

A) 36
B) 20
C) 32
D) 27

44) A B,C,D,E and F are the six members of the family. There are two married couples in the family. Each of them like
different ice-cream flavours viz Vanilla, Mango, Butterscotch, Strawberry, Blackcurrant and Chocolate. A's wife likes Vanilla.
E's daughter-in-law likes Mango. F's daughter likes Strawberry and his son likes Chocolate. If the youngest boy in the farnily
is B, then the youngest girl doesn't seem to be D. The eldest person in the family likes Buiterscotch. If the flavours liked by
the married couples and sibblings are swapped in between each other, then which flavor does B like now ? { A, B, C, D, E
AT F U e F @ weer €1 ufan o & Befga S €1 S99 @ 5T U S 6T Aot SSHhiy F Tare 76y ¢ araer: afer, #w,
FevEr e, T2fadl, oftw wtve A Aiwae) A F Tell F &Far www €1 E 67 7 7 §97 v6w §) F 8 57 el 76e § e e wi
AT THE &1 9 IRET ¥ 999 7 39 FT@EHT B & a1, 9a9 59 37 F a6 D TE 8 gt &) vhar # 3w § gu 92 7w w7
FECERT THE §1 AT (Fariea sivet A arrardy (Rifee) & vty w@rat w7 v gl % e eraer-auelt S Gy 9o @7, B # #@e

A) Strawberry / ¥Ziadr

B) Vanilla / &=

C) Black current / =% Fte
D) Chocolate / =iFez

45) If “COURT" is coded as "LVZUU", then how is the word “FRONT” coded? / af¥ “COURT" #r “LVZUU" F &7 & %z 9% a1
STTAT &, AT 4758 “FRONT" 7 & %z a5 fFar smom?

A) OYUQT

B) OYQTU

C) OYTUQ

D) OYTQU
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46) A figure is given on the left with a pattern. Observe and find out which of the three images on the right leoks similar lo the
left half of this pattern? / aTE F7 7 e 3 91 v 37 &7 7 81 SATAF 2@ 2T Jaren % 212 A 7 17 FEr # T 7 2w

e F ant o B F s B ved &2

P “‘
1 d 3
A1
B) 2
C)3

D) Both 1 and 2/ 1 &7 2 ZAT

Following are the eligibility criteria for recruiting 2 Trekking guide
%by a company in Manali. The applicant should:

:(i) be a citizen of India.

(if) have knowledge of the terrain of the region.

(iil) have work permit to work in India.

((iv) have no criminal record.

!(v) have a valid first aid certificate.

[(vi) be less than 30 years of age.

iln the case of a candidate who satisfies all the conditions:

(&) IF NOT (1), bul is a citizen of Bhutan or Nepal, then he will be
|refer|'ed to the Executive Director of the company.

:(b) If NOT (iii), but has a Valid Passport issued by the country to
which he/she may belong, then he will be referred lo the Chief
Executive Officer of the company.

‘(c) If NOT (vi), but has an experience as a Trekking Guide of 2
'years, then he will be referred to the Vice-President of the
‘company

In each of the questions below information of a candidate is given.

He/she may be eligible under one or more of the criteria.

|
You have to lake one of the following four decisions based on the

information provided and the conditions given above.

AT F e et g 2 e i e e e
HTEE e 8 e A

(i) TR T ATTE BT AR

(i) B3 3 -5 T A AT AR

(iify ST AT T R A e g AR

(iv) 1€ ArTa Fefs 781 gmT JriRw)

(v) e Fer wra i BT e = avew grar = riEm
(Vi) B0 HTH ¥ FH I AT AT TR

e e ey we et T T F

(&) R (i) 3, AfRer s AT A A AT A, 5
W#W%?WWWm |
(b) R (i) 3, FrfRer e o e A Eer gmr AT |
P AT U S T 2 AT, A 6 e e
feERTEY T AT ST ’
(c) e (vi) 7, A v s s 2 T AT
A B AT, T FAT I AT AT S f
A Faey oy sy e & v gesftaae B s & T 2 '
oty TrTr St 3 e o o A AR ¥ A aT A e
2 ';
| I AT T ST 7 T aEt e o
Treifra = ST 7 ST e
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47) Candidate Information : Rakesh Hiremath is a 32 year old man from Uttar Pradesh. He was imprisoned under the
charges of robbery for a term of 1 yr, six years ago. He should be:

| TG T ST TTReT (595 300 T T 32 a0 sqivh ¢l 94 Bg 71e Tga 1 HIe %f srafer & for gHdl 3 2 ¥ agd
¥z frr AT am =9

-
.

A) Selected / F97 FLAT AIRT

B) be referred to the Vice - President / 3UTEa% & ITH ST S8

C) be referred to the Chief Executive Officer / e FTaTer ATaTLT F TH SSAT AR
D) Rejected /| T3 TET FLAT ITRT

e 8 B e e e a5 1 e e A BT e st 8 e e e e T e e e B TR o B T e o e EE S EEAS TR TP

48) Given below is a figure on the left with a pattern. Observe and find which of the three images on the right looks similar to

the top half of this pattern? / == U= T2 & T 9T ST UF A &F T 51 377 & o e aan (& a8 e 67 i 7 G Fi7 97 U

= =5 e o o e st RBear g2
HH
— 1] ! N =N
1 2 3

n—

VEEN

A) 3

B) 2

C) Both 1 and 2/ &1 1 #T 2
D) 1
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49) An image is made from some geometric figures. In the image, some regions are formed. In each of these regions, as
many dots are to be placed as the number of geomeltric figures that has this as a part of it. One of these regions is marked
with number 1. How many dots will be placed in region 12 / = = 7 % ST At & ey oo 31 B &, 5 477
T AEIT AT 3 S0 TEIF G5 |, 34 2 195 =41 w9 8, ST sfue T st i wer, S BEEr f1 7= 6 0w 457 A5 1
7 FrfEaa By war 81 &3 1§ By g warfia w20

iiats

A) 3

B) 2

C) 1

D) region 1 have 3 regions / 5T 1 ¥ 38T &

50) A,B,C,D EF,G & H are the eight members of a family. A & D are the grandsons of B. H is the mother of F and wife of E.
G is the grandfather of C.C & F are sisters. There are only 2 married couples in the family. How many male members will be
there in the family if both the sons of H get married? / A, B, C, D, E, F, G =7 H s wiam & «ie #@=1 81 A 47 D, B & T 8
H, F Fr 7t sfw E R 7eft §1 G, C Fram=r 81 C i F 7+ ) wiam § e 2 FarRa i 81 af2 H & 2t a2 o) a7 8 a1, 7hamr

A) 4 or 6 only | F= 4 IT 6
B) 4 only / ¥ 4
C) 2 only / Fa 2
D) 5only / Fa7 5

51) | is the sister of H. O is the nephew of H. M is the aunt of O. S is the father of M. S has three children. Then which of the
following is definitely FALSE? /|, H #T &= 21 O, H &A% 21 M, O it ez 21 S, M &7 far 21 S & f1e &g &1 Fier 7 70+
a1 e =7 7 1w 37

A) M is the paternal aunt of O / M, O # gam 8
B) H is the uncle of O / H, O #T =%l &

C) H is the brother of | / H, | &7 9TE &
D)Histhesonof S/H, S FaeT#
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52) Which of the given option will NOT share the same property as the elements of the given set (considering the property is
perfect cubes): (9261, 15625, 17576)? / f&w wu fasweat # & w17 a7 @y (75 enT § vag g & o gof == §) 346
TURETE T FIT AR FT AT AT T HE g R 80 (9261, 15625, 17576)

A) 35917
B) 21952
C) 27000
D) 29791

53) The cost price of 20 apples is Rs.300.The selling price of 10 apples is Rs.140. What is the loss percent? / 20 &t &1 #17Ta
gegr 300% §1 10 FaT o7 Fasrr yeg 1408 21 griv aiaerd 47 27

A) 6.67%
B) 8.21%
C) 9.6%

D) 7.81%

Following are the eligibility criteria for applying for the post of v g 7 {39 fewr (SO) F ve & Fw araed T F |
‘Special Officer (SO) in a bank. The candidate should: fore T e FwfEted # sefigar

(i) be a graduate in any discipline with atleast 70% agagregate

(i) T T T FH 70% F &0F F A iy ofr foe # Isque

| ~

BT

marks.

(if) have atleast 65% marks in Full time MBA degree. (i) B TR MBA & TRt ¥ vy & 577 65% s T
(iv) should be less than 30 years of age. e gt e

According to the details of the candidate, he/she may be eligible (i) F1 grferfrras F are & Fa T+ 3 G FTFH
|n,mder one or more of the criteria given above. A AT AR

Read the information given in the question and find out which all  |(iv) i = 30 =7 & # 14t =R Tl

conditions thé candidate will satisfy.
| FSEEETT ¥ THrr o SATT 98 U ATTEEl H TR AT
' iﬁ#m‘%%mmé’fwﬂqﬁﬁ%

(i) have minimum 3-year Post-qualification experience in banking.

|
( %ﬂﬂﬁﬁﬁﬁmﬁ%ﬁwm%%%ﬁiﬁr
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54) These cases are given to you as on 30th January, 2016.
Candidate's information: Karthik Ojha is a graduate in English literature with 85% marks. He completed post-graduation in

English literature with 78% marks from Delhi Universily. He is a 24 year old fresher.

| AT 30 FAA, 2016 F arfg i B A )

AT T STTAAT: wTA ST 85% ST F AT FUSH ATEeT ®§ YoyE g1 IuA Eelt Feaffamey & 78% = F Ay st miger
T -y 7o BT #) 97 v 24 Ty qEier 2

A) (iii) only / F== (i)

B) (i) only [ & (i)

C) He is not eligible at all / ag Fege uT 781 &
D) (i) and (iv) only / &= (i) T (iv)

55) The paper sheet given below is folded along the given dotted line(s) in the sequence as mentioned. First fold is made
along the dotted line 1, then along the dotted line 2. How many edges would the resultant paper sheet have, after the folds? /
A B e ofie iy afeafEm o & B oo R () F aamiee qrer sar 81 vgar /2 e 61 oA 1 % g
ey ST &, e Pt oY Yy 2 3 i w3 A afmft e ofte 3 fra frr A

A5
B) 6
Cyi7
D) 8
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56) Among the given group of 4 images, which set of images can be classified as a group? /| BU T 4 ST Faqg 7 &
T wgy R 7 v 9Og F =7 § 99fieg AT s asar 27

A) (2, 3, 4)
B) (1, 2, 4)
C){1,2,3)
D) (1, 3,4)

e e e T e e e R . et e s R e T

57) Which term of the given series would be the first one to be negative: 156, 144, 153, 141, 150, 138, ........2/ &1 7% siEeT &
TET FUTHF TE Fi AT g01T: 156, 144, 153, 141, 150, 138, ........7

A) 25W/255T
B) 50t/50aT
C) 100th/1005T
D) 75"/75a1

58) In a certain code language, if "UNFAITHFUL" is coded as “NATFLUFIHU”, then in the same way, how is “TOPOLOGIST”
coded in that language? / T THPT Fe-arar # 71 “UNFAITHFUL” T “NATFLUFIHU® % &7 ¥ %z ag Far amar g, ar 3dt axg
F 39 AT9T H “TOPOLOGIST” #71 ¥ %z 3 3y smuan?

A) OOOITTPLGS
B) OOOITTLPGS
C) OOOITPTLGS
D) OOOITTPGLS
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59) Find the code similar to the one given below / #= B 7 572 3T 7= Fig T
L11202N1

A) T211G2E1R2

B) P2ZE2A1C101C1K2
C) M20TN1K2E1Y1
D) Z1E2B1R1A2

60) If “purple” is called “yellow", “yellow"” is called "white", “white” is called "blue”, "blue” is called “pink” and “pink” is called
“orange”, then which of the following is the color of copper sulphate? / g “Swt" @1 “frer” Fgr srar &, “f=m” 7 =T 777

R 7 B R 17 I =08 B M 74 G 0 M 4 = e e e s
FT I E?

A) Blue / e

B) Purple / Tt
C) Pink / IATAT
D) Orange / 73T
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Section 2 - PART B

No. of Questions: 6(

61) Lewis Hamilton winner of 'British Grand Prix 2016' belongs to which of the following teams? / fafesr e s 2016 F
A) Renault / e
B) Mercedes / witi&is
C) Ferrari / ey
D) Jordan / STiE+
62) The special property due to which manganese steel is used to make “safes” is because they are: / g &9 o7 S
o B o e O £ O T A B 0 B =0 A -4

A)  They can be easily moulded to any shape / #4113 378 AraTHT & Rt $ft aThTe & o 27T ST ahat &

B) attractive to look and do not get corroded / 1T 3 faesper T FXIs T21 &I & 3T 0T MHu T &9 &

C)  Very tough and hard to be cut with ordinary explosives / #911% 3 &g &I @& § T AT FEAFREH & 719 Ivg FeAT
o 2

D)

Light weight and can be machined / FTiT% & g5 § ot 378 #efi=ga 44T ST 9% &

63) In which name is the river Brahmaputra known in Arunachal Pradesh? / STS0TT=er T39T H R[S A4 o1 {5 AT & ST S7av
292
Q_ H

A) Padma / 95]
B) Lohit / #ifge
C) Dihang / fegim
D) Dhubri / gert

84) Which of following refers to measurement and data activities that provide quantitative characterization of biology? / & &
T Fie b7 qTT A< 2a7 viAfAfATT Fr defiia Fwar £ o sftg GEm F amerss -t wee T a?

A) Biotechnology / aTgsiEgTa s

B) Biometrology / s e e sir

C) Cybernetics / STEare e

D) Ergonomics / TR o
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65) The interpretation of Hindutva was given by the Supreme Court of India in which of the following cases? \ W77 F g7
= g el & & 5 & v 7 fge i =men & 7€ 2

A) Babri Masjid case \ F19% WiEsrg T8
B) Gujaral Riots case \ Te7Ta 297 T ATHAT
C) Manahar Joshi case \ #1g7 wT¢fY Areer

D) Minerva Mills case \ fFaT s ama

66) Name the first Indian public sector bank which has opened a branch in Yangon, Myanmar? / T ST 12 dTast=® 25 %

A) Bank of Baroda / &% i F=T=T

B) Central Bank of India / /11 #zer §%
C) State Bank of India / st = AF
D) Canara Bank / &7 &%

67) Identify the INCORRECT statement, among the following that are related with the succession of rulers of Pallava
Dynasty. / Fsrferfa # & e Fa7 F7 Te=TT 5 S0 Geed 497 F AT F TR ET 2T 7

A)  Mahendravarman | was the son and successor of Aparajita Pallava. / T2zad | a7rfSar Teaa 7 T a2 e
i

B) Mahendravarman was succeeded by his son Narasimhavarman | who was the most successful and distinguished
king of this dynasty. / SEFaHw F 12 JOET T FEHRIH | 7 T757 TATAT ST SH F97 7 TAT40F TR A2 Fore 20301 ger 4

C) Paramesvaravarman succeeded his father Narasimhavarman Il in 728 and ruled till 731. / wapazasia F1 385 [T
Fofigente || Ft anf 728 # 5o ¥ =g Tl e i gea ad 731 a9 vrae B

D)  Nandivarman Il was an Indian monarch of the Nandivarman Il who ruled the Pallava kingdom from 846 to 869. /
AT |11, G5 || 3 F97 7 UF G o 47, AT 846 A 869 7F TeAd ®IEST 77 AT &7

68) Identify among the following, the guardian and interpreter of indian Constitution / Referfaa # & ety wf&erT F g
S ZATiOAT & TR |

A) Executive | FTFTH

B) Legislature / Famdza

C) Law Commission / & sramr
D) Judiciary / =ATAmTiEET
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69) In September 2016, the Colombian government and left-wing Farc rebels have signed a historic agreement that formaily

brings an end to / fE&ET 2016 # HifaaT TR A aTRTdT B BT 7 vF vt wwsi o geame Far e o
= F AT 7T T AT A 5T IE g A B0 S 0Ar?

A) 42 years of civil war / 42 gT57 N

B) 52 years of civil war / 52 §Te

C) 62 years of civil war / 62 91e1

D) 32 years of civil war / 32 g7e1
70) Who won the 2016 Wimbledon women's singles championship? / 2016 f&aers &1 wiger vaer SfEqamian fe siar?
A) Serena Williams / ST fafergsg

B) Elena Vesnina / UeAT A9HTHT

C) Angelique Kerber / TSTors FeT
D) Venus Williams / #ie e

T— s - =

71) Who were the champions of UEFA Euro 20167 / UEFA T31 2016 F Jfiaw #i9 7
A) Germany / STHHT

B) France / wie

C) Portugal / Tairer

D) Wales / 375

72) Where was the All India Kisan Congress/Sabha founded? / s7f&= aTea e /T i gl @i B =@ 917

A) Lucknow / FE-s

B) Kanpur / FT9T

C) Faizabbad / F=trerdama
D) Meerut / 775

73) Which of the following elements possess the anti-bacterial properties and hence is an important aspect of healthcare? /
e aeat # & Fiw AT TTASATO) 07 BT AT § S0 gRIRIY FTESy AAT H AT TE 27

A) Sulphur / et

B) Sodium / FifEay

C) Mercury / FaRT
D) Silver / =gz
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74) In case a State legislature has two houses, then the members in the Legislative council shall NOT exceed the members
in the legislative assembly by / #f& it wreer &7 Rem=eray & <1 52 £, AT B 7092 7 #5741 il T7247 Far a7 7 zad 9

et Ft 2 o Y B
A) One-third / w#-fagre

B) One-half / =Ter

C) One-fourth / TF-=T4TE

D) One-fifth / 7= 7 Ti==T @

75) Mulla Daud wrote the oldest poem "Chandayana" in which language? / H=IT 3737 & JaY [T Fr=aT "2 " Hl &0 977
¥ ferar 22

A) Urdu / 35,

B) Braj Bhasha / @t aTmT
C) Khari Boli / =2t Feft
D) Awadhi / z=¢t

76) At the state level, which of the following political parties formed the first non-congress government in India? \ Frer i B |
e e v § et 17 - FHEE v w7 s =\ 0 T fe?

A) Lok Dal in Uttar Pradesh \ 35 9241 % @Ham
B) CPl in Kerala \ #<# & CPI

C) Akalis in Punjab \ 9=rma & a7t

D) DMK in Tamil Nadu \ #f#==1Z % DMK

77) Which is the correct expansion of LBW in Cricket? / &z § LBW T 7l &= #7187

A) Leg Between Wicket / 7t fresfi faFe
B) Leg Behind Wicket / 771 f3grE= &%=
C) Lagged Before Wicket / 72 A faz
D) Leg Before Wicket / 7 o fasz
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78) Which of the following is the only place in Kerala that has the natural growth of sandalwood trees? / 3w ® TaT F19 &7
WHHTT BT § S8l 97 & G=1 F7 UTFad Eeme By aar g2

A) Kottayam / FTgraw :
B) Varkala / & ’

C) Alappuzha | ST=ATI=T

D) Marayoor / #¥TgX

79) Who among the following is the inventor of improved version of LCD or Liquid Crystal Display? / LCD a7 ferfge #iwea
fEewer % are s @ snfassr e #5952

A) Clifford Berry / faersi a6
B) John Vincent / i fade
C) James Fergason / ST e
D) Blaise Pascal / &= qT&aeT
80) What is dealt under "Third Schedule' of the Indian Constitution? / ST @f@aTa i ‘dierdy s # e dafde fmar
g7
A) Allocation of seats in Council of States / Tr=% T9T § el 1 Ardeq
B) The Union Territories / & «rfeea w2
C) The States / T=7

D) Forms of Oaths or Affirmations / $T94 a1 YA & T3

81) Which raag is sung to invite rains? / @7 &1 gt % forT Sl &7 207 T797 SI7aT 572

A) Megh Malhar / 79 #egTe
B) Gaud-Sarang / 7Tz &TaT
C) Bhopali / AqTOTeT

D) Khamaj / @#st
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82) What is chapter 1 of Part XII (Finance, Property, Contracts and Suits) of Indian Constitution? / arar #f=emT F W X
(R, wiufr, wfaer v 37=) @1 3= 1 #7787

A)
B)
€)
D)

Finance / 3= .
Borrowing / 38TT AAT

Right to Property / =T T e

Property, Contracts, Rights, Liabilities, Obligations and Suits / =, #fa=T, wifwr, F7an, s1ffe @ 4=

83) Protection of environment, forests and wildlife, gets constitutional support from / TTE797, 77 37 377 AT 6 F2997 AT
e audy e Ao 82

A) Article 48-A | &= 48-A

B) Article 21 / w77 21
C) Concurrent list / st T=T

D) Preamble of the Constitution / #f3ar =t weramT

84) What type of subjects are included in the Residuary Powers list? /| #rarfire sty it g= # fer gam & & anfee 87

A)
B)
C)
D)

Subjects of common interest of centre and state both / 3 & 7= ZT F = F Fwr

Subjects of state importance / =T Hge F @
Subjects which are not included in any of the three lists / 7 f&mer 5t =7 @17 # & Geft o =it 7 g 787 2
Subjects of national importance / TTE1T Wge + Fuy

85) Janalakshmi Financial Services, the largest Micro Finance Institution (MFI) in India has tied up with which of the following
sporting body as associate sponsors? / ST Wz f9re Fles, A # wai =T qTEAT BT S (MFI) 7 agant
NIRTE e ok B E = e G G P e 1 D o e e I 1 e T B A A 2 LA

A) Sports Authority of India / ATt &= gl
B) Hockey India / 31} 22w
C) BCCI

D) AIBA
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86) ‘Unbreakable’, is the autobiography of which of the following sportspersons? / ' sz, AT & & F st it
ATHEAT 272

A) Wasim Akram / g% sF<T ‘

B) P.T. Usha / 9T, &t 3m7 '

C) Mary Kom / 7&r Fi9

D) Rahul Dravid / Tige gfas

87) What does "Sikh" literally mean in Sikhism? / e enf # 'R’ 7 afees 2 =747 22

A) Leader / FaT
B) Disciple / fareg

C) Prudence / gfgwm
D) Pious / aTfiis

88) When is the International Day of the Girl Child celebrated? / =gty afersT f&aw Fa ATHT SIAT 27

A) 1 October / 1 ¥FgaT
B) 11 October / 11 #AFgaT
C) 1 November / 1 79aT

D) 11 November / 11 F&at

89) Who is selected for the prestigious 2016 Sangita Kalanidhi Award? / f&= wiafes @vfar senfafer qeesr 2016 & oo 5=

A) Avasarala Kanyakumari / ST FAETHATE
B) M. Chandrasekaran / M. Fgd@«T

C) M. S. Gopalakrishnan / M. S. TTqTergsor

D) K. S. Venkataramiah / K. S. &e<rzT

90) Who launched the "Shuddhi movement" to reconvert the Hindus who were converted to other religions? / &1 gaT o
A) Arya Samaj / @8 THTS

B) Brahmo Samaj / sgHT 99T

C) Prarthana Samaj / ST4T FHTST

D) Radha Swamis / TTeT S&THT
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91) Hoogeveen Chess Tournament 2016 won by Abhijeet Gupta was held at which of the following places? / g1 a/i=r
ZTHE 2016 e s af¥sita qar a1, 77 Fwferrad smgt a & Ff arise @A = 912

A) France / Wi

B) Norway / #fd

C) Netherland / fiz7i=
D) Finland / fifmdz

92) How many medals did India win in the 2016 Commonwealth Wrestling Championship in Singapore? / sz 7 B &
2016 TTgvza woft Ao # R oaw shae

A) 36

B) 10

C)17

D) 29

93) Which river's tributaries are the Subansiri, Jia Bhareli, Dhansiri, Puthimari, Pagladiya and Manas? / faa a1, f5am 97+,
Y, Ry, ererertRET At wee R e f wgr At #7

A) Narmada / 7337

B) Ganga / 7T

C) Godavari / T=TET

D) Brahmaputra / g

94) In a chemical reaction a catalyst: / Tz ufafen # v 3=

A) Does not change the rate of the reaction / sz 7 av afaf{a a8 Fa1 8
B) Only increases the rate of the reaction / = i #r a7 31 &
C) Increases or decreases the rate of the reaction / Sfafamm T 27 zrzar & a7 7 w71 &

D) Only decreases the rate of the reaction / Faer wfafm 1 e 57 F7a1 3
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95) Badshahi Mosque was built by Aurangzeb in the year 1674 at which of the following places? / @i gTLT @TE4ITET HIETg
1 fAwtor 1674 % Feferfea B s o fem v ar?

A) Agra / &

B) Jaunpur / SiEIT i
C) Delhi / fweft

D) Lahore / @TETT

96) Name the instrument used to limit current in an electric circuit. / Ta witay ¥ st diffw FeT  for = 3o #7779
AT

A) Cell / T=

B) Rheostat / faedz

C) Ammeter / Taffex

D) Plug key / =1 #r

97) No religious instruction shall be provided in any educational institution wholly maintained out of fﬁ‘@ﬁﬁﬁﬁ‘r&m HEIT
o, Rrersr weryw O T O 3 e B star g, 1S ante ST w11 gl i s

A) State funds / Trsy Ffar

B) Trust funds / = e

C) NRI funds / srfa=aTet areeair e

D) Foreign funds / fagsft e

98) Which one of the following players was named ‘2015 footballer of the year' by the Football Writers' Association? /
Frerferfim & o fime et 1 gedter Tsed UaTRe Ty v '2015 F7 geatay | Arfad G wy av 2

A) Lionel Messi / e et

B) Cristiano Ronaldo / f&feamsT TramesT

C) David Luiz / =f&= 7z

D) Eden Hazard / £= 29iT€
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99) Which of the following canals is constructed to provide waler in the deserl districts of Rajasthan and is also the longest
canal in India? / e B aee i Wi oo F asedeit e & T g % B e mm 2 & qra i g= w=

A) Indira Gandhi Canal / =T wieft 757

B) Tajewala Canal / aTsig7@T A%

C) Upper Ganges Canal / 37T 17 787
D) Buckingham Canal / @ffes 757

100) If the demand curve remains unchanged and supply increases, the equilibrium price will \ Zf& 77T 7 a7 Aiatag &t
& &7 argf w STt 8, mwete e

A) first increase than decrease \ Tge F271T e 7277

B) rise \ &I

C) remain the same \ FHTT 78T
D) fall \ =r&wT

101) The function of a negative catalyst is to: / T FHTTIEHF ISITH F1 F14 FIT 2

A)

B)

C)
D)

Increases the rate of a chemical reaction which occurs spontaneously / ST 3 g1 AT+ T T {=: i e At 27
T AZT ZAT

Slow down the rate of a chemical reaction which occurs spontaneously / SZ=IaT I F =T U= TEEHF TATaAT F7 87
& T AT

Make a reversible reaction completely unidirectional / 7= st ST 1 T2 77 & RO A

Reverse the natural direction of a chemical reaction which occurs in nature spontaneously / T & s=TITH 819 ATel!

A A £ s R wr affge w

102) Which book was written by Raja Rammohan Roy, among the following? / 71T 717 Higaer, Rsfafa fm s & waw

g7

A)
B)
C)
D)

Vedanta philosophy: lectures on Jnana Yoga (1902) / #=fe feiehl | = =i st (1902)
India of my dreams / 22T 3 w77 ¥
Tattvabodhah / Ae3Te

Gift to Monotheists / Fie  FmaTaes

Page340f55




' Set |d ;31487 21 7-12-2016 — Balch3 — Group4 For: Rajya Sabha Secretarial, Parliament of India

103) Cherrapunjee known as one of the wettest places on earth is located on which hill of Meghalaya? / 9%t T 7 79 g
ST =TT €qTH ATGH ] e F R g ue Ruw g7

A) Lushai Hills / gars &
B) Jaintia Hills / Swfaar Ber
C) Garo Hills / T &t

D) Khasi Hills / =TT &=

104) A rightward shift in the supply curve indicates \ e 35 T&T 7 ETfRAT AT SITATTLOT F49T Wb FLdT 27

A) increase in supply \ s # g

B) decrease in supply \ @rqfa # FHT

C) no change in supply \ T & F1€ saema 7o
D) fluctuation in supply \ AT ¥ IaTe-=gTa

105) When there is an electric current passing through a wire, the particles moving through the wire are / 79 T @T% % HIETH
T fa=[m a7<1 YaTg BT €, TIC ° HUEAH § 97 T8 T

A) atoms / TTATT §

B) electrons / Eo#iA &
C) ions [ &4 &

D) protons / WEiT &

— P —— R e P e L et

106) In which of the following states is the first Titanium Project of India being established by Saraf Group, which has started
its test production? / et # & v T # W WHE FTRT TEAT ergefiaw YisrE 7 ey ¥ o @i €, S e e geme
FEAT A FT feqT E2

A) Gujarat / T
B) Odisha / #rgteT
C) Tamil Nadu / aff=mrg

D) Rajasthan / TrsreqT
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107) Which was the first garden-tomb on the Indian subcontinent and the first structure to use red sandstone on a very large
scale? / e ® & Fil9 &7 7 AT TTHRENT T TEAT IATA-FA AL AGH A8 THI T ATA T T FT ITINT HLT ATAT TEA|

-
.

A) Akbar's Tomb ! ST FT THETT
B) Tomb of Salim Chishti / wefiw =eefT 37 weFa
C) Torb of Sikandar Lodi / fre=s S1ET #1 w=ha

D) Tomb of Humayun / AT T AFaTT

108) Which of the following is one of the objectives of ‘Project Saksham'? / Faifae & I F47 Wisrde 7w &7 UF I297 27

3

A)  Self-reliance / sireq-RT F9AT

B)  Create employment in Mico and Medium Level / HTZ&T 4T HEIW =7 U7 TISTITE 514 F2A7
C)  Make Infrastructure Safer and Stronger / FFATET 219 &1 qLEF TAT AT TATAT

D) Integration of CBEC's IT systems with the Goods and Services Tax Network / iz} (CBEC) ¥ arzdt fmzw 1 a7
T HAT T AT & AT AT

109) Elasticity of demand for a product will be higher when \ Seama 3 for wrier £ &r=aT a7 wfa 2rff 77

A)  more substitutes of a product are available \ ==TTg ¥ A4+ FF=T 3774 g

B) the product is less important as a part of total expenditure \ 37972 F7 =17 % TF AT F =T § F9 Fgea 700 00T
C)  the product is a necessity \ ZFTE T ATAYAFHAT FHIT

D)  more is buyer's demand loyalty / buyers demand loyalty is more \ @fi=ret T sfer i awEr arft / af=ey & i

110) Which one is the most appropriate reason for the statement- "Lok Sabha is more powerful than the Rajya Sabha” 7 \
e e 3 P i & e a1 F10 3 T 2 - A WA 7T T A # Al aftered 20

A) Members of Lok Sabha are directly elected by the people \ @17 74T & w5 & STHAT Z1T 27 ST 2
B) Lok Sabha controls the Budget \ AT i astz F7 AT #7412
C) Council of Ministers is accountable to Lok Sabha \ #=fT wfiwr @ 7 ufd s=m==e §

D) Lok Sabha has more members than the Rajya Sabha \ @1 a1 & 717 747 ¥ #{8F 9757 &
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111) Which ameng the following voting methods are used for the elections to the Lok Sabha and the Legislative Assemblies?
\ ST A e gt = e % o Mafeie & & aaar &7 i a7 aiw s7gwn BT smar g2

A) Single transferable vote \ TFer g@aoiT 7d

B) Universal Adult Suffrage \ Tt i Fa+% HaTfaFe
C) Limited suffrage \ #1fara wraTfasrre

D) Proportional representation \ s sfeffiea

112) In which of the following states of India is the Jog falls located? | ST Sist ToTa Teer 3 fober oo Ry 22

A) Assam / sTHH

B) Karnataka / #412%
C) Maharashtra / HgTE
D) Kerala / F%&

113) Which is a four day long harvest festival celebrated in Tamil Nadu? / affmeTg o w91 fEewia wue F2rg g 1
AT STAT 572

A) Baisakhi / ZaTEt

B) Onam / &ors

C) Pongal / 91T

D) Ugadi / 3w

114) Find out the INCORRECT statement regarding Economic reforms of Alauddin Khilji. / @221 f&rersiT & anfds qamii &
AT H AT FAT T A F L

A) Ala-ud-din's aim of revenue system was to fund the royal treasury and to save poor villagers from the hands of middle
earners, | ATIRIT &7 T8 TSTEF TOTHT 3 ST STTET TSI § €+ STT AT &< witey sreftort st fer=ifert % grei & a=mwr
4Tl

B)  Khut, Mukaddam, Chowdhury, etc. were made powerful. / T, Taes =TedT eTfa erRreTeir a 1)

C)  He introduced tax for cattle grazing, taxes for buildings, etc. / 387 wafirat &t =y e, a1 % Fro w2 s ft
S[ETe

D)  He was the first king to make survey of land to determine land revenue, / g TE=T =T 4T 589 s-Trered  fAeior F
o i =7 wegr B
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115) Which of the following is the first hydroelectric project of Kerala? / Refarfam & F w7 Fwer 1 wga sty T 872

A) Sabarigiri hydroelectric project / FardITi<T seTrazT T AT
B) Kallada hydroelectric project / F#=T Seferzga THATSAT ‘s
C) Penna Ahobilam hydroelectric project / T=IT siETfa=H Ferfarzd THFTM

D) Pallivasal hydroelectric project / afem=aer s=fE=a TH=T=+1

116) As per Article 267, of Constlitution of India, Contingency Fund is a fund for emergencies kept in reserve for use during
economic crises. Who can authorise advances from this fund? / ST ¥ Farem £t e 267 & war srsfeas Al ag
21 T e 1 T Tl T R e M O e L 2 o s A B 1 0 ) £ O 2 4 R O A

A) Constitution / #=gT

B) Reserve Bank /| =9 g%
C) President / 7Tgafi

D) Prime Minister / wamaa=T

117) Under the Constitution of India, who does the real executive power rest with? / §T7a % #{H=TT F dgd Freaia® FAFT
orfer FHern Ty TEeAfY 27

A)  The President of India, who is the executive head of the Union / T3a & ¥Tgmfa, ST #5 & =Tl wipa &

B) The Independent Judiciary / Fa@= =raarier

C) The Lok Sabha and the Rajya Sabha / &% I¥T 3T 1157 74T
D) The Prime Minister and the Council of Ministers / SeTA#=T 7 HETHYE

118) Which of the following is a root crop? / & # & 1T AT g7 FHA £7

A) Celery [ #77Y
B) Potato;ﬁg:
C) Beans / #ivr
D) Lettuce / @z
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119) In which of the following countries was the first widespread PC virus known as Brain Virus written? / Rsfefea 3o & &
e et a7 3¢ 5% 9% ST g S g Avas PC arae et v o2

A) Russia /&9

B) China / =t N

C) Philippines / fiefdier

D) Pakistan / arfEerT

120) The dress of the fire-fighters for making them fire proof are heavily lined with / 5T s & fBro wrET-wr=et F7 TromH
A) Asbestos / TEET

B) Iron / &r&r

C) Fire clay | ®T9T F=1

D) Lead / =
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Section 3 - PART C

121) Fill in the blanks with correcl option:
The crisis will soon blow

A) away
B) cn
C)in

D) over

122) Choose the correct meaning of the phrase/idiom underlined in the sentence:

Everything about the history of the freedom struggle is at his finger tips.

A) ready and thorough knowledge of
B) at the end of his finger
C) ignorant of

D) little knowledge of

123) Choose the word that is spelt correctly and fill the blanks:
Bind the bundle with a

A) chord

B) cord

C) chored
D) card

124) Fill in the blanks with the correct verb:
The ploughed earth rich and dark and fertile.

A) have looked
B) looked

C) looking

D) look

No. of Questions: 6
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125) Identify the antonym of the underlined word:
These earrings are very expensive.

A) dear

B) rare -
C) cheap

D) costly

126) Chose the ward that is spelt correctly and fill the blanks:
He lacked the to take up the project.

A) confidense
B) confidence
C) confidance
D) confidanse

127) Choaose the correct form of the verb given in brackets:
What would you have done if you (miss) the train.

A) have missed
B) would have missed
C) missed

D) had missed

128) Choose the Noun in the given sentence:
She shows great diligence in her schoolwork.

A) in

B) diligence -

C) great

D) shows

129) Fill in the blanks with the correct verb: Their yacht ____high and dry on a sandbank.
A) left

B) were leaving

C) was left

D) have been left
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130) Read the sentence carefully and select the underlined part that is incorrect:

While visiting New York, the Indian tourist group thought that the city's smog problem was worse than Delhi.

A) was worse

B) group thought
C) Delhi

D) while

131) Read the sentence carefully and select the underlined part that is incorrect:

The girl saw that her sick cat was becoming more healthier, with a higher activity level and more energy for playing, fetching
and chasing rats.

A) more healthier

B) playing, fetching

C) higher

D) was becoming

132) Fill in the blanks with the correct option:

Mohan and Sohan went together. The former was my friend and the my cousin.

A) latest

B) last

C) later

D) latter

133) Fill in the blanks with the correct option:

Bangaloreans the marathon for a good cause.

A) runs
B) ran
C) running

D) run
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134) Choose the Noun in the given senlence: The next train is due in five minutes.
A) due

B) next
C) train
D) the

138) Fill in the blanks with the correct form of verb:
She from school at 15.

A) expelled

B) was expelled
C) expelling

D) expels

136) Identify the antonym of the underlined word:
The old housekeeper was gentle with the guests.

A) wellbred
B) charming
C) placid

D) intractable

137) Fill in the blanks with correct option:
Shearrived __ four o'clock.

A) at

B) since

C) till

D) within

138) Change the given sentence into a complex sentence:

The gymnast was injured, sa he could not take part in the event.

A) The gymnast was injured and could not take part in the event.
B) The gymnast could not take part in the event because he was injured.
C) His injury prevented the gymnast from taking part in the event.

D) Being injured, the gymnast could not take part in the event.
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139) Fill in the blanks with the correct verb:

| feel like an intruder, when | their home.

A) has visiled
B) visits

C) visiting

D) visit

140) Camplete the sentence with an indefinite pronoun:
This paper is easy; can solve it.

A) every
B) anyone
C) nobody
D) each

141) Fill in the blanks with the correct optien:
She has bought gifls to be distributed among the orphans.

A) any

B) many
C) each
D) much

142) Identify the antonym of the underlined word:
He is callous to the suffering of the aged people placed in his care.

A) uncharitable
B) insensitive
C) compassionate

D) indifferent

143) Identify the antonym of the underlined word: he custom officials boarded the ship.
A) disembarked

B) sailed

C) dismounted

D) got on
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144) Identify the antonym of the underlined word:

The farmers have to gather the grains, while the good weather lasts.
A) bundle

B) amass

C) scatler

D) accumulate

145) Fill in the blanks with correct option: He is finally
A) to

smoking.

B) in
C) of
D) off

yours.
A) beside

B) beneath
C) after

D) between

147) Fill in the blanks with the correct option: There wasn't art to see in the gallery as it was poorly maintained.
A) some

B) many
C) much
D) any

e P SRS

148) Read the sentence carefully and select the underlined part that is incorrect:

Because the blueberry is loaded with tannins, they are even better than the cranberry at preventing infections.
A) they are

B) because

C) loaded with

D) the cranberry

Page450f55




Set Id : 31487 _21 7-12-2016 — Batch3 — Group4 For: Rajya Sabha Secretarial, Parliament of India

149) Fill in the blanks with the correct oplien: He English.

A) was knowing
B) knowing
C) knows

D) known

150) Fill in the blanks with the correct option:

"I have just corrected books and | am taking them back to the class."

A) those
B) this
C) these
D) that

151) Fill in the blanks with the correct optien:

Sita has been Ram since 10 years.

A) waiting by
B) waiting for
C) waiting to

D) waiting in

152) Read the sentence carefully and select the underlined part that is incorrect:

The farmers were horrified when they walked through the fields of corn plants and discovered that crows had been ealing
them.

A) discovered

B) they '

C) had been

D) them |

153) Change the given sentence into a simple sentence: He was thrown into jail and was heavily fined.

A) He was thrown into jail, but was heavily fined.
B) He was thrown into jail and so was heavily fined.
C) He was being thrown into jail and was heavily fined.

D) Besides being thrown into jail, he was heavily fined.
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164) Choose the correct option to complete the sentence:
She wiped her makeup.

A) off
B) of
C) by
D) to

155) Fill in the blanks with the correct option:

Satya was root cause of great Mahabharath.

A) an, the
B) a, an
C) a, the
D) the, the

156) Identify the meaning of the underlined phrase/idiom:
| gave him a piece of my mind.

A) angered him
B) appreciated him
C) admired him
D) scolded him

157) What type of noun is the underlined word:
They were admiring the paintings in the art gallery.

A) proper
B) countable
C) uncountable

D) abstract

158) Fill in the blanks with the correct option: We can go
A) with

B) in

C) at

D) on

fool.
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159) Fill in the blanks with the correct form of verb:

We roughly halfway between here and the coast.
A) live

B) lives

C) living

D) has lived

160) Identify the correct synonym: Perturb
A) Trouble

B) Complain
C) Degrade
D) Pacify

161) Choose the correct option to complete the sentence:

She had to take rest, because she was after the climb.

A) excited
B) bored
C) elated

D) exhausted

162) Fill in the blanks with the correct form of verb:
The town __ its best in the spring.

A) have looked
B) looking
C) looks

D) look

163) Change the complex sentence into a compound senlence:

My student who is a journalist wrote this article.

A) My student is a journalist and she wrote this article.
B) My student is a journalist when she wrote this article.
C) My student is a journalist because she wrote this article.

D) My student is a journalist for having written this article.
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164) ldentify the correct synonym: Bustle
A) Rush

B) Creep
C) Crawl
D) Drag

165) ldentify the meaning of the underlined phrase/idiom:

Mr, X first introduced the system of payments by instalments, and shortly afterwards others took a leaf out of his book.

A) chased him
B) went against him
C) imitated him

D) annoyed him

166) Choose the word that is spelt correctly and fill the blanks:

Many explorers have to climb Mount Everest and have been successful.

A) aesayed

B) assayed

C) asayed

D) ascayed

167) Choose the correct form of the verb in brackets:
He (take) his mother's advice.

A) took

B) had took
C) was taking
D) take

168) Identify the correct synonym: Crucial
A) Critical

B) Beautiful

C) Civil

D) Bold
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169) ldentify the correct synonym: Massive
A) Less

B) Single
C) Narrow

D) Enormous

170) Identify the correct synonym: Heinous

A) Luxurious
B) Frightful
C) Gaudy

D) Odious

171) Identify the correct synonym of the underlined word:
Sugar producers have been crippled by plummeting prices.
A) Falling

B) Fluctuating

C) Developing

D) Rising

172) Choose the word that is spelt correctly and fill the blanks:

A screen was put up to enjoy the one day cricket match.

A) panaoromic
B) panaramic
C) panoramic

D) panormic

173) Fill in the blanks with the correct option:

story do you like the most in this book?

A) whose
B) what
C) where

D) which
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174) Fill in the blanks with the correct form of verb:
His dog generally everywhere with him.

A) go
B) goes N
C) shall go

D) have gone

175) Change the simple sentence into a compound sentence:
Newton saw the apple falling to the ground.

A) The apple falls to the ground when Newton saw it.

B) The apple was falling to the ground though Newton saw it.
C) The apple was falling to the ground and Newton saw it.

D) The apple falling to the ground so Newton saw it.

176) Identify the antonym of the underlined word:
Don't rush down the staircase.

A) dart

B) tumble
C) speed
D) dawdle

177) Choose the correct option to complete the sentence: She was not di‘smfssed; she gave up the job ;

A) easily
B) slowly
C) voluntarily’

D) quickly

e

178) Choose the correct option to complete the sentence:

The accountant after he was accused of fraud.

A) rejoiced
B) resigned
C) receded

D) remained
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179) Fill in the blanks with the correct verb:

He the disease bravely for three years.

A) were fighting
B) fighting

C) fight

D) fought

180) Choose the correct meaning of the phrase / idiom underlined in the sentence:

He got his finger badly burnt when he invested all his money in the share market.

A) suffered
B) injured

C) scalded
D) profited
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